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65 (¥ 23 (v 63 (v 243 (y

sl alos 30*3 Div S o yle 5,0 -YFF
58 (¢ 0 (v 22(v 18 (v

s alus Not 21And62) & jus ol -YFD
20 (¢ 16 (v 22 (v 43 (\

Oyl ‘ALAS 77 And 84 CAJL.\.C. Jala -Y¥5
68 (¥ 84 (v 77 (v 56 (A

G s Olaws ¢4 baa {;US -Y¥V
{C'ommem}} (¥ {Comment} :(\

(* Comment *) (¢ (*Comment} (v

NIES Y=2 ,x=4 I3l aa ;s bola -YFA

(x+3*y Div2=5) AND (x+y <10)
(¥ 0 True (v False (\

ol JISeily 5o (ga @ jlas afas Jolae5 2 X > 3 (g ja oyl -YF]
(X<=5)OR(X>3) (v (X<=5)AND(X>3)(y
(X>3)OR(X>=5)( (X>3)AND (X >=5) (v

sl Alas A<>B Julso vl (laive g 43 SIB g A &1 YO
A XOR B (v A ORB (3
A AND B (¥ Not(A XOR B) (v
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Cad ‘AIAS dLS.n.uL} ol g (s 3§ -
Const i:14.5; (v Const i:=12; (\
Var Read:Real; (¥ Var i=Real: (v

aalas o yi da For, Array4 , True sl judio -YOY
et Slae L Slaasa (Y Slaesst s Slae Sl (3
Slaesse, Slaasue . Slae (F Sl Slaw Sl (¥
ool 80 a3 ) dhs gl ylu (Bals slasl de gane VOV

ANV (Y cuogaae L (¥ a8, W\(Y PSRN

oo Lhod al by o gudi (a 3Sala K\,aa\,leselasrhi‘,axjuuﬁggyl.g -YOf

- it 0
Var a*b:(\
k:Real; :
a,b:integer; a.0 * b.0; (v
Begin 1.0%a*b; (v
2:=6000; ’
b:=6000; 1.0 * (a+b): (¥
k:=......
Write(k);
End.

sl 3l pums b g a ol de i aintegerg g3 5 ala uiaiobga asul o 8 L -Y0O

KEY Mb& {al.ASJ:aJ ‘LnL':J.}‘LQJ:ﬁ
a:=2;

a=-1,b=2(\
h:=3;
a:=a—h; a=2.b=3(y
bh:=a + b; _ _
ai=h - a; a=3.b=2
a=5.b=2¢

ol alag e S _YQS
Writeln(-35 Mod 4 , -35 Mod -4); il plas 9 p19, o (294

Writeln(-65 Div 4 , -35 Div -4);

303 3 3(r 33y 3 3(
g 8 8 8 g 8 8 8
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Var W gui g0 Usd adlel Lady 38 51 Saalas 0 -YOY
a:Longint; b:=a: (\
b:Byte; b:=a; b:=300; (v

Begin
2:=20000; b:=300; (v
b:=300; a:=20000; (¢
b:=a;

Write(b);

End.

Ol i3S alaS (29D auiS oyl g 1ABC' 509,91 )51 -YOA

Var /0
A:Char; A (Y
Begin A
Readln(a); AT
Write(a); ol 412 ABC s 8 i oo a el U (¥
End.

fonna Div Slae § Slae -YOR
sibie sl Ko asd (Y bl il Sy ases ()

vl &1y guo alaS du f jal Al 3o JlSiuly Gl o -TE
>=;<>,<=,>,=,INo -.+ ¥ *.Div.Mody Noty uly .y (\
>=,<>,<=.>,=,IN¥ +.-xy ul,y */,Div,Mod. (¥
Sl 0 >=,<>,<=.> = IN¥ /.,*y Div.Mod.y Not.y (v
plaSaua (¥

Gl alas Jlsuuly gl jo pasis jgius -T5)
Const i=14.5; (v Const i:=12; (A

Var i=integer: (¥ Var i:=integer: (v

! et iy 4 S alaS (g jLdisl g g8 §) judie oyl (5] 4 -Y&Y
Real (¥ integer (v Word (¥ Byte (\

Sl s 55 a8 plas Al g 63 51 yadda du i gl VY
integer (¥ Boolean (v String (¥ Real (y
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Boolean , Char, Single . Real , Byte , Longint , integer
Boolean , Char , Extended , Single , Real , Byte , Shortint , integer

String , Boolean , Char , Real , Byte , integer (\

Guisalas o Hluatioud JlSuily jo gloata gl g3l -YF¥

Y
\

(
(
(
Boolean ., Char , Real . Byte . integer (¥

Gugs aafgd o g dn jitest culh Lo jginudaudagilL -Y5O

Const test=True;

Char (v Boolean (\

Al aalgd Ladie Var o (¥ ool g Gadidie deli e Ho (Y

True (¥

Var
Write:integer;
Begin
Write:= 3;
Write("Hello");
End.

Var
a:Longint;
b:Real;

Begin
a:=20000;
b:=300;
b:=a;
Write(b);

End.

Var (v Readln (v integer (9

Conun dobi e (il 29,5 —YFY
Hello (\
(5 bl sl (¥

3 (v

oal al€ia o lad (¥

b:=a;

St alus 16*5 Div 3*2 Mod 3 & jls Juola -YF4
2( 1 (Y 0y
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Var qdfMlPd%ixﬁiéJ‘ﬁéﬁj&‘J‘e:uﬂde -Yv-
L:Longint;
izinteger;
Begin
L:=10*50;
i:=L*20+10 mod 12;
End. 2
A0 pobia 1 o glite g gt LA gllha oS HhkalS g oo (IS ol g (Y
10010 (v
10002 (¥
Sl oo £ 6 ) § S yd € alas -TVY
A(Div B mod C) (v A mod B*Div C (\
A DivBmodC (¥ A/B+C Div D (v

ol ¥l Slae eldS &l yal CA:a‘g.I‘gl -Yvy
NOT (¥ OR (v IN (v AND (y

Scund alus 5%3-4 Mod 3#5+3 s Jusls —YYY
18 (¥ 14 (v 13 (v 10 (3

Wiyl @y ge il o s—dih Flag=True , Z=2.0,, Y=4.0 , X=3.0 sis & -8 -YV¥
Gl alas (i iaac, b, agle  bs
a) (X>Z) AND (Y<Z ) e )
b) NOT Flag OR ((Y+Z)>=(X-Z)) S0l s i3 ()
C) NOT (Flag OR ({Y+Z)>=(X—Z))) A:J-A-A-IJJD o 33 K&:J-A—A-IJJD (Y
St 3 e 33 (C,u.u‘)._!u (Y
(

S 53 KA:J-A-A-IJJD (h:J-A-A-IJJD ¥

9(7<x ) AND(x<3.5) sbygi lue i), @ 4o Gl o il x=3.0,7=0.0 51 -YVD
G aal ¢a d iy 4 (x=1.0 ) OR (x=4.0)
False , False (¥ True , False (v False , True (v True , True (\

9 gt cadla yu B puiiio (6 a1 2 jlude g A judiia (5l a4 lado cali i da (50959 3 81 -YVE
sl alag aall =
ReadIn(A,B); st i
Write(A>B);
False (¥ 4>2 (v True (v 4y
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Soglige pladt plas dn ) asli gl pal s TV
Var

x:integer;
y:Real;
z:Longint;
Begin
x:=1000;
y:=60000;
Z7:=x1y;
Writeln(z);

End. .JJ...:LU.A %JL% 6] 000 Jdde (\

Type (lba 7z Claml, sius gl s aily o Real g 45 51 (61000) Glpa &5 (Y
S o salea Mismatch

-27233 sae (¥

l e dgam al e slba (¥

Gl fiudias jSlac alas Cu gl of -YVYA
Not (¥ OR (v Div (v And (A

QCA.a.uIJ:u.ﬁ:a._‘ Slas {;L\S CA:a‘gJ‘gl -Yva
+ (¥ >= (¥ And (v Mod (9

Ga gl on wba dndis (59 ) aolh p1 (5120 5 a9 g0 alas —TA»

Var el e oS sla daliys slaal S (Y
x:Byte; 50 (v
Begin
x:=50; 300 (v
Writeln(x*6):

Run Time Erroratay (f
End. -

ot B3l y38,5 A T (s15al by o U auils win € jlalio ) il & jlas ju ~TA)

7L5(0
A:=4;
B:=7; 5(v
IF(NOT(A<=B) OR (B > C-A)) AND (C >B-A) Then 7
A:=B+A
Else 11 (¢

A:=B-A;
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Gl alas g dall pu 2950 -YAY
Program ql;

Var False (\
x:Boolean; True (v
Begin
x:=2=1; 2(v
Writeln(x); 1 (¢
End.
Gl alus 56 And 30*3 Div S o jus 45 5,1 -YAY
58 (¥ 14 (v 22 (v 16 (n
Gl alas A Shr 3 Jols sty A=235 81 -YAF
238 (¥ 78 (v 29 (v 705 (\
Gyl eI.JS Hyaebp g ya -YAO
False (1
1:=3; Run Time Error (¥
Write(x Shr 2);
3<3 (v
wan 3 el stlaa (¥

Sy g Jalé S alas JISuuly oy ol o (il 5o ~TAS
-42 Div 26 (Div 4 + 14) (v 10.0/(10.0-Te1) (3
(24%(-2) — 20) * (20 + 212 Div 12) (v 20 — (4.5/(0.5%10)) + 20 (v

9 (wib False L True & g oo as) Cod  (Shaio jadtio So Flag juitio asaiis 8 8 -YAY
Geeul gl po a8 {al.AS L g Sleia oylae slada C=3,B=5,A=2
(A< B) AND (B+C<>A*C) OR Flag

False (v True (\
Flag=False «< 3, g True (¥ Flag=True «< 34 g True (v
Fi AI—)R
Gl dia )< eIAS —C *(C ) aylee Jalas YA

F + ((A-BYDY(C*(C-1)) (v (F + (A-BYD)/C* (C-1) (3
AlsSaua (f D - C*D/(A + B/(A-D)) (¥
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g 533 Gl e Cad ilaia ke s Flag g C=0 B=2 ,A=-1 wis 5 5 ~YAA

(A<>B) AND ((B+A)>C) OR (NOT Flagy === b o
True (v False (\
Flag = False &I g True (¥ Flag = True &1 g True (v
Not(-4.2<>3.0) OR Not(10 <20) forewn i) ajylue fola -Y4-
invalid (¥ False (v True (Y 4y

(P ORP) g (P AND P) s sl las -Y4)Y
5K Jalaa (3
3,808 allae sl gan (Y
iy cyoli Polaie a0 S8y a8 0 K0S, Julae (Y
il oo Poliie « 58 s 00 ,K0uSs Jolas (F

8y¥s¥s ¥ gl o i 5 s NOMLLT (gla juidiis g Alaia it SO LVALans (58,6 -YAY
Gl {AUS e S gy giheud @il 5 eas s
LVAL:=NOT(I<I) OR (M<N);
False (v True (\

g pad pad o sl (¥ e dale g pol (V

Seaal 41 g8 JISeuly o laLs 5l Slas U slalal ) (sLa jSlas (5l pal auli cuaid g ~VAY
w505 8A s sV a5 alaie (sl Slae ()
518583 50 (5T asd ) (gladadl s (sl Klae (Y
L asE an s Slae cpl (¥
gk el cobie G cran 50 Sl osle S o aS sl (K (F

ki juiia SO P LT 0 as) NOT(P OR P) g (P AND P) ikaia sl e —YAF
(st
%S Callas sl san (A
il cyolh PR 00 jKauy Jotas (Y
il cyo PR 0 K0S Julas (Y
2SS, Jotas (¥
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oo 4 C=3, B=5, A=2 ool Ao pudio SaFlag judiio as wis 8 58 -Y40
Sl ?‘..\SL’QJQ:LOQJL}SAJ}OJJ
(A<>B) AND (C<B) OR Flag
sl (False) e ol Flag luse 4 ot oo 555 5 ()

(
il (True)ew o Flag Jlage oS et oo o S84 g5 (Y
el (True) Saew yd Q‘)‘\}Q.A (Y
(

.C.\A—u‘ﬁ;—a—u‘)dué‘)‘\w ¥

F+ A-B

D

CH(C-1)
(F + (A-BYD)/CX(C-1) (¥ F + ((A-BYD)(C*C-1)) (3
plaSasa (¥ (F+(A-B)/DY/(C*(C-1)) (v

A LS Hua NUM juitio s ol (5F 0038 (il ) b pdi Jf Saolus Jlsiily jo -YAY
(ol anie pidla SaNUM 308 (15 8 ) (s ¥l 1
(num>1) And (num<10) And (num<>4) (\
(num>=1) And (num<9) And (num<>4) (v
(num>1) And (num<9) And (num<>4) (v
(num>1) OR (num<9) And (num<>4) (¥

Sl plas Wity Absa g 63 51b, a Sl (@>=b)<=a L Julaas ojlae —VAA
True (¥ AORB (v A ANDB (v A XOR B (
Gl alaS j ) aSa Jolae asa -Y44
(A <=5)And (B>=06)
Not ((A>5) And (B<6)) (v (A>5) OR (B<6) (\
Not (A>5) And (B<6) (¥ Not ((A>5) OR (B<6)) (v

s Csad il 1 641 a8 (A OR A) AND (B OR B) ibais osjlus Yoo
A AND B (v AORB (3
NOT (A AND B) (¢ NOT (A OR B) (v
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e &1 Coial S 0 (NOT (A OR B)) OR (NOT (A AND B)) jlusa ¥
il caae g0 ;aB LA SIS (v il e B LA S
il ey ob A g coa B_SIH g (¥ il coyoligs ;B A S (v

il e Oyl lale e Shais jadie <o Flag,B=False,A=True wis 4,8 -Y+Y

(Not Flag) AND ((Not A) OR B) AND (A AND (Not B)) L Sl
Flag = True &t g True (Y Flag = False &I Lgi False (A
True (¥ False (v

) gl fade . Col dlaie yukis s Flag , C=0, B=1, A=-1 ais 43 5 Y+

L o gl ya
(A<>B) AND (A+B=C) AND (Not Flag)
False (v True (v
il e o Flag Slase SiFalse (¥ il e o Flag lase S1True (v

i aidifu False LaTrue jlude o g3 o a5 Sl Shaiio jadlio Su P waisg )8 8 -V f

(P AND P) AND (P OR P) OR (Not P) L Col gl g gy Gsjlae ludo
False (¥ True (
it False ol s P_SI s True (¥ il True ol PSI s True (v

(waied Gl ga gl 350 b, a ) Sudils poa Julaa ) aa S alas —Yed

a AND (aORb) (v a XOR a (\
vy ay X (¥ a OR (a AND b) (v
var Sl 1S g g anliy aalsd 29,5 ¥ f
A,B:Byte; 0
Begin (O
A:=(NotB) + 1;
A:=A+B; $OF (v
Writeln(A); 1
End.
Sugs walgd da AT & jls Jeala Jlsuily gl yo -YeV
Flag:= False; 0
x:=3; True (v
1=4;
)lilot (Flag OR =(x-7))); False (v
g OR ((y+7) >=(x-7)));
(
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Var Geina Juldo dalh o ash 298 YA
A:Boolean; Wl Ued daliys (O
Begin .
Read(A); True (v
Write(A); False (v
End. A
‘G

ool o yalh wulils o Boolean g g3 31 452 jadlio oy 80 o S alas -Yed
Read (a); (¥ a: = False; (v a: = True; (v Write (a); (

Sl ju) £ 90 alaS WS (6 Hagsh it S Ao 1,4V FOPAGae wudily 4f F 81 -V
Gushs oo

integer (¥ String (v Word (¥ Real (A

Qs (5 jLlisl sase alas VY
14.E-03 (¢ 123 (v 15.1E-03 (v 15.(»

Gl s £ o 5 wils Slos alus sladiglas -YYY
+ (¥ Iy *(y Div (\

Genl alus-17 Div 3 oylue Jusls ¥V
5(¢ =5 (v 2(y -2\

S alus 45 Div 3*3 Mod 10 & jls Jols -YYF
6 (¥ 5(v 4 (v 0y

Sy aal g aglaals Joo anaisx Mod y ojloe jo cijguo an ju -¥V0
X<y (¥ x>y (Y x=0 (v y=0(\

G sl dag 3% {al.AS dali 4 Q:al e PR -Y\5

Program Test; 0 (»
Var

i,j,k:integer; (
Begin 2(v

Ji=2;

i=j; 3

j:=3 Div i;

k:=(i+j) Div (3%j);

Writeln(k);
End.
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Goocd alas2+4%6/2>=4+T7-3/2+1 o jbe jlada VIV
False (v e sl alaa ol (A
Wt B aabiys o slaabes g0 (F Ture (v

Program Logic(output); Ol el & lae ) sl 2955 VI

Var True ., False , False , True (\
{\,B,C,D:Boolean; True . False . True . True (¥

Begin
A:=True; True . False , False , False (v
B:=False;

C:=A OR B; (
D:=A AND Not B;
Writeln(A,B,C,D);

End.

True , False , True , False (¥

St ?IAS 2>="4' CAJL.\.C. Jldﬁ.a *‘“\ﬂ
2>="4'(¥ Ture (v False (v asla e (A

Sesd alas 17 Mod -3 o jle Jusls YV
0 (¥ -5 2(Y =2 (N

e (5 YL Cagd ol (gl gy Gyls sla Klas J Saales YY)
x+ty)*z/w
Sl (F /(v + (¥ *(\
(Coml o g Sad y 51 LA 8. Conl &1y 9o A s Cilsdas aladf il 3 YYY

(x+y) AND Not(x—y *z>w)
AND  Not, >, -, * +(y >, %, -, Not, AND, +(y

aloSaua (F >,-,+.%* AND, Not (v

Cauin 3+ (6—-8/2) Mod 2 &5 jlue Josls - TYY

Crwn(10-2) *3/12+ (4 (8/2+5)) oy Joln -YYY
5(¢ I(v 3 (v 3y

NPT 280R 19 aylbe Lals -¥Yd
31 (¢ 28 (v 16 (v 15 (3
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o 28 XOR 19 &yl Jols -YYF
21 (¢ 28 (v 16 (v 15 (v

o 28 AND 19 o jue Juola -YYY
21 (¢ 28 (v 16 (v 15 (\

o Not(52) o jue Jsla -YYA
32 (¢ 106 (v 52 (v 11 (s

.o Not(28 OR 19) o jus ol -¥Y4
aslo e (¥ 0 21 (v 15 (

Con 14/2 %7 Mod 3 & jus Joola Y-

ool Ficpaly dad Hf g o lae ju jZlas alas Cuglgf YV
((A + B) > C) AND Not(True)
> (¥ + (v AND (v Not (3

Gl ranas & jlas alag vy
Xx<x+z (f Not AANDB{x x+y=>x-y(¥ 15.5Mod 7 (

oo alus A<>Bosjlas Jobae sadils Jos g 93 A B g1 -YYY
Not(A) OR B (¥ A XOR B (v A ORB (¥ A AND B (3

Sl alas (A<=B)<Bay jle Jolaa sty Jga e 95 5IA B st YYY
.cueal Falses )l saa (f A AND Not(B) (v AORB (v A XORB (1

cad alas (A<=B)<=Bujlus Julas widils s g 63 51 A B s YYD
A ORB (¥ A XOR Not(B) (3
A AND Not(B) (¥ Not(A) AND B (v

sl alas A=Bes jlae Jola il Aga g 93 51 A LB SI YYF
Not(A XOR B) (¥ A XORB (v A ORB (v A AND B (y

ol alas (A<=B)>=Bu jlus Jolas adils g1 £33 51 A B sl —¥YY
Caal True sl gan (Y AORB (A
A AND Not(B) (¥ . Falses ) gan (¥
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G 13.5 Shl 1 & jus Jols -¥YA
aslo W (¥ 13.5 (v 26 (v 27 (v

o 12 Shr-1 & jlue Jola -¥Y4
aole Uad (¥ 0 (v 24 (v 12 (A

e 12 Shl 1 & jue Jsls -YF-
aslo Uas (¥ 0 (v 24 (v 12 (A

ool alas WriteIn(2 AND 1 OR 2);,, i o255 —VFY

Error (¥ 3 2(v I(
Write(maxint Div 32767); ool alaS 9319, yghea 90 295 -YFY
Writeln(maxint Mod 32767);

asla Uea (¥ 32767 (v 01 (v 10 (v

Var .:..ml‘-:hs‘gﬁ‘”u&ﬁ@‘gﬁ -YFY
X,y:integer; 23

Begin
x:=9; 12 (v
y=7; 0 (v
Write((x And y) + (x OR y));

Fnd. 16 (¢

Var sl alaS g 49y doll 0 (29D -Y¥f
x,y:Byte; 16

Begin (\
x:=9; 12 (v

=7;
yWrite((x And : 0 (v
y) + (x OR y));

End. aslaUad (¥

Var Gl alaS g g9, wals o 29D -Y¥b
x,y:Byte;

Begin 27y
x:=9; 18 (v
yi=2;

Write((x Shly) * (x Shr y)); 36 (v

Fnd. aslaUad (¥

ol afas Writeln(12 AND 0 XOR 7);, giua 29,5 -YEF
Error (¥ 19 (v 12 (v 7 (N
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ool alas WriteIn(12 XOR 12);, ginis 29,5 -YFY

Error (¥ 24 (v 12 (v 0
el afas Writeln(12 AND 12);, gius (2 95 -YFA
Error (¥ 24 (v 12 (v (U
ol alas Writeln(12 OR 12); 500 (29,5 -YFA
Error (¥ 24 (v 12 (v 0
ol alaS g a9y woli s 298 YO
Var
X,y:Byte; 00
Begin 18 (v
x:=9;
yi=2; 36 (v
Write((x Shly) And 9); aslo Waa (¥

End.

8 Jad susdinb lacud (o i dobiguily

Y auis -YYY
m:= (A Div B+ C—7)+ (W *Y)
m:=(10Div5+10-5) + (2 *2)
m= (2410 5)(2%2)
m:=(12-5p 2 *2)
m: =7+ (2 *2)
m:=7+4=11
¥ A -TYY

2#(18 Mod5) Div (4+(15-3))
2#3 Div (4+(15-3))
2%3Div (4+12)

2%3 Div 16
6 Div 16=0
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Y auiE YT
3#13 Mod 3 Div 3 =
39 Mod 3 Div 3 =
0Div3=0
¥ auiE -YYF

o= 5 ok Div.Mod Slee slasisloe aSiyl 4y aa 55 b 5 9uls soliiel ey (s biiel apids
33 -8 * 3 Div3 Mod (3Div3) Y -YY0

33—-8 * 3 Div3 Mod 2
33-24Div3 Mod 2

33-6Mod?2
33-0=0
YauyE -YVS
7.3*5/3
36.5/3=12.16
YauE -YYY
3+2*4/8-1
3+8/8-1
34+1-1
4-1=3
PRI V)
7*4 ModS5S
28 Mod 5=3
¥ auis Y4
3/2+1.56+18 Div 4
1.5+ 1.56 +18 Div 4
1.5+1.56+4
3.06 +4=17.06
¥auS VY.
eyl sue Lyl a4l olgi pad g 9 g0 solaid (glaaly g 57 & 5wl glalyl, sla Kloe u
.S
¥aul YY)

A:= 12Mod 5 * 26 Div4 * 5 Mod 2
A:= 2*26 Div4d*5Mod?2

52 Div4 *5Mod?2
Mod2 13 *5

A:=65Mod2=1

> >
Il Il
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Yams -YYY

Not (((3— 4 Mod 3)<5) AND ((6 Div 4)<>3))=
Not (3= _1)<5) AND ((6 Div 4)<>3))=
Not ((2<5) AND ((6 Div 4)<>3))=
Not (True AND ((6 Div 4)<>3))=
Not (True AND (1 <>3))=
Not (True AND True) =
Not (True) = False
VawE -YYY
(3+4<6) AND (4+7<13)
(7<6) AND (4+7<13)
False AND (4+7<13)
False AND (11<13)
False AND True = False
V4w -YYF

¥aul -YY0
= 5ok Div.Mod Slee slasisloe 4yl a5 aa g5 b g osls soliel fonly (s biel ape®s

Vel -YYe
Not (5=2) AND 4 <1)
Not (False) AND (4 < 1)
Not (False) AND (False)
True AND False = False
Y auE -YYY
F s -YYA
Yas -YY4
6+4Modr*6-17
6+0*6-17
6+0-17
6-17=-11
Y auE -YY.
by e
YawE YT

Bset AND(Bset OR BIL)
Bset AND Bset — Bset
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FawE -YYY
rodly aaal g oily B = True 5 A = False I

(False <=True) > True — False
ol 4 453K 55 e False oo, B = True s A = False Clasil b o< glay K g
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Concat Shi if to Program
Div And in Type Record
Do Then Else Until Repeat
YK YRV
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16 *SDiv3*2 Mod 3=
80 Div3 *2Mod3 =
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L=10%*500=500
i=500%*20+10= 10000+ 10= 10010
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10+3=13
Y -YYY
Yaui -YYO
YK -YVE
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Write(50*6); — 300
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(A<>B) AND ((B+A)>C) OR (NOT Flag)
(-1<>2) AND ((2+(-1))>0) OR (NOT Flag)
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True OR (NOT Flag) = True
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JQSGQLEAJL?.;“‘@LJJMHC:\M
) awis -YYY

A0-2)*3/12+4-(8/2+5))
8*3/12+(4—(8/2+5))
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Var A=1.B=2(
A,B:Byte; 1 2 3 A=3.B=2(

Begin -~ _
Read(A); 4 56 A=6.B=5
Read(B,A); A=4,B=5¢(

End.

ol panas a8 alas 0 gl 0yl g ) (Sa9u9 Blaculs sl (& S L YOV

Var A=1,B=2(\
A,B:Byte; = -

Regin 1 2 3 A=2,B=3(
Readln(A); 4 5 6 A=4,B=5(
Read(B,A); _ _

End. A=5.B=4

ol s a8 alus 3h guliaglg ) 99,9 sleals asiul a4 L -YOY

Var A=1,B=2(\
A,B:Byte; _ _

Begin 1 2 3 A=2,B=3(
ReadlIn(A); 4 56 A=6,B=5(
ReadIn(B,A); _ _

End. A=5.B=4x

Gl s a 38 aluS whgudia glg 3 (599,98 sLasula asiul 34 L -YOY

Var A=1.B=2(
A,B:Byte; 1 2 3 A=3.B=2(

Begin — —
Read(A); 456 A=6.B=5(r
ReadlIn(B,A); A=5,B=4(

End.
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Begin
Read(A,B,C,D); Y (Y
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Var 1.2,3(y
A,B,C,D:Char;

Begin 1.2 (v
Read(A,B,C,D); L3¢
Write(A,B,D); )
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Var 1.2.3(y
A,B,C,D:integer; 1.2 (Y
Begin ’
Read(A,B,C,D); L3
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End.
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Beg;‘;Cha“ 0S soliied Readin | sies 51wl S il o gl (Y
Read(i); 5 ek 2dliss s Ol aslael SIS S 5 maais vie S (Y
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End.
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Read(a,b,d,c);
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End.
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ouldid o pSlaa Coga Laaals alas i Laoals (4o S oyl g o Read ) giis jo -Y5Y
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Readln(a); 5 10
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Read(a,b); 1 2 3 3.2.1(
Readln(c); 4 5 6 4,21
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(28000 Al (S A g9, o greus il —T6 ylulio (60959 4y 9o 4o TVY
ReadlIn(A:3);
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ReadIn(A:3:1);
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Read(a): (f a:=False; (v a:= True; (v Write(a): (

Read(A,B); ool plas doli 029,38 0 gudi callaju ¥ 9 ¥ ol 5 ds (50 9,9 5 S -YVO
Write(A>B);
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y:=2.36;
Writeln(y:4:1);

24 (¢

y:=2.36;
Writeln(y:4:2);

24 (

y:=2.36;
Writeln(y:4:3);
24 (¢

y:=2.36;
Writeln(y:4:0);

24 (¢

236 (v

2.36 (v

236 (v

23 (v

Caad] el.AS ) dals dabd 29,5 -Yvv

230 (v 233

Caudl {al..\s 2 4els dald 295 -YYA

2.30 (v 2.3(\

vl elASJ:aj doll o dnled g2 -Yva

2360 (¥ 2.3(3

vl el.AS o) dald daskbd a9 a YA~

2.0 (v 23

Crewss Write('k=",k:6:3); oo 9 3 0ily 3247.756 1 ju K juiiia jlade &1 -YAY
k=3247.77 (¢ k= 3247 (v k=3247.8 (v  k=3247.756 (\

s Write('k=",k:6:2); o2 5,5 0dilh 3247.756 juf ju K judia jlada )81 -YAY
k=3247.76 (¢ k=3247.75 (v k=3247.8 (v  k=3247.756 (z

oy Write('k="k:6: 1); o2 9,3 wils 3247.756 yul 4 K yuiia laia ,S —FAY
k=3247.77 (¢ k=32478 (v k=3247.75 (v k=3247.7 (3

s Write('k=",k:6:0); o 9,5 odils 3247.756 o 1 K juiiio jlada &1 -YAY
k=3247.77 (¢ k=3248 (v k=3248.0 (v  k=3247.756 (y

coras Write('k=",k:6:0); 29,3 wiils 3247.156 5l K puiia i ,SI —¥AD

k=3247.7 (¢ k=3247 (v k=3247.0 (v k= 3247.756 (
Cad {AUS J.n\s.a aali 0 g YA
i:=3; False (\
Write(i < 3);
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Write(53.8765:2:1);
53.9 (¢

Write(3>2 );

Run Time Error (f

Read(3>2);
JJ‘J (1N (\c

Var
A:integer;

Begin
A:=150-40/2 * 5;
Write(A);

End.

Var
A:Real;

Begin
A:=150-40/2 * 5;
Write(A);

End.

x:=14.5;
Writeln(x:6:2);

1.45E1 (¥

Write(3.1416:0:3);
0

Write(3.1416:3:3);
0

Write(True); (f Write(Maxint): (v Write(Minint); (v

3.1416 (v

3.1416 (v

o Bl ) fis (29,5 -TAY

54.0 (v 53.93 (v 53.937 (3

.Q.ml?l..\s‘gf‘”ia&f‘u.bﬁ@‘”i -YAA

False (v 3 (Y 2y
Cad alas g 439 doll i dalad 2 g D -YAA
False (v 3 (v 2y

Sl el.ASJ:a", aals gy o9 ¥ .

mlgﬁ?lasdqls.amufubs@_gﬁc\;}h -yay

14.50 (v 145E (v 145 (1
Caad] {a|d.5 Jaldo doll yu dalad o g 4D aat —¥ay

3.141(y 3.142 (3

ol alas Jaldo dold p daked 298 s VAY
3.141(y 3.142 (

O Gyl ) sl A 8 G Saelas VA0
Write(False); (\
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L alas! 4 Sy ghas as 35S 3y1 91,9 Jladio b (glym 97 luien gl 81 1) doliys yu -TAF

Var Coodl alaS 22953 Wi g faa aa 3 Space
a,b:integer; 79 (\
c:Char;

Begin 7
Read(a); 9
Read(c);

Read(b); 97
Write(a,b,c);
End.

s2800 53 gX S50 A yudla ja 99, Sl gieas 5120 3 puy paal gaa Sy ges jo YAV
iy s €93 L gy 9 JSudi a8 4 85 0de B

Var
A:Char; 5 x()
B:Byte; x5 (Y
Begin 5
Read(A,B); X (¥
End. x 5(¢
Var 10 (3
a,b:Byte; 7
Begin -
a:=10; 10 7 (v
b:=7;
Write(a); 10 (v
Writeln;
Werite(h); 7
End. _
10 7 _ (¢
ol joliy o pa Jlafo auiS aglg @ g |y s g9 S -TAR
Readln(a,b); a==6(\
Read(e,b,a); 1.2 3 c=4 (v
4 5 6
b=2
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Const QJjIMM‘J&&aMbJ.‘@‘SP [ AP
x=12; 21
y=10;

Begin 1(y
X=X Mod y; 12 (v
Write(x); .

End; asla s (¥
Var le Ued (5 gis Jad alas —F
x:Boolean; 1(\
y.:Byte; 2 (x

Begin
Read(x); {1} 3
Read(y); {2} 4

Write(x); {3}
Write(y) {4}
End.

Qs ‘AI.AS =9 4;33.: Q gudi |ﬁ| 378, s g d.n.f]L.tAtz 135.256 S ¥y
Writeln(A:5:2);

13.5265 (¥ 135.265 (v 135.26 (v 135.5 (
Write(351.236:4:3); S 43980 i) jghwa 29 yn —FeY
351.24 (¢ 351.236 (v 351.23 (v 351.2 (v
Write(351.236:0:1); Goml dig8a ) 98 g —FoF
351.24 (¢ 3513 (v 351.23 (v 351.2 (v
Write(351.236:1:0); Gouul 43 983 )y jghws 2 9a -Fed
352.0 (v 3513 (v 351.0 (v 351.2 (v
Write(3.2:1:3); Gose di g8 ) g g —FoF
Aol e (F 3(r 3.200 (v 3.2y
Write('38.2':1:3); Gornl a3 680 ) 540 (D 9A —FoV
aole Uad (¥ 3 (v 3.200 (v 3.2y

Sest alas Write(A:5:1) g (51 ya! Jola suiils A:=68.951 31 —F+A
69.1 (¥ 69.0 (v 68.96 (v 68.9 (1
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Seadt alas Write(A:5:2) ) gicus (51 ol Jusls auils A:=68.951 <1 —F+4
69.1 (¢ 69.0 (v 68.96 (v 68.95 (3

S alas Write(A:0:3)  sius ¢ ja! Jols aiili A:=68.951 1 -FY+
69.9 (v 69.0 (v 68.95 (v 68.951 (\

G alas Write(A:5:4)  gius ¢l ja! Jeols wiiih A:=68.951 )51 -1
69.9 (v 69.9510 (v 68.96 (v 68.951 (z

S0 oo 6332 4@ 2 sgies TV

Write(""'The End"); ) "
Write (""'); The End" (\
Write("The End'); (v
"’\5":"L$'M %JL} 6‘).3.; K] Skl dlS...:\ DGl L’e‘ (Y
"The End' (

Sl G2 4@ ) e TV
Write('The End'); The End (v
Write (')

g ola (ghey g ity KAL) gy (Y

(

Write("The End'); (v
(

The End' (¥

S alus Write(A:0:2)  giin 29,8 hola ol Ar=12.6351 21 -FIF

12.64 (v 12.6 (v 126.35 (v 0(
Gl di 3S alas o g S auisa yl g Iyabc sag,9 31 S -FV0
Var
I (\
a:Char;

Begin a(y
Readln(a); (¥
Write(a);

Fnd. el 4, 'abe’ g 0k g0 adlel e (¥
Var Q.CJ.n.ul@fJ'S{aIASu._;‘gJAHQSAJIJlJabC643J35|JS| S hld
a:String; aQ

Begin abc (¥
Readln(a); L
Write(a); abc' (v

End. EN T ‘A)LC-‘ Uaa (\;
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Gorcdl a3 aluS a9 aaisa ) 91,123 (gug,9 5 S -FIV

Var
a:String; o
Begin 123 (v
Readln(a); ! !
Write(a); 123 (v
End. ol sae 123 0 5n 85 e pdlet Uass (F
12.54 144
Q50 alas ) cdalh p yo auiS 9yl g N Oy g da fy aledsl (sug,9 3 &1 -FIA
Var Gudl o G
p.q:Char; & ©
a,b:Real;
x:integer;
Begin

Read (a,b,p,q,x);
s dny bl 4y g il A a1, 14 3 aas Jsat julis Read | giis &ga ()
aden Sl 1 A SIS Lo g e gane 5uiie (G X sa 0 e ade! Wl (Y
ol X,P et a0 l08e ST o€ o 153 Posate j0 A KIS (Y
._\.a.:LLf‘)La.tn.c‘ ._\31\936.0345:,“1 14 @MJMGMJJ‘JJ‘J&C&AJJ(‘L
Qs Coiunyalh wuils oo Boolean g g5 5l asa judia a0 50 dnjS alas ¥4
Read(a): (¥ a:= False; (v a:= True: (v Write(a): ()

Wil i) & g da (S9 949 (Slaodly g i gdi | el Gy da i sula &of j gy &I —FYe

Var Qe AlaS Culi i da P3,P2,P1 $la puiia lada
P1,P2,P3:Char; 123
Begin
Read(P1,P2,P3); 456 .
5.4.1 (¢ 52,1 (v 42,1 (v 3.2.1(y

Gugs aaf oA ai s dati Al ol a8 L wutils 17487.266 o 2 A sue wis (5 8 -FY)
17503 (¥ 17487.3 (v 17487.2 (v 17487 (»

Sl ca pladl (5,18 an g a9, g 2ll-16 Hlalla (509,948 (g pu -FYY

Atinteger; ko aal el -16.0 ol s A st Hlata (Y
el . b aalsa -1600.0 L0 A it lke (¥
(

Write(A:1:2); Wolo a4t (¥
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2 9Y S A o 9 g5, Ol giis (5121 5 g a3 4S () 9o j0 FYY

Guhls wals 4580 La g5 9 JSudi S ) A7 5fu8e B pudic
Var

A:Char; 7y
B:Byte; y 7(
Begin 7
Read(A,B); y (v
Qs {;l..\s Pialbip 9 -fY¥
Var
J,Liinteger; 0000 (v
F:Longint; 10000 (v
Begin
1:=100; 100000 (Y
J:=1 000; T A - 6:)..:‘)‘)“ (f
F:=1*J; e
Writeln(F:4);
End.

oaldia (a ySlaa Ciga Laaals alas 3f Lasala (o S ol g cga Read g o -FY0

G gudi o
Enter Tab Space (¥ Enter ., Space (9
/ Tab (¢ ;. Space (v

Gags aalga {A|JSWI'itEJ‘9:I.|.ud =>4 wdilsReal g0 5 e <4 Pi it &1 -FYF
Pi:=3.1416;
Write(Pi:0:3);

3.142 (
3.141 (v
3(r
0

Gl oo yals 5 ghewd alas Bl Gl gs £ 63 51D g puss (5o puRia Y X1 -FYY
- Read(b.x); (v Read(input, x.y); (\
Write(output,b); (¥ Write(b.y): (v

WriteIn('$23':4); Scud aluS ¢33, g g9 —FYA
35 (¢ True (v $23 (v 23 (v



v 9 Yol Jle Guudidb Cud 100 [ 1YY

135 6 7 Jouly yuy s g5 ¥ Glga ju g Sadils pasus sla wiiac, b, a &1 -FYQ

G0 gudi 0 4 L gulia (5 ghans auliS vyl g

Read(a); . - T —
R:zdﬁz;,c); S e C (gl goue 0 g shTe gaatb=6,a=5 (\
sS ec=7,b=6.a=5(
g oo €. b gl soe 500555 Shte gaaza=5 (v

ool yodidio glacaly py 585 ¥ Qg jo g ouss paosis sla puaioc, b, a &1 -FY.
G0 gl o0 4 LA yudlio (5l giao adlis 0yl g1,

Read(a,b); 2. c=3.b=0.a=2(\
Readln(c); 34 5. c=5.b=4.a=3(
c=4.b=3.a=2(

.Jﬁw)db&ieuﬁuu*\’bmazz(f

Gl gy g by (glaiudiy puiio S g (5 sl IS (sl pitie C2,C1 pasis juaiad S -FY)

Gt uAf 43 da g guiiaglg AL[JOJ‘JJ—V dals 4t
: T ‘ J ) S
Read(i,C1,C2); 534

ReadIn(S); 35Ty ALI53 (

Slg ity giun 61,3789 aala g Wil ranis udial g glaiudiy jud5a S 81 -FYY
G uaf 3 an LA yudiia (51 gina g gud
Rt s e
g ol (glas a0l ng s HhTie T guelS 5 amud 6023 S 50 789 ana (Y
38 0789 il iy g5 s S (Y
0,8 e auadinn 13 sae oS50 7894, (¥

= el Ol g o g ua il (58] LS (sl uaia C2,C1 &a&m&x_’_\.ﬁlﬁl -FYY

pl
‘?J\,..iwe\eufdlasl_gha‘e.ds.bl_g |J56 eala
) - - !
Read(i); _ P
Read(C1): C2=#13, Cl=t, i=56 (\
C2=#10, C1=#13 , i=56 (v
(

e il Uad by (F
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G guli 0 ouldieul A bod S5 slaal (5l ghewa plas 5 -FYF
Readln; (¥ Read: (v Writeln; (v Write; (3

Gl iy 5§l (@D 9D .A.-J’]L.‘IZ.SJ._‘IJ.)XJeﬁ.aJIﬁaJSI -F¥d
Writeln('x =', x:2:3);

gl Uaa (¥ 12.500 (v 12.50 (v 12.5 (v
Write(1237:2); G alas Joldo doll o ash 298 -FYF
Aol e (¥ 12 (v 123 (v 1237 (
Write('123.57':5); Gl aluS g a9y dall s asS 29,5 —FYY
123. (¥ 123.57 (v 123.5 (v 123 (»
Write(123.57:5); Gosel aluS 9,8 walh o 4SS 295 -FYA
Aol e (¥ 123.57 (v 123.5 (v 123 (
Write(123.57:5:1); Gueal aluS g a9, dold o asi 2958 —FYQ
aole W (¥ 123.57 (v 123.6 (v 123.5 (A
Writc('ABCDE':2); Qs alas g ya9, dold pr asi 2955 ~FF
asla s (¥ BC (v DE (v AB (A
Write('ABDE':1); Gl alus g9, dolspr asi 298 -FF)
A (¥ C(r E (v B (\
Write("ABC':5); Qs alas g 439, dald s a<i 295 -FFY
ayla s (F C ABC (v ABCDE (x

Var yy,mm,dd:Byte; Read (yy.a.a, mm, a.a.dd); (\
a:Char; Read (yy.a. mm.a.dd); (v
Read (yy, mm, dd); (v

(

Readln (vy, mm, dd); (¥
A8 0
Printf(A); (¥ Writeln(A); (v ReadIn(A); (v Scanf(A); (y
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S0 S8l 0 59958
Printf(A); (¥ Writeln(A); (v ReadIn(A); (v Scanf(A); (y

ol s 1 5 ghed alaS JlSuly Gl 59 sl ol s £ 93 51 A puiia 81 -FEF

Printf(A); (¥ Writeln(A): (v ReadIn(A); (v Scanf(A): (\
Gl alas gy el 29,5 VY
Var
A,B:integer; 1237 (v 7123 (A
Begin
A:=123;
B:=7; 123 (¢ 7
Writeln(A); 7 123
Writeln(B);
End.
S alas p aaliys 29,5 -FFA
Var
AB:integer; 1237(¢ 7123 (v
Begin 123(r 7 (v
A:=123;
B:=7; 7 123
Write(A);
Write(B);
End.
Gl plas ) w295 -FFA
Var
A,B:integer; 1237 7123 (
Begin
A=123;
B:=7; 123 (¢ 7 (v
Writeln(A); 7 123
Write(B);
End.
(el A=True asiul (45§ a)Cacd AlaS ) dali s g2 gn —FOo
var True Falae (\
A,B:Boolean;
Begin False True (v
Read(A);
B:=False; True (v
Writeln(A); Falae
Write(B); aslo e (F

End.
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(99481 0850 9, 36 ualllo (5959 5 SI).Couul alaS g gy ol a2 955 —FO)

Var 3636 (\
a,b:Byte; 36 (v

Begin
Read(a,b); 936 (v
b:=b*(a Div b); 369 (¢
a:=a*(a Div b);

Write(a,b);

End.

(94 &8l 50 9 5 36 ol (5u 9,9 1 1) ol alas g9y 4ol g5 YOV

Var 3636 (\
a,b:Byte;

Begin 36 (¥
Read(a,b); 936 (v
b:=b*(a Div b);

Write(a,b); 369 (f

End.

(2 a8l 50 9 4 36 juulda (Ga 9,9 31 ST alas g9, aalh i 29,8 -FOY

Var 3636 (\
a,b:Byte;

Begin 36 (v
Read(a,b); 936 (v
b:=b*(a / b);

a::a*(a / b); JJ‘J Ua’; (\c
Write(a,b);

End.

.Mlelﬁﬁjﬁﬁjﬁdﬁjﬁiﬂgs Ll 4|4.€|3J..|3JML'|J..|JJJS| -fo¥f

Var 123 (v
cl,c2,e3:Char;

Begin 321 (v
ReadIn(cl,¢2,¢3); 231 (v
Writeln(c2,c1,c3);

Readln; 312 \

End.

.CJMI{;MSGA_‘QJAQ‘QJJJI‘Q%EJJQ()D] AIJ.CI‘QJ..UJML':J.}JJJSI B (TN

Var 123 (v
c1,c2,c3:Char; 146 (v

Begin
ReadlIn(c1,c2,¢3,c3,c2,c1); 654 (v
Writeln(c2,c1,c3);

Readln; 264 (¥

End.
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ol el.;s@‘g,iﬁ;slgEnterL}lJ3 ul L;LAJ:LSIJLS‘gJ..a‘ngLaEU.\Jd -for

Var _ 0

cl,c2,c3:Char; 123 (v
Begin

ReadlIn(c1,¢2,¢3,¢3,c2,¢1); 123456 (v

Writeln(c2,c1,c3); 123456 (¢
End.

sl alas o2 958 ais o i g1y Saeid sug,49 51 S -FOY
blu b (y

Var

c:Char; blu (v
Begin blu blu (v

Read(c);

TF c='b' Then Read(c); Sl oA (¥

TF c='I' Then Read(c);
TF ¢="u' Then Write('blue')
FElse Write('b'+'l'+'u");

End.
ol alaS 2 9,3 aais oyl g1y Saeid (sug,49 51 S -FOA
Var blu b (3
c:Char;
Begin blu (v
Read(c); blu blu (v
IF ¢='S' Then Read(c); s (¢
TF c='I' Then Read(c); ol amon

TF c='u' Then Write('blue')
Flse Write('b'+'1'+'u");

End.
Credl alas 2953 asiS a9y Saeid sag,49 5 81 -FOA
Var S (\
c:Char;
Begin a(x
Read(c); e (v
IF ¢='S' Then Read(c); i
IF c='e' Then Read(c); i

IF c='u' Then Write('blue')
Else Write(c);
End.
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ool alas 2953 asiS a4l g1y Saeid gag,9 5 S -FFe

Var Saeid (\
c:String;

Begin blue (v
Read(c); green (v
IF ¢='s' Then Write('green') d
IF c="e' Then Write('red") red (
IF c="u' Then Write('blue')

Else Write(c);

End.

P Jod gonainb St (o i 4oliguily

APV UN
— 2 lake 5 abe e 1S les Lo Lo lSe et Read i osa s dsd o A =1 lute il
sdipe A = 300 o SV ALLS Slsie 5 0s o B

¥4 Yoy

= ¥,lade g o, e am sl 4 Layyl€e ol Readln givus 0ogn g osd go A =1 lada faiyl
e A= Cug s e G ST A LS Jlie 5 a5 o B

¥ auiE Yoy

= ¥olade g o, e da sl 4 Ly Ko el ReadIng gis fogn 5 o oo A =T laga sl
e A = Cug e o ST A LS Slde 5 asd < B

Yauys YOF

— 2l 5wl e 1Ko lan o LK et Read  sis &sa 5 950 A =1 luto Lt
s A = 3uge o 51 A LS Jloke 5 usde B

Y auiE -YOD

2K 5 C it Lo #10,5€1,1€ 5 Buatie Lo EntersS #1351 4 A ata Lo 1,51
@ oS A go Baely Boaite 5 053 e ly Tase Il a g 53 500558 e 13 D st 0
Sel DL gus i oo ole auod oo Tuae gus 522 sae g by JE1 i glaiyd
iley (Bl Sl Slaa 500 gt o



v § Yol Jle Sudid Cud 106 [ 1T

Yauis YOS
Dsie oo #1351, 5 Cuate 5o 3 5€1LIS 4 Buiie ,o2 S€LIE 4 A it o 11€
F13 5L g 0t oo ola 2 s Gup 5 d s oo ola Toae Tail s g 0a 50058 o 1,3
sl JEB e il 45 yeasS 0 sk go el D yuiio o Enteras
Y YOV
aslatosas golate Douate gl 5 Cuuaie o 3use B juate 502 sae g A juate jo lose
Ao Uad olad Beels aadtiyn 05K D18 Hudte o &S
Y amiE -YOA
S auldi wl snwiklaa gy Enter ) €1 s sl o #13 3 #10 51,1 50 Lst s Enter
$9303 Olstas ot 5 95 e 00 iSlan o a Enter o7 sanly SIS o3 5 5adle 4S5 shay
a8 o 515 saliiead 4y g0

x|y | o o]

1| #13 ]#0 A 1
2.
as o S8 sl Slad a1y g o Lasuls la 51 ey Write s
*awiE YA
vy 2l 53 Sosemn (a0 spalie a2 58 S
A 12 | #13 [#10 | 'A" | #13 | #10
F s VS
et saliil lasd flsie 4wl 5 e as LIS (a0 et ol (lsie 45 SIRead ;i
AUCEPRLIES Pl
a b d c
" | '] 12 | #13
ol il JS5 & i S sl
a b d c
VX | 'a’ T a’
Yo,k | 'a " 'a’
Yk | 'a v na'

ol aslgay 1 #Y - s #AY g HYY LS LS jal 5 aalsds 481 sune juatiadish &
R PEORY PO PP RPN P P o b
¥ auis VY



‘Y TO 295 9829595 b

Y auE -YEY

\aujs -YHY

S ola 1 LT lsise g il adl e cnlls ol g slauite

fauis YO

seolie Read s Lol ou Koo Ll Ci3a el Jlaee a0 5o bl suslie Readln gis o
ilase 3L alidla o ALl

¥amE -YES
f S YRV
Y dS -YRA
YamiE -YeR
Y s YYe
g e (gaay sl 45 3 sa sla e 4 a0 lake 51 uas ReadIn
a b c
\ Y Y
Y ais ¥V
¥ auiE -YVY
by o Write ) gins (o giadie o g A oy
¥amiE -YVY
38k oo sobdel vlael (gl sud sa i SIS A e
¥ YVE
S8 dlesa g3408 S Ol 1 Galge mulie
Yauis TYO
A B A>B
Y ¥ ¥>y —>True
Y amys -YVE

dsaa sl su s gams slasols B wile g Hltie sl JieS Lasols slaas K1 Readln ; sis o
.LJ&@J\)LALAJ.E&LGE?LAJ\A:\SSJJ‘J

¥ aa s -Yvvy

Wi g0 S8 B8e 5 8500 O D1 F 0e dau® su asal sA b ST al K Sliiel e

Y auE -YYA

D80l G Sl gaae danth jo aaalh oo s a8 g0 sldiel cians )



v § Yol Jle Sudid w104 [ ATY

YauiE -YV_

S oo Blial Jliel crand 4 Hiie S sae 4o oo asalpa e a3 4 Hldie] e B

Y auiE YA

ol Gulea s L el cran® 5 058 oot Bia Lol al® s 0 oo o asls sLiiel s
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A:= 150-40/2 %5
A:= 150-20.0*5
A:= 150 -100,0=50.0
VamiE YA
ol W (oLl puate 45 o Ll g ol g litel fely (soLite) aueas
A= 150-40/2 %5
A:= 150-20.0*5
A:= 150- 100.0=50.0

*auiE -Yay
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Var

a:Byte;
Begin

a:=1;

IF a<5 Then a:=a*4

Else TF a <=4 Then Write ('1');
End.

Var
a:Byte;

Begin
a:=1;
IFa<5Thena:=a x4
Flse IF a <=4 Then
Else Write('1");

End.

Y Jad swudinb sbocws

Qacul {;l..\S Piawbip 29 -££

.
e G

=1

(

4 (

s (
Ui (¥

Sl {al..\S Py 4l 29 -f5Y
](\

1 e (¥
129

=1

(
(
.JJ‘JJG;-J‘)A(\G

Sl alaS pa3 g (o2 gy wudils A=S 81 -FFY

TF A <5 Then FElse A:=A #2;
TF A >=5Then A:=A * 2 Else;
Write(A);

5(3
10 (v
20 (v
40 (¥

Caad] ‘al.AS&ma‘klfjs_gﬁ_”ab_glud4949_93[9..\.-.2'][93J.3|J..|JJ|4§.4JS| -f7f

IF J<5 then J:=2%J;
IF J>=5 then J:=3*J;
Write(.J);

6 ()
9 (
8 (
36 (¢

—

—_—
-

ato | {;I.AS&t&mﬁ:ﬁjs‘gf‘”QIJP4Q9§QMQ6J§|£JJ|A§A§I ~¥70

TF J<5 then J:=2%J;
TF J>=5 then J:= 3*J;
Write(.J);

9 (v
36 (¢

6 ()
18 (v



v 9 Yol Jle Guudib Cwd 1044 [ 1TA

ol aloS aois 438 99, Oy ghei i 49 b il S il o jlule 81 -FFF
IF J<5 then J:=2%J;
IF J>=5 then J:=3*J;

Write(J); 30 (v S50

15 (¢ 20 (v

ol o138 s S 930y Sy i 43 42 g3 L L2l s 81 -FSY
IF j<5 then j:=2%j; S5 4 (\
IF j>=5 then j:= 3*j;
Write(j): 12 (¥ 6 (v

ol Al gas d 38 g9, &) gy 4 dagi L sl 6l § jlade ST -FFA

IF j<5 then ji= 2%j; 18 (v 6 (A
IF j>=5 then j:= 3*j; 12 (¢ 36 (v

ol S i 4338 908 Sy hen s 42 g8 L BL6 il lae 81 —FFA

IF j<5 then j:=2%j;
IF =5 then j:= 3%j; 18 (v 6 (3

Write (j);
rite ) 12 (¢ 36 (v
et | ‘ALASW m.u_*“' J:‘:J CAJL.\SJJ R AR

IF x>0 then w:=trunc(x) Else w:=trunc(x)-1;

[x]— X (¥ x(y [x] (Y |x| .

Ol alaS o9 B 0 gudi vyl g 100.67 514,49 3! 51 —FVY
Var

a:Byte; 100 (v
x:Real; 100.0 (v
Begin
Readln(x); 100.67 (v
TF x<0 then Write(x:0:2) 101 (¥
Else Write(x:6:0);
End.
Gl alas o2 g B 0 gudivgyl g 100.67 514,49 31 &1 —FVYY
Var 100 (v
a:Byte;
x:Real; gl s (Y
Begin 100.67 (v
Readln(a);
TF a<0 then Write(a:0:2) 101 (¢
Flse Write(a);

End.



e IS g bl sl Y Jab

Caed eldS BYSRBK T YR ..\.n.uL\ A=6JS| -fVY
IF A<5 then Else A:= A*2;

6 (v
IF A>=5 then A= A*2 Else; (
Write (A); 10 (v
24 (v
12 (¢
Label K; Gawin ) dolh s dalad (292 -FVY
Var g o dalal Gla 4y oAl dBla S o 4l ()
I:integer; s . - .
Begin ’ b e adila aalin (g oluke gaa Glg g (Y
I:=1; ol tas 4l (¥
K:IF (I<=10) and (I>=1) then; ) -
lael
Write(I); a8 S e ple 10 6 Tolael (F
I:=1+1;
Goto K
End.
Ssana p) daliyy askad 29,5 - FVO
Label k; s dalal Gly 4 aliels dila G Lu aelis ()
Var T
L:integer; by oo 4l aaling (golute g Gla Gy (Y
Begin .._\J‘._\ U= ‘Lnt\‘).:: (Y
T:=1; . e .
k:TF (I<=10) and (1>=1) then Koo e 10 G Talsal (¥
Write(T);
T:=T+1;
Goto k;
End.

Gl s ) dobl o dadad alas Jiils Gl o -fv5&

I A>5Then I A>5
Write( A) (¥ Write( 4); 0
Flse Else
Write('S"; Write('s');
IF A>5Then IF A>5
Write( ), (¥ Write( 4) (Y‘
Else Flse

Write('s"); Write('s");



Ai=5;

B:=A +2;

IF A>B then
Write(A)

Else
Write(A*A+B);

A:=150;
R:=A Mod 10 ;
Case R OF

v § Fomall Jle Gudib Cuwd 1044 /1T

Sl el.AS my el 2gs -fVYYy
50\

7 (Y

32(r

JJ‘J Uc.a (\;

el alas ouudi ouly dalh s aalad (gl af aaaiy -FYA

0,2,4,8:Writeln ('t pd 2542 , 150 su);

0,5: Writeln (el Judy 25 o 150 sae);

End;

ol 5ada iy 255 150 sae alig Sls (Y

ol 33 5w 150 sse alagy Sty (N

JJ‘JUQ.;‘LAB‘).::(‘; \KYJJ‘J.A (Y

Flag:=False;

A:=12;

IF (A>10) OR (A>20) then
Write(Flag)

Else
Write(Not(Flag));

Var
x:Real;
Begin
ReadlIn(x);
TF x=0 then
Write(x)
FElse
Write(-x);

x:=12;

IF x> 100 then
Write("A')

Else IF x > 25 then
Write('B")

Else IF x> 7 then
Write('C")

Else
Write('D');

.%inmglJJelﬁauuﬁ@_gJi -fva

w591 s ) s dali o 295 ~FA
Trunc(x) (\

ABS(x) (¥

Sqr(x) (v

asla e (¥

A\

= =

(
(
(
(

‘c
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x:=12;

IF x> 10 then
Write('A')
Else TF x> 7 then
Write('B'")
Else TF x>0 then
Write('C")

Else
Write('D');

X:=62;

IF x> 100 then
Write("A')

Else IF x > 25 then
Write('B'")

Else TF x> 7 then
Write("C')

Else
Write('D');

x:=0;

IF x> 100 then
Write('A")

Else IF x> 25 then
Write('B'")

Else TF x> 7 then
Write('C")

FElse
Write('D');

x:=12;
IF x> 10 then
IF x>25 then
IF x =37 then
Write('A'")
FElse
Write('B")
FElse
Write('C'")
Else
Write('D");

.ngi@uglJ&&auuﬁ@‘gJ& -fAY
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D (¥
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C
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x:=32;
IF x> 10 then
IF x> 25 then
IF x =37 then
Write('A'")
Else
Write('B")
Else
Write('C")
Else
Write('D');

x:=37;
IF x> 10 then
TF x> 25 then
IF x =37 then
Write("A')
Else
Write('B")
Else
Write('C")
FElse
Write('D');

X:=2;
IF x> 10 then
IF x> 25 then
IF x =37 then
Write('A')
FElse
Write('B")
FElse
Write('C")
FElse
Write('D');

x:=37;
IF x> 10 then
IF x> 25 then
IF x =37 then
Write("A');
FElse
Write('B');
FElse
Write("C');
Else
Write('D');

v § Fomall Jle Guudib Caud 1844 ITY
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x:=12;

IF x Mod 10 =2 then
Write('A'")

IF Else x =37 then
Write('B")

Else
Write('D');

Var
x:Real;
Begin
x:=10;
Case x of
0,2,4: Write(x);
5,9,10: Write(2*x);
End;
End.

Case x=x of
False: Write(0);
True:Write(1);
End;

x:=16;
Case Sqrt(x) of

w5 8] Co | Jaldo aals pu o2 9,5 A

...\.3‘,31.:4...‘44.31‘,&&.4@&#@3‘,5 -fa9

10 (v
20 (v

1020 (v
asly Uad aaligys (¥

.42.431@4._.1Jd...@.4uu4._.@3,5 -fay

0
1

(
JJ‘JLL.AMu‘).:!(
Y (

-«

Y
‘5

.

.*inguglJJ,‘muuﬁ@_gp -fay

aslo Uad aabi g (M

(
2:Write('"Twe'); Two (Y
4:Write('Five']; .
End; Five (v
Two Five (¥
o ] dal g1 dadal g A il X=1,y=0JS| -fa¥
Case x of Zero (3
1:Case y of
0:Writeln('Zero'); Two (¥
1:Writeln('one');
End; one (v
2:Writeln('Two'); . lat ssa s Case jo Case 5 salanid ;1Kal 1555 asla U (¥

End;



v § Yol Jle Guudidb Cud 104 [ ATY

udi ol 93 il Blue i gs an ju addils (55581518 (5 juaia C 21 -FAD

ReadIn(C);

CaseCOf J\}A—tbd‘dB‘):\S“)lSC‘)ﬂilAL;“H‘isu:JJde(\
'R':Writeln('Red'); 24 auls B oSl i€ C vite ol o 4 5 Y
'b','B':Writeln('Blue'); 58 2l BULIS Coniio sl o (fogam o

Otherwise i aola Bob IS C puate (6155 4S8 S50 5o (V
Writeln('Bad Character'); st aols Bub SIS C i (gl oS s pem 5o (¥

End;

Syl alas 51 glanY GLAlF Lo jlae S (69 aaatia gLAIF 31 (5 juS gl (sf o —FAF
3 g ouldiial cacal
Repeat-Until(¥ Case (v While (v For (

A4S Sl gl jUdLes alas 5l Case -FAY
,la End: Wt s yls Begin (v .4, s Begin...End: (A
.a_lw Begin...End; (¥ .ala End: Wt o le Begin (v

Real(¥ String (v Double (v Byte (\

Guudiba o jlome Case jgicun & jlas ju oula g 55 alas 3 suldiedd -FAQ
Byte (f Shortint (v Real (v Longint (

e End; (o 00 Begin idila ¢y gas j g plas —Bee

While (¥ Case (v IF (v For (y
Lol aloS (23S g gy i aadagily 04
Var
i:Byte; 031 sk (0
Begin 05 At (Y
For i:=1to 5 do )A d ) (
Writeln(i:i); 051 sk (¥
End. 56150 g ks (¥
v {AIAS ) 4ol dalal o g A -0-Y
x:=0; 10
For i:=3 downto 1 do; 0 (v
X:= X+i; )
Write(x); 6 (v
€ gl (\‘



1 | IS g b Sty Jab

Var Ol Coiur g g 39 4ol g 0y 90 g ) Slad ) G Saslas —0 Y
a,b:Byte;

Begin
For a:=1 to 9 do
For b:=0 to 9 do

Write(a,b,b,a);
End.
I e pla a5l Wl a5 as0 aolea 5 Jul a0 S 1 (e85 Llea slael S
WS o ly Hh sl a8 g9 Slael IS(Y
JASUA%J‘A_:‘JUAEJJ_'_"JL1Q_3_]S(\G
Var CAMI&\M‘LAT!JS {AI.ASJ:Q aali mandagil —O+F
a,b:Byte;
Begin
Readln(a);
Repeat

While a<0 do a:= a+1;
Until a>0;
End. _ _
...a‘)fSu.a‘)\‘)ETAOOpJJuuﬁgﬁmy‘)dgdd‘)djﬁ‘)bha61‘)_3‘)51 \
.J‘)‘SGAJ‘JELOOPJJMU‘H._‘JJJJ15uél.a‘)‘._\lai?\sc;.;\.a‘)‘._\iai?acg‘)g Y

J‘);Gaj_ﬁ]_.ﬂop‘)qul;).quﬁq‘)\d:.\33.4‘)\43&86\):;;\ Ay

(
(
(
(

J‘);L;QJ‘JZLOOPJJM[;J:!JJ&J‘)‘Juél.a‘)‘dlaacg“).::‘)g‘ ¥

Var sl ‘AIAS J-\‘&a ‘LAL.IJ.] @‘gﬁ -0+
x:integer; 50 61 slael Lls ()
b:Boolean; C

Begin T e lsel Qla (¥
b==(1;alse: 49 51 slael Uls (v
x:=0; S
Repeat o stk (¥

IF x Div 7=7 then
b:=True;
x:=x+1;
Write(x:5);
Until b;

End.

For x:=1 to0 3 do; ol alaS g9, by (2gys —00F
Writeln (x); 32 1y 1(\

Run time error (¥ 3(r



v § Yol Jle Gundib Cwd 1840 [ 1T

Var (il m=1 S0 guiga 1520 5l wia il Ghayd s ol daled 0 -0V
m:integers calgd o ()
Begin LS (Y
Read(m);
While m<=10 do sbas(y
.ln:=m+1; J\Huu“).;“)_uwrlte LQJA‘JJJJ\HU.M\AB_"%(\G
Write(m);
End.
Caed eldS ) seald p daalbd a9 S —Od+A
i:=0;
While 0 <=i do asdige e 05T
Begin Ssede oy 10 G131 (Y
inc(i); : 0u
Write(i); asd go la O G151y
End; ol s (¥
S {a.L\S ) dalh o dalad o ga _0+8
i:=0,; . ._)\9.:.16/:: %L? 9 l: OJ (\
While i <10 do
Begin el e ol 10 G T 51(Y
lnC(l); . JJ.A.uUa u‘A9 ¥ ]J‘ (Y
Write(i);
End; asla U= (¥

WS e ]l sl s ls s AR

For i:=1 to 5 do ve ()
For j:=1 to i do ve (Y
For k:=1 to j da 5
Writeln ("*'); we
£YO (¥
ag yal jb sis als gian -0V
For i:=5 downto 1 do St b e gl
For j:=1 to i do ve ()
For k=1 to j do ve (Y
Writeln (**');
iteln ()3 YO (Y
£Y0 (¥
S 1l sl s pla gl O
For i:=1 downto 5 do ve (\
For j:=1 to 3 do
For k:=1 to 2 do ve(Y

Writeln ("*'); 5 (v



WY IR g bl sl Y Jad

For i:=1 to 5 do
For j:=1 to 3 do
For k:=1 to 2 do
Writeln ("*');

For i:=9 downto 5 do
For j:=5 to 7 do;
For k:=1 to 4 do
Weriteln ("*');

For i:=1 to 3 do
For j:=i to i do
For k:=1 to j do
Writeln ("*');

Flage:=False;
While not(Flag) Do
Begin
Read (ch1, ch2);
TF ch1=ch2 Then
Flag:= True;
Else
Flag:= False;
End;
Writeln (Flag);

Read (A);

S:=0;

Write A>0 Do

Begin
S:=S*10+(A Mod 10);
A:=A Div 10;

End;

Write(S);

S (F
a8 g0 lﬁlJL.n..ﬁe;;:‘eJ‘g:u.ud -0YY
&\

(
AR
(
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)
S (¥
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WSl sl s ol e -OVY
-

(
VY
(

3 = =

Y
Lo (f

a8 e ol Hl s Gly ) e -0V

gl Cauas 1y Juldo dels 1 2 9n —OVF

'False' (3

Y

"True

False (v

(
(
(
(

True (¥

a9l G 1y Julla dall 2955 —OVY
9800 dae pusSas ola (A

$assy e Gy (¥

L (¥
o {

\c



For i:=1 to 10 do
For j:=6 to 10 do
For k:=7 to 11 do;

Write('Saeid');

Read (A,B);
T:=1;
i:=0;
While (i<B) Do
Begin
T:=A*T;
ir=i+1;
End;
Write('T=",T);

Read (A,B);

T:=0;

For i:=1 to B do
T:=T+A;

Write('T=",T);

For i:=1 to 10 do

For j:=1 to i do

For k:=i to j da
Write(' * ');

A:=10
For j:=1 to A do
Begin
A:=20;
Writeln (i);

End;

For x:=1 to 2 do
Begin
Write(x);
For y:=1 to 2 do
Write('k');
End;

55 (v
ol Uad asls (¥

v § Yol Jle Guudib Cwd 104 [ 1TA
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10 G151 asls slael (
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F:=4;

For C:=1 to 20 do
F:=Sqrt(F) +2;

F:=F-2;

Writeln(F:2:2);

Var
izinteger;
Begin
For i:=1 to 3 do
Writeln(i=i+1);
End.

Caudl JJy?las;;:LeJejuuf@‘gJé -0Y#5

Var
izinteger;
Begin
For i:=0 to 3 do
Begin
Writeln(i=i);
ir=i +1;
End;
End.

Sum:=0;
For i:=1 to 10 do
Begin
ReadIn(N);
Sum:=Sum+N;
End;
Writeln(Sum/10);

Cved .:J_g.a{ala.s;:.ﬂa_:ﬁj daals 0 g A -OYA

k:=0;

For i:=1 to 5 do
k:=k+1;

Writeln(k);

1k2k (¢

el {al..\s‘gJ._n‘thLaL':ﬁ@‘gJi -OY¥
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361 ataet (N
4G 1alael (¥
False = le L 4w (¥
True = ke b e (¥

True =,be S ga (M
=l esbe SL ol (¥
True = be L e (¥
2=2 50=0 =t (¥

sl AJ}O‘AldS&;:‘AJJJML.IJ.IGA"JA -OYY
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Var
i,j:integer;
Begin
j:=0;
For i:=1 to 23 do
IF (i Mod 3) =0 Then
Je=jH;
Je=iH;
End.

For k:=1 to 2 do
For m:=2 to 4 do
Write(k Mod m);

v § Yol Jle Sudid Cwd 104 [ 1Y

el Waa j jedlie ) O gheus sl al 3 saa -OYR

Sl 930 plaS la ) i (29,5 0T

000100 (3
000122 (v
111022 (v
222011 (¢

e Mb&.ﬁeAJ!ﬁanj aly giua gl ol glals o —OY)

A:=3;
For B:=5 downto A do
While A<=B do
A:=A+1;

30

= =

(
(
(
(

‘c

L& 5 Jaadl ) gicua (8158l 3 Gy adicud Hala polie Z,Y, X, Tuais 45 6 -OYY

T:=X; g o aala ST 50 Y L X ualie 51 S5 ol sea ()

IF T>Y Then T:=Y;
TF T>=Y Then Y:=Z;

g go aala ST 0 Z Y ) X uolie s o sloSe 00 i€ 5

Var
izinteger;
Begin
For i:=0 to 13 do
Begin
Writeln(i);
ine(i);
TF i=7 Then Halt;
End;
End.
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For j:=1 to 10 do

LA B~ T ~ RS S - W g -
Var Sl dy49 (aIAS«;:\A_:J:aj a9 -OYf
izinteger; Vo B s gl slael (A
j:Boolean; .
Begin 4 Gy o8 slael (Y
i:=1; ol Wad gl 10 (Y
Repeat L5
Writeln(i); ARTS (¥
i:=i +2;
ji=i>10;

Until j;

End.

QMM|3$|J9|JQAQ%#‘}MDJ9JJi s -OYD

Var 6 (\
i,j:integer;

Begin 10 (v
For i:=1 to 10 do 18 (v

(

TF j>8 then i:=i—8
Flse i:=i+2;
End.

ii=1;

While 2<5 Do

Begin
Write(i);
=i+ 1;

End;

(43694) =l (¥

e [eiato g aals 3 0540 59 ‘u:aJS {alds R L
A3 g g ea S Gla sl ()

Sk o al Hb e While aals (v

(
(
(
(

484 o ¢ Run Time Error (¥

Gudi sl g3 5 )< 5l i WriteIn(X) ju 3 dali ju 50 -OYY

x:=1;

While x<5 Do;

Begin
Writeln(x);
x:=x + 1;

End;

0 ()
1(v
4
5(¢

—

I S ol g o S as Wi (Boolean) Sbais (sl uiaia YV, X as aais 5 8 -OYA
g e o jlae jlade adb aidifa 1 (False) o ol L (True) cuw s juulio

(X OR X) AND (Y AND Y)

X ANDY (¥
(X ORY)OR (X AND Y) (f

‘EC_\JAIJ..‘IJ..‘Q:‘}S?IASL}@JI}M
X XORY (
NOT (XORY) (v



v 8 Yol Jle Guudib Caud 1844 IFY

Q&%dﬁwwyﬁjﬁJdﬁL;ddsoeﬁiﬁjmuﬁub’ﬁslﬁljlu.u.a -0Y4

Eps:=-1; sas (M
EVhi}e Eps <0.0 Do il 5o Giuled LB ite sae o €50 (¥
egin
Writeln(Eps); Cudile 5o Gtubey B 80 s s yiSa oS (V
Eps:=Eps/2.0; el Y il Cpile 5o (14 Eps) Gislas oS 555k 45 Eps (F
End;
Eps:=1.0; g eeals yu anded ol o -OF

While Eps> 0.0 Do

.3 g a9 9 e S0 0 du sada ()
Eps:=Eps/2.0; i °

(
Weriteln(Eps); s g s0n 59 Sy aae Wi, (Al 4 et (Y
s g0 ﬂ&e:mls o Olslad B8 calle sae 0o e 58 SRl sh 4 st (T
Dedige sl Slae aa 31 G loal pled st Cal by 5 sl o (85 5T ol&an (¥

J_.‘lﬁsumjdﬁ.auuﬁub.s‘o:alslﬁljlwae‘):;ie#)gbﬁjmuﬁw ~OF)Y

I |
M:=1000; i
Sum:=0; 993 (\
While M>1 Do 994 (v
Begin
M:=M Div 2; 995 (v
Sum:=Sum + M; 996 (¥
End;
(Coml Culio paaus s S0 M aswiis (48 @) juSs G ja ) ga) dolh p aaded -OFY
Mlogz ........ ol 508 29 yS jaoaudialiiigh slada dall y aakad il (gl ol 5 (s
ReadlIn(M); N (
Term:=0; S
Mult:=1; SN e S (Y
Repeat Lo U 38,0 (Y
Term:=Term + 1; &3 2 05
Mult:=Mult * 2; ol by S S (¥
Until Mult>=M ;
Writeln(Term);

I:=1; :Q@ulflflﬁ&@&f@dﬂl@lﬁljlw
Repeat 10 (v 9 (y
TI:=I+1;

Until 28T >=1000 ; (¥ 1 (v



1P IR g bl sl Y Jad

Gl i oo alaS 31 0 guti o0 |l g 3 dolh s dmded ju {*las ASlakad oluas -OFF

2

For i:=1 to N do N° (v

For j:=i to N-1 do N (v
A=A+T5{

N’ (v

NlogN (¥

e L pra o (gLt i BoA 5 (8 8) w g I8 ) g el ys caaled —0FD
Sercad alas aila (51 ,af cilady slaasd (svicus B=6, A=21

Repeat el ()

A:=A/2;
B:=B-2; & (v
Until A=B ; V(v
V(¥

ola ajlas alas a0 dall y gl al L adil ali's BOOK. 514 4 slacals 31 -0FF

Program P; Gaa,8 0
var ALIS (»
ch:Char; '
Begin ALTS book (¥
Repeat ALT'S Book (v
Read(ch); LTS
TF (ch >="a") and (ch <=2) then (f
Write(Chr(ord(ch) — ord('a’) + ord('A")));
Until ch="";
End.

(ool @2 @2 5l) Sagn sl gd a8 alas (2 9 3 y1j @l ghus gl pl b -OFY

F1:=0; 1.2,3,5.8.13 (A
F2:=1;
F:=1; ]5]:2:3:5:8:]3 2] (Y
Repeat 1.2,3,5.8,13.21 (v
Write(F);
F:=F1+F2; 1.1,2.3,5.8,13 (¥
F1:=F2;
F2:=F;

Until F>20;



v § Yol Jle Gundib Caud 1844 [ 1FF

G gl o0 ol M jladle oy g d g3 g dold i (g1 5l b -OFA

;?Zg(.lln(n); ails 88 sae (N
While j<n-1 do sl JalSsoe (Y
IF nmod j=0 then .
-
Halt adls Jof sse (Y
Flse 2l s dae (¥
=it
IF j <n then
Write(n);
T:=1.0; ol 29 4ol yo aadad (gl yal 3w -OFQ
P:=1.0 +T; f T 1 \
Wy Js.hn K9
While P> 1.0 do e ol
Begin S e ool (underflow) 5 5 s sl (¥
gf;”ol ?_,(r]’ sdige SIUSS 5Ll g BB sy LSS <Bla (Y
End; st ge 1 sl Poluie alite clady o dila 1S5 5 G (F

Q.dgaﬁgal"?“"..td;eamlodmua&_um*L|4.SG_IJL\£J.1J4.’.E§J4 RATARY

For i:=1 to N do *T(y

For j:=\ to i do N (v
x:=x+1.0;{*}

N’ +N(¥

N(N+l) (¢

Gseal alas M jooudio uald jlala yu) dals j ankad (gl ol 51 s —OO)
M:=2; )

K:=1; 10 (v
N:=20; 12 (v
While K= N do
Begin 14
M:=M+2; 32 (¢
K:=K +Kj
End:
Ga guii ga |yl 5o KVEY Cooad ouds um.n.ﬁ.a{"}h as Syl gu dalh y aakad ju -00Y
For i:=1 to N do (Sl o2 644"N)
For j:=i to N-1 do NN-1) (A

y:=y+1.0;{*} N(N ]) /2 (Y
NON+1) /2 (v
N (¥
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‘,A_‘gJinusddsdeﬁiuayain&;‘a@ijjMl&ﬁs\.ﬂab’slﬁljlw -00Y
Gl alas o gudi oo diiudi gt

Eps:=-1;

While Eps <0.0 Do Oadiba Lo Giolad (LB e sae (0 38 5 ()

e i output Epgy; == 199 210 D230 1EPS 2ol o 5 e Fps (¥
Eps:=Eps/2.0; Cadile 5o Giolad LIS &iasae 0 3Ks oS (Y

End; \;Lssg.f@ (¢

fugudiss diedign (52955 9 S 332 42 ) Ol aagi b —00F

A:=10; 0

B:=5;

C:=6; 2 (y

D:=11; 3 (¥

TF A<B then TF C<D then Write('l")

Else Write('2") 4 (¢

Else IF C<D then Write('3")
Flse Write('4");

Gu g o0 I 4ol 5l dleWPitEJ‘g:u.ud 2 4elh dalad o -000

For i:=0 to 100 do 5050 (v 4949 (
For j:=i+1 to 101 do
Write(i,j); 9194y SIS

94_9...53‘:0b._;bledles._.s:\]ﬁQﬁjmuﬁderiteJP{gIFJPd RAIA Y

For i:=1 to 10 do CFRRANA
Begin & LAY (Y
For j:=1 to 10 do
Begin Ve LYY (Y
For k:=i to 10 do Yo, Veee (¥
Begin
IF (i=j) And (j=k) Then

Write(i,j);
End;
End;
End;

S uaali ]y g S ju oud diudigh jualia § 99 (slelaatly gina sl yal b —DAY

M:=1; .
K::Z;, 4 55108 olael (3
N:=11; MBS 058 alael (Y
Repeat
RN lael
Write(M); A G anaa slael dan (¥
M:=M+K; WY B sasliel dan (¥

Until M>=N;



v 9 Yol Jle Guudidb Cud 1060 [ 1FF

Sl el.AS By daols ju 29,5 ~O0A

X:=2; 5 ()
For i:==xDivx to Sqr(x) Do
For j:=i Divx downto iMod x Do VP
x:=Suce(x);
Y (Y
Writeln(x); (
A (¥

...\:\lSo:a:\.’.ﬁlJTOtalJlﬁaslﬁ&maﬁ:ajs‘gaelsw%abﬁjmuﬁw -8

Total:=0; (ol 2 31 (55 9 Cuin s vas SN as wiis (13 )
While N<>0 Do log N (v
Begin
gN:=N Div 2; log N-1 (v
Total:= Total+1; log N+1 (v
o log(N+1) (¥

Guguli o d g dols 4 o2 g5A ol 14 vue (g4l g (5 jLdisl (5 uatia k &I -OF
Case int(k) of A o subea el als (

(
3:Write ('3'); 3 (v
4:Write('4');
End; 4 (v
34 (¢
M:=0; Suguiion 4y dalliyy dalad (o2 9,5 —0FY
N:=8570; 8570 (1
While N>0 Do
Begin 7580 (v
T:=N Mod 10; 857 (v
N:=N Div 10;
M:=M*10 +T; 758 (¥
End;
Writeln(M):

IS0 il o dn p 4ol ¢ 52 wilily St g praas wse M 31 —0FY

S:=0; 0y
While M>0 Do "
M ats \f
Begin pBL! fsane (
S:=S+M Mod 10; M sse (¥
M:=M Div 10; - -
End; M alal slaas (¥

Writeln(S):



1Y | IS g bl Sty Jab

Goudi oA g8 il an wu B 15l ) a8 da JiSuly doll 0 S ) Fand (S -0y

A:=4234;
B:=10;
While A<>4 Do
Begin
D:=A Mod B;
Write(D:1);
A:=A Div B;
End;

Var
i:Char;
Begin
Repeat
Read (i);
TF i<>"'"' then
Write(i);
Until Foln;
End.

Var
L:Char;
Begin
Repeat
Read (L);
IF L ="' "'Then
Flse Write(L);
Until Eoln;
End.

ii=1;
While i <= 1{l do;
Begin
Write('i =', i);
=i+ 1;
End;

Var

For:integer;
Begin

For:=12;

Writeln(For);
End.

Qosud AlS ) ol s sa 9,5 ~OSF
WS e 1 (5 SIS g (3
e a1 3l (sla SIS 4 (Y
Space ;&1 o€ o ola 1y of s lga o1, SIS S (7
Lapyt s alald (g g 0 o il s 509 31 1 La LIS (Y
e gla

Sl alaS yuj dall y duis ~OFD
il oo oly (JA LA S Space s 151 4 ()
i s 15 Space s sla SIS (¥
ke pe ly lan S oal, SIS a (¥
sl o oy 15 Lag T Ld 4 Ha (¥

Gu gl ol pal Hlais 4u) alls -0F5
b

Sl alaS 3 dalip g2 g, —OFY

o For s a sty Writeln ('For'); <1 (y
S o ola 12 5lade 50 g go 1al 4ol (Y
SO R 5 a s e hal dabi s (V

(
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Var
A,B:integer;
Begin
Readln (A);
Repeat; Until A >10; {1}
For B:=1 to A do; {r}
While A>=0 Do A:=1; {¥}
End.

Var

A,B,C:integer;
Begin

A:=1;

B:=2;

For C:=A to B do

Write(B,A,C);

End.

x:=25;

While x <> 0 do;
x:=x-1;

Write(x);

For i:=1to 5do;

For j:=5 downto 3 do; BINAR

Write("AZAD");

For D:=1 to 2do \
For R:=-1 to 2 do
For C:=1 to 3 do

For i:=1 To2 do
Begin
Write (i);
For j:=1 to 2 do
Write (A");
End;

AEEEASPRATRL
Ny
ivp (v
{v} (v

Qs el.AS Hyaels o g A -054
111222 (v

(
112212 (v
211212 (v
211222 (¢

Sy | \:I.JS Jol8a ol daded 29,5 ~OY-

0 (3
1

(¥
25 (
(

=1

Gu g o g\e 4 ya .ASA_:AZAD dals —OVY

ske ()
Sy

Qe {al.AS (M J..nlJ..nR adla J|JS."| alaas —OVY

YF(\
ALY

QL’MI‘QIAS‘SJ..!‘SJMEIJ..IM@‘SJA RNAR

1AA2AA (3
12AAAA (v
12AA (v
1A2A (¥
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Var
x:integer;
y:Boolean;
Begin
x:=1;
Repeat
Write (x:3);
X:=x+2;
yi=(x=11);
Until y;
End.

m:=5;
For k:=1 to 14 do
For c:=1 to k do
m:=m-+1;
Write(m);

For x:=1 to 3 Do
Begin
For y:=1 to x Do
Write("®') ;
Writeln;
End;

A:=15;
For J:=10 to A do
Writeln(A:1);

Var
izinteger;
Begin
For i:=0 to 3 Do
Writeln(i = i);
End.

* k&
L

(¥

Gosed alas g9, aols o (29,8 —OVF
Vo5l S58a S el wlael (3
4 G Vo olsel (Y

(
(
Vage (¥
Run Time Error (¥

Gl ja) dalh i 4SS g8 -0V
AARN(

Ve (Y

V-0 (

4

=1

VA (F

Scsl alaS g3 dcli (295 ~OVF

% (\

% %

% % %
% (Y
%

%

Soun g, 4olips (29,5 -OVY
a2 535 14610 slael (3

a2 5a5 Tase SLS (Y

(
‘LAJ:Q]SU]O alael (¥
(

S| AJ_g.a{aldS;_sallejuuﬁ@_gJi -OVA

36 i 5l alael (3
False = le UL Llga (Y
True = be HU e (¥

ale Uaa (¥



Program Example;
Var
x:integer;
y:Real;
Begin
y=1;
For x:=1 to 30 Do
Begin
y:=y + 1/x;
X:=X*2;
End;
Write(y,x);
End.

S:=0;

For C:=1to0 20 do 200 (v
S:=S+C;

Write(S); 35 (¢

Var
i:Byte;
Begin
For i:=6 downto 1 do;
Write(i);
End.

Var
x:Real;
i:Byte;
Begin
x:=1;
For i:=1 to 40 do
x:= 0. 5*(x+144/i);
Writeln(x:0:1);
End.

M:=1;

For i:=1 to 6 do
M:=i*M;

Write(IM);

v § Yol Jle Sudid S 104 [ 10

‘?Cuulelds‘gﬁ‘”mllﬁ@‘”i -OVA
1.5428 E00 15

(
1.5749F00 16 (v
2.5428 E00 30 (
2.5749 E00 31 (¥

Sl {;l..\.S JolEe daldy s 29D ~OA-
210 (»
100 (v

S ?I.\S‘gﬁ‘” dally o2 95D -OAY
6 (»
123456 (v
654321 (v

1(y

God aloS a5 abine ag0a —OAY
3.6 (A

12 (v

12.0 (v

144 (¢

S v {AIAS Jildo doll yu 2 g A -OAY
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a8 ) S g d ol s (02 953 U pada 8 ouudi paaali Joo ju 1) (5500 4 —OAY

Writeln (y
Program Exmple;
Var Read (Y
i, j:integer; .
Begin Write (v
3:=0; Readln (¥
While j <> 3 Do
Begin % % %
For i:=1 To 3 Do
Write('*'); * % %
=i+ # % %
End;
End.
Guudi op g5 ouablilia Jus dd (D9S3 99y als gl al A1 ju —OAD
Program Example; 0020608 asa(M
Var .
xytinteger; 00.040.16 0.32 0.64 a5 (Y
Begin 00.040.160.360.651.0 as,a (¥
x:=0; . .
Repeat .JJ‘J Uas ML‘).:; (‘c
Vi=X*X;
Write(y);
x:=x + 0.2;
Until x<>1;
End.

Seand alos count jludo 3y delh w51yl 3 (e -OAF

=2\
For i:=1 to 16 do
count:=50— i*3; 0 (v
2 (v
98 (¥

Guadila oo adia 38 51 Saalas Wrrite(i) ) gis 29,5 —0AY

For i:=1 to 10 do 10 (y
Write('Hello'); 11 (v
Write(i);

1,2.3.4,5.6.7,8.9.10

v
1.2,3.4,5,6,7.8.9.10,11 (¥

(
(
(
(
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8 & o yo While (x And y) do Writeln('Hello'); ddls b puii crlls alas ju -OAA
S True ju aguis
Sl N el 50 58 Sl 5 aiBl 3 S 5l g ey s XOST(Y
2l True sl s 59 52 5 (ilaio siie 50 5aY 5 XOSI (Y
Liby = True s X = 3y Jlade SIH(Y
sl True Lagi 51 (S olatie 5 Gilie aie g0 58y s XS (F
Sceedd afas Until ;While , For b ji (gladdls 3 9,5 b ol -OAR
True . True . False (¥ False . False , False (%

True , Ture , True (¥ True . False , False (v

Qe alas g 3395 5 gt 5l ol aaaih -0«
For i:=3 to 6.0 do

Write(i); 345 (v 3456.0 (v
pasie gllaa (¥ 3456 (v

For i:=1 to 5 do Goguiion o 4S5 5l 330 9 a9 la g 0O
For j:=12 to 15 do 15 (v 0
For k:=8 downto 7 do 40 (¢ 30 (v

Writeln (i*j*k);

Qo ‘AI.AS Hyaabp agyd -0AY

Const
a=12; sl 2l 000

Var ol bale For aala (Y
t,m:integer;

Begin 10111213 141516 17 18 19 20 (v
t:=0:] 20191817161514 131211 10 (¢
m:=
For m:=10 downto 20 do

t:=t+m;
Write(t);

End.

Sl {;US Py o DA -04Y

For i:=1 to 5 do True = ,le JL5 ()
Write(i=i + 1);

False = ,le SL5 (¥
56T slael (v
(

JJ‘JUQ.; ¥
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For i:=1 to 5 do
Write(i + 1);

For i:='A' to 'C' do

For j:=False to True do

For k:=8 downto 7 do
Writeln(*Saeid');

For i:=5to 13 do
Begin
Write('i =', i);
i:=i + 8§;
End;

Count:= 0;
Stop:= 4;
While Count < Stop do
Begin
For k:=1 to Count do
Write(k:3);
Count:=Count + 1;
End;

ol laS 113 ) gheis (2955 -OAF

Tl‘ue h:JJL}-C: ‘)Lj 5 (\
False = le JL5 (Y
561 slaet (v
(

6 52 sluel (¥

Gagudien JSI 4l w3 g g ola Hgie —0D

0 (»
12 (v
6 (v
asls e (¥

1=5()
i=5.,1=13(
1=13(

13 5 5alael (¥

qd--ﬁd.M_gAg::\eQddﬁba‘ﬁ‘“a)smdl.&.ul.}mbf&)‘,lu.:m.n.usﬁ| -08A

a:=9231;
b:=10;
While a<>9 do
Begin
d:=a Mod b;
Write(d:1);
a:=a Div b;
End;

9231



Sum:=0;
For i:=1to 10 do
Begin
ReadIn(N);
Sum:=Sum +N;
End;
Writeln(Sum/10);

k:=0;

For i:=1to 5 do
k:=k +i;

Writeln(k);

Var

i,j:integer;
Begin

J:=0;

For i:=1to 5 do

w9 Femall Jlo Gudib S 104/

10f

Gy oo aladl Llac an ju) aaliys asi —0AQ

> (
» By alael L}.\SAL\.A L‘_;. (Y
(9508 dae V- Lo ols (¥
$9508 332 V- poana la (Y

Guda o GLts ]y (gaas dn ) dalh s ash —Foe

50\

(
S5y
(

(

=1

5(f

Goreal wiaa j padio Hlale ) O giea (g1 50 Jlaas —£+)

TF i Mod 3=0 Then

je=i i
jr=its
End.

A:=3;
For B:=5 downto A do
While A<=B do

A=A+];
x:=0;
yi=1;
While x <5 do
x:=y +1;
x:=0;
yi=1;

While x <5 do
X:=x +1;

Sugd ab g win A Julo juj ol gheun (1ol by g -F+Y

4 (v
6 (¥

Sbsas (Y
sbof(f

SLoda(Y
sbo(f

3 (y
5

Q.dﬁgaJlJS:nJl..ndlex‘}‘@Ja £y
JJ‘JU&’&]A(\

b el s (7

S giien ST Hl i g5 ddls - Fof
asls Ue adla (A

Sbeulg s (v
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Gl uaf g3 Wi yu) O 5 gieus (81 ) 31 (s SUM yudio slade -F+0

Sum:= 0;
For i:=1to 4 do ¥Y (¥
For k:=1to j do vy (¥

Sum:=Sum +k¥j;

Sum:= 0;

G uf 63 Wan 5u) Ol gis (150 3 s SUM judio jlude —FeF

R Y¥ (Y
For i:=1to 4 do
For k:=1to j do AR\
Sum:=Sum*k*jj;
Sum:=0; (¥
For i:=1to 4 do
A (¥

For k:=1to j do

Sum:=Sum*k*j;

For i:=1 to 5 do
Write('TANHA' , 8);

i=1;

While i <=5 do

Begin (B
Write('TANTHA - 8);
i=i+l;

Fnd.

i=1;
While i <=5 do D
Write(TANTHA": 8);

i=i+1;

JJ‘\’AW(“ A,C (Y

#0 (\
v (v

av (\
. (Y’

Cuudi aaf g3 1al 4l sin K adla —$aY

Ve ()
VP (¥

Guaiily o a1 38 AluS g9, dlla Julaa —FoA

i=1;

While i <=5 do

Begin (A
Write(('TANTHA': 8);
i=i+1;

End;

i=1;

While i <5 do

Begin (C
Write(TANTHA": 8);
i=i+];

End;

B.D (v A (A



v § Yol Jle Suudidb Cud 1040 [ 10F

Gl s JiSiily Gl g g aolh y daked alas —F+9

For i=1 to 100 For i=1 to 100 do
Write( TANTHA" 8); (¥ Write( TANTHA" 8); (1

=1 j=l

For i=1to 100 do; For i=1 1o 100 do
Write( TANTHA" 8); (¥ Write( TANTHA" 8); (%

j=1 J=1

G rasais Jlseuly L g0 ) 4ol y dnded alas £\

Re peat Re peat
Write(i); (¥ Write(i); ("
Until Until j<10
Re peat Re peat
Write(i);, (¥ Until j<10; (*
Until j<10; Write(i);

Gl s JiSiuly Ly o ) dall y daled alasg -1

IF A= B Then
IF A> B Then Wrire( A
y .
IF C>B Then (¥ riteld: s
. Llse
Write('fure");
Write(B3);
Fori:=110 10 do (* While i <10 do "
Write(i:8); Write(i : 8);

el alaS raais R ol8 T wudls paais sas SUX I yu) Hgtadadagil —FYY
For y:=trunc(x) to Round(x) do;
S o 1SS 5 o Al (Y S pa SIS L S Blas adls ()
s silia ha aliy (¥ s et 1,8 Sal aila (¥

Caay o {alelal slas 4o S gl JAJAEXitH.‘.:_gJ.g -£\Y
bl 4l S pana (Y flas Sl 51 sl g el JaS Jlaml (v
plaSaua (¥ Lolisess (Soal (¥
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QM‘AGA ("?"l gs'l"‘"' “ ‘ou—j o Breakw‘gﬁ _F\¥
128 Sl S psla 4 4l Jows Jlamt (Y Koo sladla 4y 4ol JLoS ()
Al se 4an (¥ ala S glal 4 ol aala (¥

quidl oo  ALdGI “ aibs dols yu Lol S gl JAEXitJ*ung Al 210
bl o daila alialddl aali s (Y IS o laay aalot 4l s (Y

SOl R (e Sl ol o by JoTS Jlaml (v

G asis du S alas —£VF
Sby adla JAl [ gies asal g2 o 4S8 g o saliind a3l go 59 While... Do gis (A
e Tasae w3l conyuls (s sl eala 6 55 5em 50 Gupen 3 gt Ll Lain
s gad ad S W 5 s
adla LAl 55 eun adl g2 co 4S5k o saliied] a3lse 5o [F.. then.. . else yiu (¥
Dat Tooae adila il cinpnls s cobe Joala aSule’y B a5 0t Lyal Sl S
st et Ll LS ¥l g snit
Ob aals (Al Sty asalsa o 4S5 gl oo aoliinl all o ;0 Repeat... Until gis (¥
Dt ils Tosas ol 50l Jos osbie bala a0k B Gusen s 9t ot Lata !
o ead al Ko Mg a5 a
YooY aslse(f

S&l rasis Repeat-Until j giis 0540 j0 dujS alas -2V
...\..iLla,s‘}luQTJbSS clads aS o o saliioad Slo) adla pon ol 5H(Y
oo sy Lagd ool o mbl [gien ) QR dila AL Sl gt 4SS g Su (Y

el g S e g
ol Sl &y i q8la ol st ol ool dila Jos osbie bala oS S5 50m Ju (F
Y

K e peddie 1 dila gl 5 lonl Until s Repeat ¢5ls ;a0 =LK (¥

il s gbua For g givus <0 jo aalgh jlulo g anl gl jlade &1 —FYA



v § Yol Jle Suudidb Cud 1044 [ 10A

Qo &;@While‘gRepeat DS sladila vy g0 o an K alas 74
sotaid Laaol ;T Jo While 5053 o sulaiad Ll 45 L g e sladils 5o sidus Repeat (¥
.JJ—A—’.&GA
salancd Lad..;“[ﬂ BE) Repeat\,_x\,..:zu.a astaiidl (Lo 45 b g yo (sladdla J._a‘)l.ie.:;Whi]e (¥
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alosaaa (¥ Var C:Array[1..10]of 1..10: (v

Gl pretis 43K alas gy dall A d:ﬂJi Oul g (sl —FYY

Var A:Array['A'...'F']of Real;
I:'A'LFY

For I:=ORD('A") to ORD('F') do ReadIn(A[I]); (\
For I:="A' to 'F' do ReadIn(A[l]): (v

For I:=A to F do Readln(A['T']): (v

ReadIn(A); (¥

4 3uben pladl las dp )yl —SYY
Var

X:Array[Char]of Array[l...20]of Char;

gk o slagl (g R Luaddl sl Ve g (gude Guadt Sl YOF U glasl Ll (3
alas) SSILLS £33l (gane Guandl st Ve RS Gasadl sl YOF L (glasl T (Y
(SLIE (gl gima) gt o

g o ol SIS 6 51 0 ghn Ve g Sl WA L glaal, T (Y

s ge salio Ul alisy g caest Slave u el Cal (¥
Obaliol |y uya V+ gaudila pA S gauditla Vo v &l yah (0 )S yedadio gf o a8 alus —FYY

audily 0 R oula

Student: Array[ 100,10T; (

Student: Array[100.10]of Real; (¥

Student: Array[1..100,1..10]of Real; (v

Student: Array[100..10]of Real; (¥



v 9 Yol Jle Sudido S 104 [ YA

el S go T (sums o GBalia aal T Chajah ) sladiu 2 31 Saalas —£Y0
\) Var T:Array[1...20, 1...30]of Real;
Y) Type index1=1...20;

index2=1...30;

Var
T:Array[index]1, index2]of Real;
yv) Const

L1=20;
L2 =30;

Type index1=1...11;
index2=1...1.2;

Var

T:Array[index1, index2]of Real;
\c) JJ‘J.A 4ad

3 Gl &3 ylas AtArray|-3...3,2.. 7] 4l )] polis olaas —FYF
\Y (¥ ye (v Y& (Y Y (A
Aol a3 s (s flBe Loy sl ol jloy o g daly Iyl ) 90 g 23S plus —EYY

sl o
sl 5 aolin ey 4 T Gunal usie b ol el s gm @ alLT Jlesl 50 (3

.JJ.A.:LGA
._!J‘..\;Ls.a:ﬁ:ld._n‘_)‘idu‘)d’f‘)iilnLa“GJ‘AL‘)L‘JEQJH@M“‘JYJL.HJ‘JJ(Y

v

g sl 58 daliy a5 s (g MEa HRally e b 4l T Lt o
s oo ol aalip el 4 4T Guoal suate SRall o see 4 4lLT Jlast Lo (F

sl s Ladal 5T g Ladalh puajga ja 43S alas —FYA

ity s leal el 4 1y el T il g5 e 0 sa Al b a3l ()

il K et el 4 15 ayl,T il 55 e asa Al b a5 (Y

A o B yeme gl dlabla aili Al b Lol @by g 4T sl S (Y
il & s sheat daling s 1y 4l il g5 pad 0 sa Al L Al (¥

S S ala g 0 guli Sl dall g S s g2 ge L e &y gus s sl )T 81 —FYA
Aol juyay Of gae bad ja (sl 5T yial jly a yali (51 dalS alus jf dal ) (5 giae i
IS pa ouldil

Label(¥ Const (v Var (v Set (»



AL | BalsTA Lab

el paiie Wi (6l le gy S pah juTest aulyl —5F
Test:Array|-9...15]of integer;
Yo (f Y¥ (¥ VE (Y e (N

q&%&&ambfu&@‘gﬁ -£f3

Var A]l (\
A:Array['A'...'L'|of Char; LGA o Y
i:Char; S

Begin AL (v
Fori:="A' to 'L' do la s
Write(A[i]); Saoa(f

End.

rdilagn gy & g il T i jan —FFY
Var x:Array[Boolcan]of Char;

sibie g g3 51 glOtA YOF glasl T (Y sibie g ST glata Yol slalot (A

SELIS g3 51 glasla ¥ gha T (¥ e gy il sl S (¥

S co Jadl abidla jo culs s AtArray[-3...7]of Real;adf,i -#fY
#5 (¥ fo (v V£ (Y (A
Gajla geie wia x:Array[-7...5lof Word;al,i -#ff

Y (f \Y (¥ o (Y Y (\

slasl,l £ 93 an Var C:Array[Boolean]of 1...5;c ) gems onit (i a5 aul 1 -FF0

vl

s g5 5l s e O (Y aagama sy #1655l (s ede ¥ ()
wala 5 o siae 8o Gl (¥ s 58 5 sgae OB (F

Gayai Var wiArray['a'..'z'|of 'A'UTM'S O gean W psdlic asiul aw dan gi b —FFS

atewr] &a.;m.w}a{alds osuds
wl'a'|:="a'"; (¥ w['B':='A"; (v w['x":=T; (v w[z]:='A"; (A

ol Conurya padio alas —FFY
Var D:Array['sun'...'fri'"]of integer; (\
Var C:Array[-7...-14]of Char; (¥
Var B:Array[100...17of integer; (v
Var A:Array['A"...'M'of Real; (¥



v § Yol Jle Sudido S 104 [ AT

Var A o LS Ty (gaas dan ) oy —FFA
a,b,izinteger; 0011
n:Array[1...10]of integer;
Begin 136 (v
a:=12; 631
b:=2;
i:=1; 1100 (¢
While a<>0 do
Begin
n[i]:=a Mob b ;
a:=a Div b;
ii=i+1;

End;

Writeln ;

For i:=i-1 downto 1 do
Write(n[i]);

End.

IS o JUd aldila ju culs s g dalyl -SF]
S:Array|1...2,1...2,3..4,1...2,1...2]of integer;

e alint eyl T (¥ YA (Y YY (Y ¥ (N

Var il ol T alas g af )T Jalaa —£0

x:Array[0...255, 1...10]of Char;

x:Array[char , 1...10]of Char; (\
x:Array[char]|of Array [1...10]of Char: (¥

x:Array[(...255]of Array [1...10]of Char; (v

(¥

JJ‘J.Q‘LQ.A

Qe {ahSJ:aJ Mﬁfé&bﬁ@‘gﬁ )

Var -
A:Array[1..10]of integer; A gl L 4T S suebie 8
i,temp:integer; A o GesSaa bl K palie (Y

Beg;;r i==11t0 5 do SEr ousSae 59 4 L ol S sl ¥
Begin alaSasa (¥

temp:=alil;
ali]:=a|11-i];
a[11-L]:=temp;
End;
For i:=1 to 10 do

Write(Ali]);
End.



AY | BalsTA Lab

Grcdl alas ALAI (6 jluucat ja (sligy yo J gl dls 0 —FOY
S e bols el b g L1 s 0558550 b e sKs S (N
S b 15 900 000 b Lo e S SIS (¥
.’,:;Su.amemQTL;JtSuchbu.cﬂ(Y
prS ool ool b g (F

3 gl i yo 5T 6 ol 2 3Y (430 g5 win Bubble Sort 6 gy o gs -£0Y

n (¥ n-1 (v 7 '\ n (\

PS5 50 (S0 530 &1 9u At puad 93 o0 (AT (¢ Sl po g |y ) sl FOF

M‘dMlj&lJ&zﬂ.‘bJ%eyﬂJéﬁJd
17,4,8,9,15 a0l gf vt

4,8.17,9.15( 4.17.8.9,15(\
4.8.9.17.15(¢ 4.8.9.15,17 (v

i ol Glig ) s (g Oy g d GBS a5 35 12,2, 10 el -£00
SR
DY (¥ SET (Y SEY (Y SN (A

S A gt i 4 Jishas lis lig) d s paie ) )] S (giluciipe sl —FOF
HJ‘.A
Voo (F oe (v YN (Y 8- (\

Gl (65l yo £ g3 A g ) el 1 -£0Y
For i:=n downto 1 do

Begin s b (0
For j:=1 to i do (g8 oalaa (Y
Begin .- -

IF x[jl <M Then e

Begin (gosria olAS (¥
M:=x]jl;
index:=j;

End;

x[index]:=x[i];

x[i]:=M;

End;

End;



v § Yol Jle Suudid Cud 1040 [ AF

Sl b s (PASA (6 5l yo L sLJIJi S Lagaa gt wluas —FOA
n-1 (¢ n o (n=1)n-2) (v n’ (3
2

o (A9 S (Sluaci 5o j sulilaga 1 VY YO TN LYY O guas dad of ] -FOR
253 02l g3 (LS dn da Conal a ga 538
Y OYO YN ¥ FY N (Y VYO YN Y F N ()
V¥ cXYOYY XY N (¥ V¥ eXYO N oYY YY (Y

O3S 0 Cnid (o 9 30) A jlisi oo o g0 (LAIT (6 e po (yhi gy ) i Soesd —FFe

dadgl ol 1, VY, V0, YY), ¥4, ¥ il o SV 3l S AlaS O ged a g
VO CEN N YN YRV (Y VO YWV LYY YA LFY (A
VO FY YA YN AV (F VO EY YALYY Y WY (Y

ol ranis (gaae pu glaciint (g jluusl pa o 4o 50 4 S alas —FFY
LS gaae b slasals 535S e (gl e gl (Sl o slagiig ()

e

Sla 1 usa Gela glao lasbtind guae e glaci] gl S ye slagig, (Y

LS 5 suse et slanals S (e sl suse staci] (g5l e slagig (Y
SXB L

Eels (gose b glaca (gl soae lac o g obucs o glagig, Guon SIS (F

s oo (5l po ad yiag s

Guda g (L 15 (saae dp ya) dalh o —FFY
Var
a,h,i:integer; (
n:Array[1..10]of integer; 13 (v
Begin
a:=13; 3
b:=2; 1101 (¥
i:=1;
While a<>0 Do
Begin
n[i]:=a Mod b;
a:=a Div b;
inc(i);
End;
Writeln;
For i:=i-1 downto 1 do
Write(nli]);
End.



AD | BalsTA Lab

Iy ouyd Qi ily » A4S gl Bla 0y O jah oy S (padidia (¢f p ju) du S alus -FFY
Gudily oo grasais saly (yladial
Student: Array[50.9].Real; (v Student: Array[50.9]; (\
Student: Array[9...50]of Real: (¥ Student:Array[1...50,1...9]of Real; (v

Sagls gude a1y Ky pad balyi —FPF
Var A:Array|[0..2,2..3,3.4,4..5,5.6,6..7,7..8,8..9]of integer;

e VEA (Y seae YAY (A
e Slayl L 4l ol (¥ seie \AY (Y

Var SuiS o0 wlaal (£ 53 42 ) S sl -FFO

C:Array[Char]of 1...100;

S o e Ve B G ol b 4S 0 o alal La SIS o lat il U slaal ST (N
ol abidsl (i yan ol (Y
Voo LV as e pa laBeaSag s o obayl Sl gla SIS oml b ghul T (v
Sl il g e

S e obadt SIS pgi 51 sliaed L aila - - glagl T (¥

@laal )1 ¢ g3 aa Var c:Array|Boolean]of Boolean; &) gucs ouih (&3 ya5 aal )1 55

St
s g5 Sl saeae N (Y o g8 Sl sae Y (N
JJ‘JLE'AJQAQL‘HMGAPL‘E‘(\‘ (_;JJ':’CJ;J‘LSJ-‘-A‘-OH\(Y

Sayls geae win X:Array|-7...5]of Word; i ;1 -£5Y
13 (¥ 12 (v S(y 2 (N
Var W:Array['a'...'z'[of 'A"..."M'; & ;g W pudio a <l asaagi ba —FFA
Gl prasis 0 ga alas Coul ouui L yal
Wl'a'l:="a’' (¢ W['B'T:='A'(x W[ =Ty W[z]:='A'(y
G gudion JUil alidla Culy i 515 S yad Sas &y gue ja PP

Var Auto:Array|1..2] of Array[1...2] of Array|[l...2] of Array|1...2] of
Array[l...2] of Array[1...2] of Real;

a2 ()
el YAY (Y
e Slave By et Gl 5 058 Rl gum Dlen B e, T ol e b33 SISl Su (Y
culs Yor (¥



v § Yol Jle Gundib Cwd 1840 [ VAP

QS g0 Jladl alidla ju cubs s AtArray[-3...7] of Real; ail,i -#Y+
66 (¥ 40 (v 16 (< €4 (v

Gy 1) g 4 s s )] (o3 (5 gaun 59 -V
sily e gusaea (Y sl e (o5 ()

(s aas oo a) waby sad e (f Al 4S C e a4 (Y
G gl 1SS Hle o SWAP y1 dals e o sl ya @ gl )T ST -FVY

w| [ [ | | |

S5¢¢ 4 3y 7

Jas uin gubs cidla o )T S Gl pealie A gl e (QAIN (5 3l po gy go —FYY
S5t e plodl duwlio
64 (f 28(r 20 (v 49 (3

CAJ\_.\.:AwﬂuuuﬁmwlGlﬁb!ﬂ%‘n‘&]J&ngJﬁjmuﬁM -SV¥

........... i R | f
For 1I:=1 to N do s
For J:=1 to N do hea (O
Begin TL ol tadsl o aea U (Y

IF TI<>J Then A[LJ]:=1;
IF T=J Then AJILJ]:=1 0L ln Lagos ana by (v
- dl'CIse A[1,J]:=0; TG sl slaasl o b Ale ol (F

nd;

ol y aila aS ilady ol cod e o p(D=T, 1=1,2,..,100 wis 5,8 -$YD

T:=1: Q.C_\.n.ubﬁe_ dj.n.ﬁu.a
While P[T]<50 do 3(\
Begin
P[I+1]:=4*P[1]; > (f
I:=1+1; 12 (v
End; 15 (¢

Q.A:QSAT:&SSIIJ&\M@J'SJ::‘}MDJ*MGIJ.?IJ‘W e Ld
For J:=1 to M do \
Begin X
I:=M-J+1; X[I=Y[]. =1, .M (
IF Y[T] <>X[J] Then X[T]:=Y[J]; .
End; i 1l M==VII] MXL;LAUJJAMUAJAYGLAUJJ(Y
(

At wSe cga s X glaaglye Slaa Y gtaasl u (F

A\l



AY | BalsTA Lab

IJ&\L@@fﬁj(@ulN*N,Awﬁudels@ﬁ)delslﬁlbxjuuﬁubb’ -FVY
For I:=1 to N-1 do fanis QLA A (s yilo (4o guad
A[I-L1]:= A[LI-1];
ol e A Ll sy el Sl YL llae gladl e ()
c S e 518 ot s Ll gladl e su A e i shd gladl e (Y
S e A et Sl ey Shbie glaasls so A sl Ll (YU glaal s (¥
i€ o I8 et Sl (oYL Shlie glaa e 5o A sl Sl3 ) slagyla (F

QﬁlﬁAuueJﬁLamuxuﬁdel6|ﬁ|j|uﬁ%d€x§eﬁl‘}db‘ﬁjuuﬁw -SYA

For :=1toMdo o pibo
For J:=1 to M do Sea ol Ladylu dan ()
TF 1>J Then R . R
Begin Ss byl o 4l 5 s il k3 slaggh o (Y

AlTJ]:=1.05 S ol sk sa) sladalos g sdua sl sy (kS (gladsl s (7
AlLT:=AILJ]; . . " -
Fnd s slos 5B b glaela 51 (S ilaa G ot (F

FElse
Begin

A|LJ]:=0.0;
A[JL1]:=0.0;
End;

fas & 130 gy ge ) dall s ankal cadd Cuoiig o P(=1, 1=1,2,...,10 S (45 59 AL

I=1; e leCAmIﬁIﬁIJUﬁa‘LauﬁMoelslﬁljluuﬁ
Repeat 4 (3
Begin
P[1+1]:=P[1*P[I]+P[I+1]; 5(v
T:=T+1; 6 (Y
Until (P[T]>=1000) OR (1>=10);
10 (¥

slal 5l w(lele:.st...B Ny N*N s 15 ,8)ais al 1) ) dold pu dalad —FA
For i=1to N-1do o ol dalsd Gl
A[LT+1]:= A[T+1,1];
358 o158 B lial 5hd gladsl ju 5o B e i shd gladsl o (A
S o basla B Ll Jla8 505 5 Loal 3 VG Skl glaal,s (Y
358 o 5158 B laal ki oYU bl gladsl o Lo Laal Jhad 4oy slliie sladul o (
358 o S153 B laal Shd 5 Sl glaaslyu su Lol Jld gVG kbt gladyl s (

Y
\c



v 9 Yol Jle Gudib Cud 1040 [ 1AL

jluu_ta(a_mla_.\ia&shwdd—ﬁéj Nd:uSuaJs).A:uSIﬁIIJJ:aJ dalh o dalsd M

...... tLaL':J..n dalsd o:al slﬁl
For I:=N downto 1 do

Begin
J:=N-T1+1;
IF A[l] <>B[I] Then B[I]:=A[l] el A sad Ui se B (3
Else B[I]:=A[J]; )

End; I=1...N, B[I]=A[T] (v

(
JJ‘Jld\g.?JB,AL;LAM“JJ&uJAﬁmL@J‘(Y
MuuSLQé%JJAL;LAM“‘JJ ‘).JJG.A ‘):'“):'B 6LA5_|“‘JJ \)J“JG.A (\;

alady slaasiI=1.2,...,10 (sl P[I]=2 o oo ad—o ey = P._\:us R -5£AY

e L col gl g pay dids ya {*} sl
While P[I[>P[I+1] do a3 ()
Begin s (Y
P1+2]:= P[1+2]-P[1+1]3{*}
I:=1+1; S (¥
End; saua (¥

(s N*N

For 1:=1 to N do _

Begin A S (Kaa e yile glaaslyn (3
For J:=1 to N da s e Kaa G sile (sladyl s (Y
Begin . .

K[LJ]:= 0; Ladslin sl 5 S hal i slaglya (¥
IF J+I:=N+1 Then K]LJ]:=1; AA Jien

End; - . -
Fnd; g S Glaalied b glaayloo (F

AL jaes Laagl s

{;I.ASL]Awﬂuuuﬁwwlglﬁljlwaé#JdIJJ::"JML]J..\‘LLhﬁ —FAY

For I:=1 to N do Gerul gl p1 (pua yila
Begin “Lea (\
A[LJ]:=1.0; e |

For J:=1 to N do She il (K ladsl o L (Y

(
AlT,J1:=0.0; Ladal oo 4l (g5 Jhum s Sl Csiw g5 S aae L (Y
End;
(

Ladal o 4y (g5 sias Jot Sl (g0 S sae L(F



1AL | BalsTA Lab

Goraua M s yilo w90 ju ju) 4ol g ol Jols —FAD

For I:=1 to 10 do el siia Gugsite MG it (3
Begin olie by 5 S lald Gl suabie (Y
For J:=1 to 10 do .
Begin ol S

M[I,J]:= 0; ‘)_.:“).:: M u“;’ﬂl—" Jj‘ ) 9A_u.|- )-4.&‘3.9 (Y
IF 1+J:=11 Then M|LJ]:=1; . .

End; Sl Shio yialie 48 5V I M G sile Jol Sl salie (F

Al T laSa an 613l au ol o3 g 80 K[TI=T abasts WK[T] , T=1,...,20 ail )7 -$AS

fasbygo aadld 15

1:=2;
While K[T]<20 do 40
Begin S5y
K[1]):= K[1-1]*3;
I:=1+1; 19.(v
End; 20 (¢

oJ_*ai&Jlﬁ.aJ:aj Mustlﬁl JIMMUN*NMJJLA.S::AA:QS&JS —FAY

Sl {aldS TJ.A Y-
T:=0.0;
For I:=1 to N-1 do Sl s A Lalld 55 Sl Al s ()
T:=T+A[IN-1]* A[I+1I]; A e
J.;“:)J‘J‘)..:JA ULA‘JJQEJ.;“JJ‘J‘HGB‘J g:J‘)-I-A(Y

A ek YL sl g A Ll ks (YL Sl lals coes (7
A esisls pad olase g A Lol jls YL Sl (Jals s (¥

o Sl (45 9 380 Jlu ;e X g M*N s yila O e 4S yu dalh o aalad (gl ol 3 s —FAA
..... 4 o S oo Al g i (False) e juls jlude Flag jusiia
gz;i::‘ to M do 2l X (g bae A ol Mk (\
Flag:—Ture; (sl Callae Laasla (€)usly X Callas A oI Mk (¥
For J:=1 to N do

IF X[J]<>A[LJ] Then
Flag:=False; X o Gl sl LA at MjLaw 51 glaagl o (¥

End: sl Gl

sl X Al A gla e aea (¥



v § Yol Jle Sudid Cwd 104+ [ 14

1) aolh ys aalsd (gl ol 1 s —FAR

For T:=1 to N do X(D=YD).I=1,...N (»

Begin s
J:=N-1+1; Y(D)=XN+1-I) . [=1....N (¥

IF Y[1] <>X[1] Then Y[J]:=X][I]; .. . -
End: I I [J1:=XT] atiea X gladyljo sad Coge Yo gladslo (Y
wilaid S8 Y sladglya oo i 40 X glaala (¥

029580 9NN (it yilo sty 0 alad A Gt 5ilo (59, (olos 4n ) aslips —FAe

<
Sum:=0.0; (Eow
For 1I:=1 to N do
Begin

For J:=1 to N do
Sum:=Sum+A|[LJ];
End;
.Alsu.ata.;.bAGLA“)LEL;YLg&]:AL;LAM"JJMJGLA‘)LEL;JJL;LAM"JJ(\
Soslige s s LA ol 4 s (gladsl yo g sana (Y
353l s 4

U‘eﬂl_aslﬁbouiamqiﬁﬁjdelslﬁlIJJeJ'CAJHMuJ.!&JJ'Iu_..ﬁ';_! £

s sy M*M, A
For I:=1 to M do - " ’

For J:=1 to M do e G sile S (A
Begin Ste (sl (slaggl s daa by s yile S (Y
IF I<>J Then A[I,J]:=0.0;
A[TJ]:=1.0; S b gladsl o cea b G e S (Y
End; plaSaua (¥

L 5l (81 (oS00 (LA pumadl 31 uldivad (ylSal oo gadall  slgals) 5f (B ja —FAY
€15 s st (31 9100 538 00 IS (00 (SLa sl aS | (ilada ol LT wlar uga g
G 1 et gadall j1 Gla 58 o Julao (glaall o
Aol aaldind o) 50 S saselS 4y S (M

sl GGl e siaebig (bl (A oo LS (Y

38 St s il Al g (v

A0S Gt Olige olie (SloudS U ol sen (¥
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GuiiS o JUl Lad Cubs dis ) L judia -FAY

x:Array|Boolean,Char| of Word;
y:Array[Boolean] of Array[5...10] of Array[True...True|of Shortint;
=36l 5 X256 (¥ =242l 5 =512k (3

el e yal 3 sh et (F y=12cul 5 x=1024 =0 (v

Sl CA-H.IJ.A Var Cradd Id s.é:lJ-i-“I ‘Alds -Fa¥

i:Array[Char] of Boolean;
i[chr(3)]:=False; (v i[char(False)]:=True; (\

Sl e dan (¥ i[char(3)]:=False: (v

Gl Ca.quhJ:a.’:m{ﬂASs.S:aJﬁaMsﬁ:aJﬁtyMQ‘gﬁh -2
Type Sizes = (S, M, L, XL);
Colors = (Blue, yellow, Brown, gray, green, white, Red);

Var D:Array[Colors]of Sizes: (
Var C:Array[Sizes]of Colors; (

Var B:Array[1...Sizes, 1...Colors]of integer; (v
Var A:Array[Sizes, Color]of Real: I:Sizes: (

b o, Py (A (gl po b dal T S o by gat wlaas —FAF

no1 n (v 7("‘”2("‘2) (x n? (3
$1 93X T alaglan g A paad s al )T alaal (1 B ya3 plas sy glaj 59 -FAY
Gl ranin 500 G0 (o Codlia rasis ulael (g lug&h
Var A:Array[3 . 7]of integer; (\
Var A:Array[1...3 . 1...7]of Word:; (v
Var A:Array[3 . 7]of integer; (v
Var A:Array[3 , 7]of Word; (¢

Var
A:A 1...4] of int ; R ) i )
iﬁﬂtz;z;[ ol inteser Sooa 9539, waliyp asi 29,5 —FAA
Begin 1357 (3
For i:=1 to 4 do - «
Begin
Ali]:=2%i-1; 1388 (v
Write(A[i]+A[5-i]);
End; 1313 (¥

End.



w8 Fomallm Jle (Sumdib Cuwd 1844/ 1AY

Gaa g plail las ap ] sl axld —FA4
For j:=1 to N-1 do

[ P PO
For i:=1 to N-j do BB ot ()
IF List[i] > List[i+1] Then b ol e (Y
Begin . -

v
temp:=List][i]; b st (
List[i]:=List[i+1]; 2890 (ssaiaa (F
List[i+1]:=temp;

End;
- e “ L V.
i:=Low][List]; iiwin g 4ol ys dadad 2 gy Y
j:=High][List]; b solacs e (0
Flag:=False; a4 N )
) a3l 55k

While (L<=H) AND Not Flag do a5 ol (Y
Begin LA (g saio (¥

M:=(L+H) Div 2; " (¥

IF List|M]| = Key Then RIS S
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Gl afus Frac(-39.42) o jle apain -YOA
-39.42 (¥ -40.0 (v -39 (v -0.42 (v

Mmldlﬁljlw.wlwldﬁéCh ASaS (15 W8 g doll o kel o -Yos
...... L cal J._tIJ._nCh cdald g
T:=ORD('A") - ORD('a");

IF (Ch>='A")AND(Ch<='Z")Then Ch:=Chr(ORD(Ch) -T);
IF (Ch>="a")AND (Ch<='2') Then Ch:=Chr(ORD(Ch) +T);

bl o S ()
Chayl Hluia b jhlne £,5 HLall s (¥
ails K5 bl a4yl Ch 81 Chi plaline K5 oS slall Jpa (¥

o gl Cho RS0y gl Lo sa s S50 ia 4l Ch SIS o< gliall i pa (F
sl Sp S sl

Gugs aalga da ) s o2 gy wadilby=False g x=True < -Y5-
Write(Suce(x<y),* ’, Pred(y<=x));

False False (v True True (\

False True (v True False (v

(w3ubla 2 (5 AS11S i K g frusio (gla uaiay,X)S Cuna dald o 4S5 (il (294 V7

356b56¢456b56¢ (A
For x Q™' 00 26b6c36b6c (¥
Begin
Write(x-1); 256b56¢356b56¢ (v
For k:='¢' to 'd' do . .
Begin JJ‘._) U=a ‘Lnb‘).:: (\;
For y:=5 to 6 do;
Write(y);
Write(Pred(k));
End;

End;



e § Pl Slo Sisdib i 100+ [ TV

Gesud alas P anls Jataw -VEY
Fucntion P(x,y:integer):Real;

. X ¥z (
Begin

P:=Ln (Exp(x) / Exp(y)) + Ln (Exp(z) * Exp(y)); X/z(¥
End; X+ z(¥

X—z(¥
Gosedd alas g9, aali Jalae -VEY

Function zoo (x,y:Real):Real; X+y (A
Begin ”

200:=Ln (Exp(x)*Exp(y)); XEy (¥
End; Ix+y]|(v

| x—y[(f

Gl alas g3 9, aali Jolao -VFY
Function F(x:Real): Real;

. X (3
Begin
TF x > 0 then F:=Trunc(x) | x| (¥
Else F:=Trunc(x) — 1; [x] (v
End;
Sng(x) (¥
GuiS ool g oD g 4D £ 90 4 Chr Fo -Y&0
integer (¥ Char (v Word (v Real (A
S jlae 5 gl 95 3 S plaS JlSualy il o -VES
Substring (¥ Eoln (v ORD (v Chr (y

Gl alas int (X) Al 3 Sualas Jisily Gl 50 -YEY
il S e 1 X (sobiel sae ranie e ()
il R e 15 X (goliel sae (g biel ciand (Y
a8 e 1 X e dne (s Liel cranid (¥
a8 e 5 S o LT X 51 S5 pamss wse 4 15X (gobel e (¥

QS o0 il 1577 das | ghuua alas —VFA
Write(Arctan(3.14)); (v Write(* Arctan(1)); (3
Write(Arctan(pi)) (¥ Write(2* Arctan(1)) (v



Y sllbols sy 19y g mle 4

L Col gl s Write(ABS(Sqrt(-25))); | giss o295 -V
s2loal laa (¥ s slha (¥ -5(Y 50
b Codd gl g A:=5%2 Div Sqrt(100) — 1; &ylbe Jols A A

1(¢ -1 (v aslo e (Y < (M

fauiila g0 & jlue afas Jolas Sqr(Exp(Y*Ln(X))) o jue -YYY

X (¢ X' (v Yy Y

L Sl il o Write(Sqr(ABS(-4))); jgieus o295 -YVY
16 (¥ 2y 2(Y agla e ()

L Coedl g ys Write(Trunc(Round(15.96))); jsiis 29,5 -YVY
0¥ 16 (v 15 (v 159 (»

L Sl gl s Write(odd(-4)); | gius 2955 -VYYF
True (¢ False (v -4 (v 1

SuiS 00 asl g (o295 £ 50 e int aals YV
integer (¥ Char (v Word (¥ Real (

SaiS g0 a3l 93 (2 9,5 ¢ 9 2 Round s VY7
integer (¥ Char (v String (v Real (

S 0wl 85 o2 950 £ 93 an Frac ;i -YVYY
integer (f Char (v String (Y Real (

SuiSo0 aal gt (2 9,5 £ 93 4 Sim pali VYA
integer (¥ Char (v String (v Real (y

GuiS oo aulgd (o2 955 £ 90 a2 Chr aals —YVA
integer (¥ Char (v String (Y Real (3

Sayla (99,9 g9 42 Pi pali VA
alaSsua (¥ Char (v String (Y Real (3

Ga s Boolean g 43 31 (509, 9 pali alas —YAY
odd (¥ Upcase (v int (Y Pi(y



e 8 Fomals” Sl (Sisdide Cwd 104+ | TNY

Ga s Boolean g 33 31 o2 9,5 aalialas -VAY
odd (¥ Upcase (v int (¥ Pi (v

L cocdd gl o Write(int(16.3)); jgius 29,8 -VAY
0.3 (v 16.0 (v 16.3 (¥ 16 (1

L Sl il o Write(Round(16.3)); 5 gicus o2 9,5 -VAYF
03 (¥ 16.0 (v 16.3 (v 16 (»

L Col yal s Write(Trunc(16.3)); gy 295 -YAD
03 (¥ 16.0 (v 16.3 (v 16 (A

L ol yaf s Write(int(-16.3))5 j 95w o2 9,5 -YAS
-0.3 (¥ -16.0 (v -16.3 (v -16 (\

b Col s Write(Round(-16.3)); ; sicus 29,5 -VAY
-03 (¥ -16.0 (v =17 (v -16 (\

L Sl yal g0 Write(Trune(-16.3)); ; sicus o295 —VYAA
-0.3 (¥ -16.0 (v 17 (¥ -16 (v

L Gl gl s Write(Pred(-16.3)); ;gicn 29,8 -VAR
asla s (¥ =15 (v -17 (v -16 (\

s ol sl o Write(Pred(int(-16.3))); 5 giws 29,5 Ve
2l Uas (¥ -15 (v -17 (v -16 (\

L S o ys Write(ord(Chr(66))); , siws 29,5 -V
aolo s (¥ b (v B (v 66 (\

b Col s Write(ord(True)); j sics 29,5 -VAY
True (¥ False (v 1(v 00

L Coedd ol s Write(ord(False)); , givis 29,5 -VAY
True (¥ False (v T(y 0\

L Coedd o s Write(Suce(False)); ) i o2 9,5 -VAY
True (¥ False (v 1(v Oy (3



Y | sllbols s Jl9y g mle 4

L Cal yaf s Write(Suce(True)); ; sicis 29,5 -VA0
True (f False (v 1 (v Csaals (A

L Sl il o Write(Pred(False)); ; gius 29,5 -V45
True (f False (v 1(y Sl (3

L Sl il o Write(Pred(True)); | gicus 29,8 -VAY
True (¥ False (v 1 (v Cpsaals (A

1L Col yaf s Write(ord(12)); gy o295 -VAA
Csaals (¥ 12 (v 13 (v 1T (\

L Sl il o Write(Suce(12)); 59500 o295 -VAR
Caaals (¥ 12 (v 13 (v 1T (\

L Col yaf s Write(Pred(12)); , giss o295 —Aes
aslo s (¥ 12 (v 13 (v 11 (»

L cal yal ys Write(ord(-12)); 5 giis 29,8 -Ae)
aulo Uad (¥ 12 13 (v 11 (\

s Sl gl o Write(ord('A")); j gicis g2 955 -A-Y
alo e (¥ a(y Ay 65 (\

b Csl yaf s Write(ord('True")); s sicus 29,5 -AsY
ala Uas (F False (v True (v 0

L Csd yaf s Write(ord('False')); j giis 2955 —A+¥
asls e (¥ False (v True (Y 0\

A sl yal o Write(int(16.8)); | siess 29,5 —A+D
17.0 ¢ 16.0 (v 16.3 (v 16 (3

L Cod yaf ys Write(Round(16.8));  ghun 29,8 -AF
17 (¢ 17.0 (v 16.8 (¥ 16 (

L Cod yaf ps Write(Trunc(16.8)); g o2 9538 —A+Y
17.0 (¥ 16 (v 16.8 (v 17 (v



e § Pl Slo SWisdide ud 1000 [ TIF

L Col gl yu Write(int(-16.8)); ; giss o2 955 -AA
17.0 (¥ -16.0 (v -16.8 (v =17 (»

L Sl il o Write(Suce(-16.8));5 ) gicus o2 9,8 —A+Q
aula e (¥ -16.0 (v -16.8 (v =17 (A

L cocdl o Write(Round(16)); 5 gicus 29,8 AV
aslo A (¥ 17 (v 16.0 (v 16 (»

R Jad sisdinb sl (o) piii aoligruly

YawmiE YY)

2*((8_MODS5) * (4 +(15-3)/Sqr(4 + 2)))

2% (3*(@4+(15-3)/Sqr(-4+2))

2% (3*(4+12/Sqr(:4+2)))

2*¥(3*(4+12/4)

2% (3*(4+3))

2% (3*%7)

2%21=42
Y auE VY
Yawys -YYY
YauE -VIF
fauiE Y10
VawE -VYS

o 513 58 slate X glan

x:=3.5

v:=Sqr(3 * Trunc(3.5) -2)

y:=49

Fauis VY

(ABS(3*5 DIV 4- 4)>0) AND (Sqrt(9 Mod3#2+1)<0)
(ABS(15 DIV 4- 4y>0) AND (Sqrt(9 Mod3*2+1)<0)
(ABS(3 - 4)>0) AND (Sqrt(9 Mod3#2+1)<0)
(ABS(-1)>0) AND (Sqrt(9 Mod3#2+1)<0)

(1>0) AND (Sqrt(9 Mod3*2+1)<0)

True AND (Sqrt(9 Mod3*2+1)<0)



Ty | sllbols sy 19y g mle 4

True AND (Sqrt(0*2+1)<0)

True AND (Sqrt(0+1)<0)

True AND (1<0)

True AND False — False
FauE -VIA
YawiE -YIA

‘)JTme\aL;.:g ol 0,8 vae S8 A L el 058 vae 0K e Gedidie oS ol s odd
Ay e False ‘aLi.ﬁ ._\.a.:lnLg C\s‘) Jde 4S§J$4A

" VY
2 3
Exp[3*Ln(2)] = e3log. _ elog; =2°=38
¥ auE -V
Ln(Exp(x)/Exp(y)) = Ln(e"/e’) = Ln(e™”) = x-y
Ln(Exp(z)*Exp(y)) = Ln(e"*¢”) = L.n(e"™) = 7+y
X—-ytzty=x+z
Y am= VY
VS -YYY
ORD(01e) = ae
ORD(SSI,) = ol S
ORD(True) =1
ORD(False) =0
¥auE VY
aslainteger a5 sReal o555 g8 Trunc a6
¥ YYD
S i e slael a5
VA -VYS
YA -YYY
Y amiE VYA
i J
100 20
inc(i)—> 101 10 > Dec(j,10)
inc(i.j)—> 111
(RPPRCIERT 4

18 Mod-5=3



Round+/12.81
Sqr(V/13)=13

wer 9 Fomols” o Sipdinb i 104 -

ARCEYES

ord(A)= 65 — Chr(65+3) — Chr(68) — D'

x= 12 — Suce(12) =13
Ch="B"' — Pred(ch)="A’

¥ ey
Y s
* s

Yis

vy

AR

_VYY

VY

_VYF
VYD

Koo Ady 31a1e FO0 S g ol aln B 3R Gy asls SIS Jolas Lf?.J);Chr(i)@\:

o gpn sLRE 50 Y 43K (S5 ey o

Y a8

RVl

s

AL

a2l e True False 3l uay gune

Y s
i3
Y s
¥ s

VYA
Y4
YR
V¥

il i £ 0 5Tl Pred(X) sls 5o 690 Coe

s
T

_VFY
VFY

ol L Slae gl 3o

5+2/8*3-Sqrt(8/2)+2 Mod Round(6 Div 4)
5+2/8*3-Sqrt(4)+2 Mod Round(6 Div 4)
5+2/8*3-2+2 Mod Round(6 Div 4)

5+2/8*3-2+2 Mod Round(1)

5+2/8*3-2+2 Mod 1
5+0.25%3-24+2 Mod 1
5+0.75-2+2 Mod 1
54+0.75-2+ 0
5.75-2=13.75



Ty | sllbols sy 19y g mle 4 bl

WriteIn(Sqrt(ABS(-4))) > Writeln(Sqrt(4)) —> Writeln(2) > 2

Writeln(Chr(ord(Upcase('a")))) —> Writeln(Chr(ord('A"))) —

WriteIn(Chr(65)) - Writeln(A") —'A’

s
¥ s

VFF

AL

~YES

AR
-Y¥fA

passloe St 1 oy oobe wabie =3 jlutie 4l (258 4

Writeln(Trunc(Exp(2*Ln(3)))) > WriteIn(Trunc(Exp(2*1))) —

Writeln(Trunc(9)) - WriteIn(9) —9

0dd(6.6) > s ls ki Round(6.6)—>7  Trune(6.6) > 6

Trunc(a)+Round(a)+int(a)+(a-2)
Trune(-2.6)+Round(-2.6)+int(-2.6)+( -2.6-2)
-3+ (3)+(-2.0) +(-4.6)=-12.6

6+3/2*2+9Mod Round(8 Div 6)
6+3/2*2+9Mod Round(1)
6+3/2*2+9Mod 1
6+15*2+9Mod 1

6+3+9Mod 1

6+3+0=9

Write(Suce(x<y)," ’, Pred(y<=x))—>
Write(Suce(True<False),” °*, Pred(False<=True))—

s
¥ e
* s

s
) es
T s
s

¥ s
s

s
Y
s

¥4
0.
Vo)

Abs(6.6)—> 6.6

-Yoy
-Yoy
-Yo¥
-Yoo

-Yor
-Yov

YDA
2N
s
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Write(Suce(False),* *, Pred(True))— Write(True,* *, False)— True
False
FauE VA
X k y >~
3
{c —>6
2 - 26b6c26bbe
d—6
3
SN {c —>6
d—6
YawE -VEY
Ln(Exp(x)/Exp(y))+ Ln(Exp(7) *Exp(y))
In(e*/e¥)+TIn(e” *e¥)
TnE* Y)+TnE*™Y)
X-y+7Z+y=X+7
Vaws -YEY
700 := L.n(Exp(x)) * Exp(y))
=Tn(e® *xY)
=TnE*™)
=xX+y
Yawys -YEF
YauiE Ve
¥awl VP
YA -YEY
YA -YEA
tan%ﬂ — Arctan(1) Z
4% Arctan(1) =7z = 7= 4% Arctan(1)
¥awiE VAR

._\;J‘._\; J.:L?. ué:\.n ._!‘._LC.‘



e /| Glbols Sy Jlgy g mlef 4 b

Y s VY
Sqri(100) = 10.0
il s p60 5 b Diviglass slee ga ok 5

¥ YWY
Y#Ln(X) = Ln(X)"
Exp(Ln(X) )= X"
Sqr (XY) _ (XY)2= &
¥ -YYY
ABS(-4)=4
Sqr(4) = (4)’ = 16
FauiE -YYY
Round(15.96) =16
Trunc(16) =16
*aniE -YYF
Write(odd(-4)) — False
VaiE YYD
.JJ‘JL;‘)L_:L.C.‘ CJ;‘)‘ G?J__-..-LJJ:\SU.A‘)A‘.A“) JJ.C-\)L.’L.C.‘M@BCS‘
¥as -YYS
._)J‘..lc};.a.@CFJ1@JF§JSTJ;‘)JMJm‘M@uL}£‘
VAR -VYVY
._)J‘.JI_;JL."LdthJ‘@JPJJASGQJM‘)JM@MM@HLE‘
VA —VYYA
*awiE -VYVA

wola SIS e g 5 a s oA 5 3 o wily,u 1, Bytes s 51 gaae als o

FauiE -VAe

WS 8l a5 g0 Glee 4 solate s

Y au3s VYA

S e il yo g9 Olsie 4 1, Boolean , Char . integerg 51 51 (s olia auls ool
¥ auiE —VAY

S g Falseatog ues g ase 81a€ o cidbisg a5 Olsse 1) muas gase 0dd als
A€ o pla 1y True N E PRI ITRYS

Y auiE -YAY

Y dwil -VAY

Y auiE -YAD



int(-16.3) =-16.0
Pred(-16.0) = 5 ls L

Chr(66) ='B'
ord('B") = 66

e 9 Fomel o (SNl Cad VB0 e | YT

Yy VAP
) duiE -VAY
Y 4= -VAA
¥auiE VAR
¥ amE VA

)4 VA

Yaus YAy
) auis vAY
¥au -Vaf
) auiE -Yad
PURERY
Y auE YAy
¥ auiE -YaA
Yans -Yaa
Va3 A
¥ auiS —Ae)
Y auis Ay
Fauis Ay
FauE -AsF
¥auiE A
A —Aes
Y auiE AV
Y amiE -AcA
FauiE -Aed
Y auiE —AYe



(String) &y g 555140 b piio — 1o Juad suisdid socws

.Qauleldsuuﬁ@‘g‘)i&dsd‘}l‘gbsaeid MJA:\JSM",IJSI AV

Var
A,B:String[7];

Begin
Readln(B);
A:='Hello' + B;
Write(A);

End.

Length (¥

Hello (»
HelloSaeid (v
HelloSa (v
SaeidHello (¥

Wyla saue 29,8 aalialas —AYVY
Copy (v Upcase (¥ insert (3

Crel Culs win Name jadio Jas g5 ondi Jlachl alidls ) gt amdagi b -AYY

Var
Name:String[10];

Var
Name:String|[7];
itinteger;

Begin
Name:="Test.';

i:=6;
Name[i]:="P";
Nmage[i+1]:='a";
Name[i+2]:='s";
Write(Name);
End.

Var
x:String;
i,n:integer;
Begin
x:='AABBB';
n:=0RD(x[0]);
For i:=n downto 1 do
Write (Suce (x[i]));
End.

11 (v 10 (v
20 (¢ 21 (v

ol alaS pay dalh o 298 AT
Test. (3
Test.P (¥

Test.Pa (v

(

Test.pas (¥

o g1y dlip (295 -AIO

BBAAA (3
AAABB (¥
BBBAA (v
CCCBB (¥



wer 9 Fomols” o Sipdinb i 104 -
Sl Culs wis Address judio s g ol addls ) jeian dsaagi b
Var 128 (v 255 (»
Address:String; 127 (¢ 256 (v
Sl alas JiSiuly o Pos &bioslas

e S Lt nd e (a3 (¥
@3se 4T S s sse coalgo et (F

Var
Str:String[10];
Begin
Str:='Pascal';
Str[0]:= #3;
Write(Str);
End.

il s Jisily juConceat g+ o gh Laaiuly Gladl ujge jo S alas -AYQ
S s loe aali st Coneat g a3l sxibe + ()

wiglas wa b Sl 0, Blad 4+ g Concat

sl 1y csald pul# 5 a0 g plasla cuals 5110 Conceat

waslo 1 did; go dadd glall Jblgs Concat g 4y go 5 (o Sladl 4 jola+ (¥

ol 5 gldia jSas L3S b 43S plas AT

Upcase (¥ Copy (v

Var
A:String;

Begin

A:="'www—Azmoon—org';
Ald]:="."
Al11]:=""
A20]:="1";
WriteIn(ORD(A[0]));

End.

Str1:='Ali';

Str2:='Reza’;

For i:=1 to 4 do
Str1[i+3]:=Str2]i];

Write(Str1);

AlRe7a (v
Reza (¢

S Bl o0 Gl K K Gl ()

B8 58 056 cual g Cpal (Y

ol AlSS Jaldo doli a2 g A
waa 5 ol gllaa ()

3
Pascal (v
Pas (¢

Y

Y
\

(
(
(
(

Str (v Val (y

oy gy dalipg 29,5 ATY

.c;...ul?las_gﬁ_”uuﬁ@_”i -AYY

Ali (A
AliReza (v

rry

-AMF

-AVY

-AYA



YY) by g T Sl i Vo bad

Str1:='4'; att| e‘és 390 ‘LaLaJ.\ @3} ~AYY
Str2:="2"; 24 (v 6 1
Str1:= Str1+Str2; .

Write(Str1); Slaasse (¥ 42 (v

oed alas S[0] (51 giae S:="123" (& jal 5 s -AYY
il cad 0 5o g (¥ #3 (v 3 (v #1 (\

Sl g las Gl juj aold 3 -AYD
Var S:String; Sl 3y 90 plas ol g5 RTPE Y RE

izinteger; 69 G 65slael (3
Begin ABCDE = Le (¥
For i:=6 to 10 do ’
S[i-5]:=Chr(i+59); ABCD & be (v
S[0]:= #5; Saae (¥
Write(S);
End.
oo True gl s & yls alos aaais -AYF
Test="test' (f  "Test™>="test' (v "Test'<'test' (¥ "Test™>"test’ (3
IS o LA alBila Culy iy (gl ga jadia —AYY
256 (v 255 (v 2( 1(
ol alaS Jalis dals A —AYA
S:='1234"; ES F e
S[0]:= #3; 123 (v 12 (3
Writeln (S); 31234 (v 1234 (v
g g oaly bl 3y dalh pu (gl pal Gl aaa sae alas -AYA
Var
S:String; 12358 (1
Begin 123 (v
S:='123.576';
S[0]— # §; 123.5 (v
Write(S); 123.57 (¢
End.
n:=243;
B::'23'; 243 (\
Str(n,A); 2323 (v
A:=Concat(A,B);
insert(B,A,3); 2433 (v
Delete(A,4,3); 2423 (¢

Write(A);



e § Fomoll” Sl Sisdide Caui 180 [ TYY

Caad] el.AS 2 aolh s daain -AYY

Var
A,B: integer; 1517500
Val('15175B7',A,B);
Write(A,B); 15175 (Y
End. 6 15175(¢
o alas 29,8 WS a9l aliggol sug,4 5 s S -AYY
Var TF o s (8
$1,82,53,54:String[4]; o A
Begin Guilad ga s (¥
S1:='Se'; Sepasaligol (v
S2:='pas'; g li
Read(S3,54); epas ahg (¥

TF (S3 + S4 ='aligol') then
Writeln (S1 + 82 + 83 + S4);
End.

Val (-123', %,1); 558 oa 8 falie plaS X padfia sla au g a9, daliyaje) j0 —AYY
123 (¢ 1123 (v 123 (v i (3

Sl {alds d‘S.n.u\f J.:Copyc...l.“:.:,sla.: ~AYY
ly Sl aid; ) S plAiul (Y S il po aid; K a S oS ()
Gk, Sy oAl ) K Bda (Y Rouy 4 ik i by go Bl (Y

Cnd gy dalipg (29,8 —ATD
Var

$1,52:String; TurboPascal (\
Begin Turbo Pascal 7 (v
S1:="Pascal 7'; .
S2:="Turho'; Turbo Pascal (v
insert(S1,82,7); plaSaua (¥

End.

Caed {AUS Joldo dolh 0 g -AY %

Var Pascal (\
St:String;

Begin Book (v
St:="Pascal. Book'; Pascal.Bo (v
Delete(St,7,5);

Write(St); Pascal.Book (¥

End.



PYO | Bdidy g8 B Sl pite o fuad

Var
$1,S2:String;
izinteger;

Begin
S1:='book’;
S2:='"Pascal.Book’;
i:=Pos(S1,S2);
Write('i=',i);

End.

Var
S1:String;
i:Byte;
Begin
S1:='ABCDEF';
For i:=1 to Length(S1) do;
Delete(S1,i,1);
Writeln(S1);
End.

String (¥ Char (v

et | (;I.AS Jildo dallys gD -AYY

ol afas Jilla aols s o2 955 —AYA
i pe Syl IS ()

ABCDE (v

BCDEF (v

ABCDER (¢

el o g3 an 3 Pos pl 29 AT
Byte (v integer (\

a8t aal gl alas o) gus aa Gl g |y didiy -AFe

Str:Array[String]af Char: (v

‘i.,\_")‘\ya(\c

Str:Array[1...255of Char; (\
Str:Array[1...255]Jof String; (v

s i) O 52855 859959 9 Slal oo oo SISHIS S (595 o puli plas AT

Strlen (¢ insert (v

StrNam1:='S";

StrNam2:='3";

StrNum1:= StrNum1+StrNum?2;
Write(StrNum1);

Copy (Y Upcase (A

.CMAI{AIAS_QJ..!_QJMUJ..\@_QJA -AYY
5\

3 =

(
3
53
8 (¢

51537 A[0]:=#2 asi 5as g Const A:String|7]='BAHAREH' sl aiils S —AFY

Writeln(Length(A)): (¥
WriteIn(Pos('A,A)); (¥

%1 88 s L 43S ol
Writeln(ord(A[0])) (A
WriteIn(Sizeof(A)): (v



e § Fomoll” Slo Gidid S 18-+ [ YYF

Caed 914534.33) aols o 29,8 —AFF
Strnamel:='Saeed’;

Strname2:='Sir'; Saced 0
For i:=1 to 3 do SaSir (v

Strnamel[i+5]:=Strname2][i|;
Write(Strnamel); SacedSir (v
Sir (¥

qwl?lﬁuuﬁ@‘gﬁﬁﬁdJl‘glJAsalMJA:\JSWJ'IJSI -AFD

Var HelloA (y
S, S1:String|7];

Begin HelloAsal (v
ReadIn(S1); HelloAs (v
S:='Hello' + S1;

Writeln(S); AsalHello (\c

End.

G Coya gy LA 8 3 Saalas aais oyl g 1,200 509,49 50 S -AFF

Var

. U
a:Byte; e 0o 0
S:String[10]; SR e sls8a jaate 5056 (Y
Belg:;zteger; ..!\94...16.4 J'I‘JSA a il o4 ua...u‘)._! )‘..\S.A USLJJJ 6‘).: (Y
Repeat J‘).Ag&m‘;“)sa‘).u.a.a‘)..\ GAJ-AJJJ‘)‘JS-O u—b J‘)..:..uga uLAlA ub‘).;(\”
Readln(S);
Val(S,a,i);
Writeln(i);
Until i=0;

End.

G hil8a dalh o daled g5 -A¥Y

Strtest:="Ali';

H Ali (A
Strtestd]:="*"; 1
Write(Strtest); Ali* (v

Al* (v
(

Type Mismatch (¥

e doliyn anlad ;295 -AFA
Strn[0]:="A"; SRR IR0 bR e Xr

Strn[1]:="L'; ALT (v A\
Strn[2]:='T"; 1(f LI (v
Write(Strn);

S plas SI0] 51 sias Comst. S:String=123'; iy a5 51 g -AFR
sl s pmge (F #3 (v 3 (v #10



PYY | Bdidy g8 B Sl pite e fuad

S9guii o0 aladl flos da pa O ) ghiss 12T &y gemyy -ADS

Var . . - .

Begin Jsdi o gl 4adn 55, abcaaK (Y
:{;}:;,g,’_ K) JJ‘J J‘JE S w..u‘ o a< ‘)in“..! PEN uS.n“ AJ)LLJ abcaaK (Y

. ’
. dW”te'“(S); T wile UKy Lo Ladid, b ol g ) el aliiatl asliys ol (F
JJSJ‘S

Var Somwa p) dalip (3955 ~AD)
k:String; 65 (\

Begin
K:='B'; A (Y
Writeln(Pred(k)); ATy

End. sl sobllS sl (F

G gudi o ouls lalal g dald j (g1 yal 3 aaa sae alas -ADY

Var 53
S:String;

Begin 123 (v
$:='123.576'; 123.5 (v
S[0]:=#5;

Write(S); 123.57 (¢

End.

Gl 9 90 alas ol )y dali 2955 -ADY

Var £ G Foulael (
S{String: ABCDE & Le (Y
1integer;

Begin ABCD & be (¥
For i:=6 to 10 do Caae (¥

S[i-5]:=Chr(i+59);
S[0]:=#4;
Write(S);

End.
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Syl paie 10 L Packed af i S0 as anis QLAIH ) Jlsaily gl @ ol -ADY
Omin § dmmabad B a3 Word g g jimyword ab as juiie <s gWord alh ag swatad
el ((ASGE 5l yadia gl o) asls dadis 5999

V) Type Word=Packed Array[1..15] of Char;
Var  Word:myword;
Begin
ReadIn(myword);
Y) Type Word=Packed Array[1..15] of integer:;
Var myword:Word;
Begin
ReadIn(myword);
3) Type Word=Packed Array[1..15] of Char;
Var myword:Word,
Begin
ReadIn(myword);
Y) Type Word=Packed Array[1..15] of Char;
Var myword:Ward
Begin
Readln(myword);
Program q2; R 4l 3 ~ADD
Var O i adas aoling g gl gad 435S aliial ()
X:Array[1..2] of Char; <
Begin ol
X[1]:='A"; ol ol (San (g 9 i pad 4388 oal (¥
X[2]:='B"; K- YT
X[3]:='C"; )

Writeln(X[1],X[2].X[3]); S50 88 dan i Gle 53 (6o 5hs aliidl S (¥
End. ssdiee 8K al Gla) Lo il slasl S (F



P | Bdady g 8 B Sl pite v fuad

Var Comwn 1) aoliys 2955 -AOP
T:String; ‘DEC*(y
1:Byte; i

Begin *CDE*(v
T:='AB CDE'; ‘CED’ (v
I:=Length(T); .
While T[T]=Chr(32) do Dee(I); “EDC (¥
While T[T]<>Chr(32) do
Begin

Write(T[T]);
Dec(T);
End;

End.

Strnamel:='Ali'; o plas myasli 2955 -ADY

Strname2:='Reza’; Ali (v

For i:==1 to 4 do .
Strnamel[i+3]:=Strnam2[il; AliReza (v

Write(Strnamel); Ali Reza (v

Reza (¥

GCsed Uad yal pu A 9o & jlas alas aauihy —ADA
‘TEST <‘test’(¥ “TEST™>*test’(
“TEST =test(¥ “TEST>="test (v

Gyl el.AS Hyasbip g d -ADA
Strnum1:= 4;

Strnum2:='2'; 24 (v 6 (
Strnum1:=Strnum1+Strnum?2; Slaagae (¥ 42 (v
Write(Strnum1);

..\:Jwac;u.\..nM*Mc.w.auu:aJSLaGlﬁsh#gﬁjuuﬁwslﬁulw A5~

........ alo S0
Var oL -
K,L,X,Y:integer; S st slaasl o b Al YL (A
5 M:Array[l..lO,l..]O]of integer; S slaesl o b Lite ol (Y
egin
For K:=1 to 10 do S sobae sladalon b (g ka8 4 (¥
For.L:=1 to 10 do Slea (F
Begin

X:=Trunc(L/K);

Y:=Trune(K/L);

MJIK,L]:=X*Y;
End;
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S 5 ol o a<i (o2 9,3 wuils (gl (s e P g1 -APY

P:='Alireza'; Alir (y

P[0]:=chr(4); Alireza (Y

TF ord(p[0])=Length(p) Then Writeln(p)

Else Writeln("Error'); Error (v
1 gl glla (¥

?ml?lgsthstﬁﬁj&slﬁlgﬁ -AY
St ass glaid sl Space sta 5SS saa (A

While St[Length(St)|=' ' do
Delete(St,Length(St),1);

St ans,y lenlyl Space sla €118 Leia
St aiz, slgnlyl Space SIS & Gaa
St 4y sla SIS alad (S Shyy Saa (F

Y
\1

(
(
(
(

G oo aladl (5 IS dn pu) deld y anked sudils Char ¢ 63 51 Ch 81 -APY

While Not Eoln do
Begin
Read(Ch);

IF (Ch>='A") AND (Ch>='Z') Then

Ch:=Chr(ORD(Ch)-ORD('A") + ORD('a"));

End\;’Vrlte(Ch); s g3 o g e o 1 (e S lad S ()
e g e S50 g b g wilea e 1 e B b S (Y
s g e Ko oS goa b g wiled e 1) (e Bl A S (F
Var Qe {ahSJ:aJ aalh s 9o -AFY
I:By+e; 5 AliReza (»
S:String[5]; .
- 7 AliRe7a (¥
Begin
S:='Ali' + 'Reza’; 5 AliRe (v
T:=Length(S); .
Write(L.S); S AR (f

Write('Ali' <='Amin");
Write('Ali' ='Ali");

Write(Val(Str('145"));

ol Uaa (¥ VPO Sl oS (Y

S ) Ol g 2954 -AFD
False False (v False True (\

True False (¥ True True (v

Swnn p5 &l ghus (22955 -AFF

VYo ola (Y Vouae ola (M



S:='15";
For i:=1 to Length(S) do
Write('Pascal');

Var
S:String[5];
Begin
S:='Ali Reza';
S[2]:='B';
S[0]:43;
End.

Var
S1:String;

Begin
S1:='My Computer';
S1:=Copy(S1,4,5);
Write(S1);

End.

Var
St:String;

Begin
St:='My Computer';
insert('kar',St,5);
Delete(St.8,8);
Write(St);

End.

Var
A:String;
izinteger;
Begin
A:="ALI';
For i:=1 to 3 do
Ali]:=Chr(ord(A[i])+1);
Write(A);
End.

a2 &St (2355 APV

Pascal (A

(
Sedi g ola LL Ve, Pascalais (¥
Wb e oly LY. Pascalais (v
(

JJ‘JUQ'A ¥

AliReza (\
Ali R (v
ABi R (v

ABi (¥

Gomn g el asi o295 AP

Compu (3
Omput (Y
JJ‘._\ Uad (Y’
(

Comp (¥

SCana 1) dalip asi o2 9,5 ~AVS

My Ckar (y
My Coka (¥
My CkaromPuter (v

asla e (¥

fomun yij iy o295 -AV)
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var Cmwa p) bl o295 -AVY
A:String; :
i,N:integer; Pascal (\
Begin ascal (Y
A:='Pascal';
N:=Length(A); as cal (v
For i:=1 to N-1 do Pas ca (¢
Ali]:=A[i+1];
Write(A);
End.

(laidy uaia S)ioawa ) doli s dalad o2 9,8 -AVY
N:=Length(A);
For i:=N downto 1 do
TF Sli]:=Chr(32) Then
Delete(S,I,1)
Flse S o Bia T ik Sy o0 asmge IS glalias b ()
Break;

JASUAQA;‘JMJ&“%M*JJJPJAGJBL;LALAS‘;LJY

(
._\lsu.as_.@.:\;“)MJ&“Q“‘JQMJJJHJAL;]BGLAL.AA‘ALAS(Y
(
JJ‘._) Ua’; (\5
Function LT(S:String); ($'4dy 2430 8) Sosnan p3 dalh yu dabsl (o2 9,5 -AVY
Begin
While S[1] =Chr(32) Do

Begin
Delete(S,I,1);
LT:=S; S e Bia |y B S e agage JA glaliad ala ()
End;
End; JEJQJ:\A‘JMJ&“Q“‘JQMJJJ\P\HGJBGLAM‘ALO:(Y
.Jlsu.au_'ﬁ.labMJ&“%%QA“JJJJ.;JAUJBL;LALAA\;LJ(Y
..!J‘._! (VSN (‘c
(Sl uaio S)ious ) dall o dakad 2955 -AVD
S:='Filename.Txt'; Fil (»
N:=Length(S);
P:=Pos(".",S); TIxt (v
Ex:=Copy(S,P+1,N-P); Txt (v
Write(EX);
rite(EX) aslo Uas (€
(laiady 2350 S)Scimn 55 O ) gleus 48 gad0 (2 9,5 -AVF
S:='123456';

asle e (¥ 3456 (v
Val(Copy(S,3,2),V1,C1);
Write(V1+56); 101 (¢ 90 (v
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Cmwn 1) aoliys D955 -AVY

S:="ali';
N:=Length(S); ali (3
For i:=1 to N do ALT (v
Write(Chr(ord(S[i])-32)); il
ILA (¥

Wl pasis sae £ 0 5 (2 g S pali alas —AVA
insert (¥ Delete (v Copy (Y Length (3

ol G ASIHIS £93 51 99,9 gali plas —AVA
aloSaun (¥ odd (v Upcase (¥ Copy (A

Wl gl £65 5 (298 95999 2l alas —AAe
Yoo ) ol (¥ Str (v Delete (v Copy (\

1o Jad (guaisdinb sldcu (20 gid 4ol

Yamis -AYY

alisg 4S5 Gl 5o 0 o Glall pa L1 aiid ) g0 il + Klae ik glagisloe <555 e 5o
Vol Gl a il ed dsde aa 5 oS SIS A iy o g aud Gl A aik ;) 4 Bais,
o e Sl Lo 1 LT glaiyd SIS Y Laas 130 sty SIS

¥amil -AYY

Yauis AV

aals3 ) B Jolae Name jate b o3 sad Jlosl alidla 130 e Vo ol 4ty Jobe Ssa
g

¥ auiE -AYY

137 0 s w3l 55 et SIS olaas cl 51 yidi 131 el Vol ps Nameaiis y cad )l 3Slaa o5
ls ot oo Jsl SIS Y Lt Qly ol a5 wibe aalsa 3L aslined 'S 1,08
aaile @LV  Name yuaie gl & sa 35l g0
0 1. 2 3 4 5 6 7

Name | #7 | T|e|s|t]| - -|p|a




e 9 F9molS o (SAisdiuls Cad 10 | PP

FawiE -AVD
SELLS S (gaay ia 4S5t e 2ol SUCE w5 0 po Sl T 1l 4 iy glgmd )
st ole

¥amE -AS

Wd o JLEl Las euly YOF aS san o gl s aa o, 3K Y00
YawmiE -AYY

FauiE -AA

0 1 2 3 4 5 6

#6 p a s c a

ol Stroais a5 e
0 1 2 3
3] v [ Al ]

sl SI[0T: = # 3 5 5 51 aas

YawiE AR

¥ auiE -AY.
S su ksaUpcase pls g wig5000 SIS el (555 0 loeis Jlael (6l ol ol 4
R e 3 SIS

¥ amiE —AY)Y
SV Gl (g5 5L 4 a0 Sl (e il e A il sl «SORD(A[O])=14
18 e

VR -AYY
o Str2ai iz 5 ASLLS Folaas s Strlas, ¥,5€I,LS I Forasla o StrI="Al jlass
el st 3Ll Strl e, € S2ai, 3be 4 4 el €538 13 Strl i,

0 1 2 3 4 5 6 7

3] A ] 1 [ i[R]e ]z ]a]
Yl -AYY
g SIS aais ;) glall gl Coneat als 5+ JISaly by o
Y aaE -AYY
ol il sl 45 Blate a8 Gl
YamiE -AYD

LAy st o g2 0 BV 51 oS Saiid; gladila o 5 a sl o 1al 5L 0 Forasia
S e 1580 s aiidy (el S atit; jiis sjlet ald jo 5 08 0 LIS EDCBA



PO | Bdidy g8 B Sl e e fuad

Y auX -AYS

JE iy o i A 5 (glols gna aiile 30 ol Wl co 5 (1010 s Aty e
99 ol G ISy 0, S eoliil 5o Ladid ) dnnlie gl sladal sy sla Sloe 51 03 o
g pd By G delie widl (gl HKuS L S S e anlie a1
AT M sk Cran 5 058

FauiE -AYY

Y dwX -AYA

SSLLS a2 aalsa ¥ ol 2y Jsb ago bad o Gl cnad ¥l S aidy Jsb 1l 5o
aal g 123 Jolae S i 5o aalpd 4ty b 55 Aol LlEsse 5 saliiaVs o len

R
Y auiE AT
Famis AYe
Str(n,A)= 243"
A:= Concat(A,B) = 24323
insert(B,A,3) ="2423323'
Delete(A.,4,3) = 2423
¥ auis -AY)

Sisgma dy a3l sy (S8 oS o salinad Val ajla s 5l se S oy (gose aid ;) S Last sl
dilige o)

Val (5 0\ (guue 5u3te ¥ (gose juata) ]
oo il g e laa ¥ udtie 0o S e 8 A0 V(guue sudte jo g add (Lad sue 4 (goue Ll

il I 8 ga g due el [Sae 4S5 gude A

Val (5175', A, B); A« 15175 B« 0

Val (1517587, A, B) ; A<« 15175 B« 6
¥ aujs —APY
¥ s SAYY

Y a3E AYE
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¥ awiE AT

insert(S1,S2,7);
#255 |Tju|r|b|o plal s |c¢c|al|/l 7
Y Y Y ¥ & F VoA a Yo Y AY Y VY

VawE -AYS
o Olsaas ala aidy 5w o a1, Staii, 51 SIS0 Jala Voaala 31 Ul ool

.J&ﬁu.na._\l‘d‘)g‘).gd‘j‘)

Pla|s|cla|l]| -|Blo| o]k
1 2 3 4 5 6 7 8 9 10 11
ALK Jsb 4

* AR -AYY
Ssa pd ks 5o Jul Gl ey asdidaladl oo Bige b gatia Jee SIS 0K an
BV KL SPRPRSY VR [ K- B3 R

Y aui -AYA
Ll St Jlie il T by 5o Gy Lol bl e iy Jsk ol 6 31 For s
e e ida SIS Jsly £ @ld 51 g 0l g

Y amE -AYR

VaajS AFe

Y A

resd 5a3 JSa @y Upcase ails S s
Function Upcase(c:char):char;

LI S a8 1 wid (gagnp sl ailsipe o wilai e Jae SIS Sy (g5 50 b8 o6 0l
bl s K5 a4 ol

¥ auiX -AYY
"5 SIS Ll s 5 s LIS Laaii, 3lal) (sl Concatpls s+ Klae JISuly o
el sat 3lall'3 LK

¥ au i -AFY
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VawiE -AFF
3oL oty as 4 Strname T a5z, ¥ <1, 51 Foraals o Strnamel='Saeed' 1o i,
4 Strname2ai i, S,bae 4 4K ool 458 8 1,3 Strnamel 4, Lo Strname2 ais

o sak 3l Strnameais

0o 1 2 3 4 5 6 7 A
(#3[Slafeleld[sS]i]r]

¥ au3s -AFD
LS5 Gl o S e Bladl aa 4 1 ity o sl g+ Slee glagiglae 45 S5m0
ol e Jads (s 5 08 e L8 Sty Ho 5 suk sladi Helloaia; ¢ ST ainy el s
W e DB o 1 T sl ASILIS Vags 18]kl SISV i

¥ s AT
Val(-200".a.i): S s sae 4 L ghid sl e Val 5315

Y i3S ARV

KX
vy oy ¢

Y3 -AFA
st il 51 ISl (s 5 Lo T o5l e SIS 3 51 ¥ sk 4 T S, St
Strn | #2 | 1. I 1 | I8 Bk Jole il asdin gl Ho g Wigd e
. S0

rauE AR

WS e S clle b iy b asdio LA S glaid; suaie S0

Y s Ade
et 8t e (Soae (Var) Lasate Ciuslal crend 5o Laysiie sule wile 50 padfa (ol
Las aad padd o Yoo 51 53 81 5 i€ o padiidia 1 o sk Ysane (sl puiie &
il ge GIA Ltd 4y g st L]

Y X A0

Write(pred(k))— Write(pred('B")) —> Write('A") —> A
¥ a2 -ALY

s=[#]1|2]3].]5]
0 1 2 3



e § Pl Slbo kil Cud 100+ | YFA

¥ auiE -AOY
i | S[i-5]:=Che(i+59) S=[#]A[B]C|DJ]E|]
6 | S[1]:=Chr(65)— A 0 1 2 3 4 5
7 | S[2]:=Chr(66)— B
8 | S[3]:=Chr(67)—>C
9 | S[4]:=Chr(68)—>D —[4
=|#4 | A | B D
10 | S[5]:=Chr(69)—E > -
0 1 2 3 4
Vs -ADF
Y auiE -ADD

Al i en ik By et Jods B gugn Al Job ST glid s glasaate (il pd alSia
Sl dsas A g el 1a88 4yl T col o0 gd o 003 oA aad (i pal Jgls a3lanl 4y Lasa
Fauil -ADF

38l o Space ;€IS Chr(32) o ¢éo

s={#6][A]B] [cCc|D]E]
0 1 2 3 4 5 6

i | Tlij<>Chr(32)

6 | T[i]<>Chr(32)— Write(T[6] ) > E
T[i]<>Chr(32) = Write(T[5]

5
)—>D

4 | T[i]<>Chg(32) = Write(T[4] ) > C

Y syl ALY
5L Faluas 4 Strname ] «is, ¥ 551, T For adla u el Strname 1="AlTluse
4 Strname2ait ; Jslae 4y oS sl 45a K153 Strnamelais ;) o Strname2 s

ol st 3lafl Strnamel ass

StrnameIZ‘#7‘A‘]‘i‘R‘e‘z‘a‘
0 1 2 3 4 5 6 7

¥ auis —AdA
¥auiE —ADA
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¥anis -ASe
S ge DRI S VY G yile S
K L X Y
1 X =Trunc(1/1)=1 Y =Trunc(1/1) =1
] 2 X =Trunc(2/1)=2 Y =Trunc(1/2)=0

10 | X =Trunc(10/1)=10 Y =Trunc(1/10)=0

1 X =Trunc(1/2)=0 Y =Trunc(2/1)=2
) 2 X =Trunc(2/2)=1 Y =Trunc(2/2)=1
10 | X =Trunc(10/2)=10 Y =Trunc(2/10)=0
¥ amiE -ASY
Y s ASY
S o I 5 St (glu 59408 Olsie 01, SA EED ' @,
st=[#8 ] [s[A[" ' [E[E[D][ ']
0 1 2 3 4 5 6 7 8
St[g] ="
— Delete(St,Length(St),1) = Delete(St,8,1)—>' SA EED'
¥ S —ASY
vy ASF

S:String[5]; = Length(S) = 5
S:='Ali' + 'Reza': — AliReza
59 Write(S) aa S Cls al&a L Gey 0 il a3l 55 o SIS 038 ha 4ty sk (5p
s aalga 5 AliRe aagis jo AliRe o 5,5 sud (3ia 7a ey sal 31K
Y au AR
e aladl Ll (Sl oS ulal o SIS 5 SIS adian a5l g0 dulia
el Y &5 Giga (Sl 0SS < Y Ko oS Giga (Sl oS aish
Sl SA < K KB< < Sl K7
Sala€a < Kul b << Sl K7
¥ auS -ASS
iy b anen STr() L Val() ol 55 51 sotanad 55k



e § F9aolS Slo (SN Cad 104+ | TF-

YK -ASY
ola s 2-1+1=2 slaas oy Pascale oK oy S:='15"—> Length(S)=24 <l ay aa 55 L
g
Y 4l -AFA
=23 S[01H3 sa o0k 3 5 (908 oo LI B a g0 A o Jas)s s oo S[2]:='B'
ol e ABT Jay ¥ a3 38 Gy wdaalpd SIS Yass ) ke
VauiE AR
5 (COMPU) S SIS 0ulsa3 4y (Cpims) ol ¥ SIS 052 51 COpY(S1.A.5)es 455 b
S e 1035 0 s
Vi AV
o3l St fay was 51,3 Stu 1) karans ol 0 1L 3t insert(kar’,St.5)  sis
Sl ASSILS w g2 51 Delete(St.8.8) 5 siin 45 4a 55 L o< 0t w2l )2 My Ckaromputer
kol g My Ckar  olgs laie g0 g o c83a 5K LIS8 ani
FaiS -AVY
i=1—>A[1]="A"—> A[1] = Chr(ord('A")+1) = Chr(65+1) = Chr(66) = B
i=2->A[2]="L'> A[2] = Chr(ord('L")+1) = Chr(76+1) = Chr(77) =M
i=3—>A[3]="T'— A[3] = Chr(ord("T")+1) = Chr(73+1) = Chr(74) =1
e BMJ 4y % lga e
Y 4w -AYY

A:="Pascal’; > N:=l.ength(S); >N =6
i=1>A[1]= A[2];
i=2->A[2]=A[3]:
i=3—>A[3] = A[4]:
i=4->A[4] = A[5]:
i=5->A[5] =A[6]:
Sadee (S il A Lo glala Sa VL bl waa s b

YamE AVY
e 50 a8 o dia )y 0F il (Chr(32)) g sy 081 sa gg i SIS AT 51 alsps aaled
g oo abdd s o gl

¥ X -AVE
ialy ol aal (Chr(32))g sy a5 Js! S3SLLS S80S o pg st Sl SIS 51 aals

JJAiGA‘ALA:‘;‘JlSA:JJJJA.Ai‘Jf.CJJJ;SGﬂ
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¥ s —AVD
S SIS Yol 4 a1 V- SIS 053 31 COPY(S,10.2)amsti Lo ot wal A N=12 , P=9
el u‘J.; TXtu.a.e J‘)‘.:Su.n EXJJ K) a..\‘)s
3 as -AVS
Copy(S.3.2) = 34' = Val(34'.V1.C1);
JJ:...HJ J.a.al; < 3.5 ..LA‘JAV]: 34J‘J§-4
Write(V1+56) —> Write(34+56); —> 90
Y auS -AYY
S ="ali' > N:=Length(S); >N =3
i=1—S[1]="a'—ord('a') = 97 - 32 = 65— Chr(65) = 'A'’
i=2—S[2]="T—>ord(N = 108 - 32 = 76 —> Chr(76) = 'L'
i =3->S[3] ="' > ord(i") = 105 - 32 = 73— Chr(73) = I
Va3 -AVA
Y auis -AVA
¥ auis Ao



=55 sl g —11 Lad susdid oo

el g ol 5 S (81 (e 0 (436 d 43S alus —AAY
Function F2(F:integer):Real: (¥ Function F2(F:integer):integer: (\
Function F2; (¥ Procedure F2: (v

vl eldS U~| CA.ni'SJ..a 4;33.: .A-n.ﬁ\.a N-5 t..l':'l o JSI -AMY

Function F2(N:Byte):Byte; 10 (v
Begin
TF N=1 then F2:=1 15
Else F2:=F2(N-1)+F2(N-1); 16 (v
End;
32 (¥

Function LngF(intn:integer);

Var 15 (»
intcount:integer; 120 (v
Ln:Longint;

Begin 60 (v
Ln:=1; Ve (F

For intcount:=intn downto 1 do
Ln:=Ln*intcount;
LngF:=Ln;

End; Mgy sl —ME

il sl asa O b adluilan Slaie 6wl (o Sl sa sl ()
adly il vga O b ajluilan Hudte S wl o SRl s sl (Y
2 OIS s By sas o Lasfiiie 1) (g5 seolie HlsS g (Y

(

W I Mo it so Lo 1 agsa b sug0 lasaate Ol o (F

el o aali g gy Ggldiag g0 yu du iR alas —AAD
S0 O JBie o) gum 4 1l 5 900 LI olie S st S aiile Ol 15 Jlss (M
amb Gdls ason sals wb Al all il a5 o4 solo w5 e Jls, (Y
Gl s gy ol (Sas lS Ha s sl s ey @138 st K Jilaa 55 SO Sa(Y
il

e oV S5 4 3L s 5w pe 5S3 Ul olsie bA sl Lo asoa sals g (¥
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Function F(i:Byte):integer;

. 10 (A
Begin
IF (i<=0) then S(v
F:=1 4 (v
Else IF (i<=1) then
F:=2 6
Else
F:=F(i-1)+F(i-2);
End;

Sl panis JISeily o Wadalh j 539380 g0 €S alas —AAY
il o B GlS g5 saiiidy a5 gladelia ) o Jlao o0 S aololiad gladel 55 (A
oo olS g st al lad el 5 mls o 5ol glae ol (Y
2l o
wal 4l Ll 5 Lasuate (i sal ciand 5 Jlgs Basas dae (¥

Sed aSA Ly e 4l e B SW 4 bs e End (¥

-CJ““&‘-&‘A&‘jsg?jJ&Jh‘JlﬁdJ}“Jd‘c‘:‘;?us ~AAA

Ably Gl s g5a S5 Gl w3 e aal 65 ()

el Slae i lgie ja BLAT g oA el sl By pas (Y
.J;SUALJ.A“J.:}:J‘J‘){:}‘J&Ba&‘&ﬁ-&JJéM‘@JF\)&‘JQ\_&EJ’S(Y
(

Gl alaS pranis a5 -AAR
il Al g n e o il 5 e 138 Ul ()
il il oA aols 83T e s (Y
s 5S3 s g 0A sals gt aali ) Glsie bl gleml a (Y
S8 e e osea sty (AL Hu b sk s g, o (Slsal s (¥
el Coin jall a3 alus Jl gy S (sl yial jly a g ga yo —ARe
loal oo Shlie suate 4y aaan 5158 ga 50 SALL S Ha s soleie Sl Jats 1Y
s et Ul
oblaie yuate 5 slaSe cpl asan 5158 aa s STl K6 Ha 1 ohEe I JAls Sa SI(Y
08 e D108 5 s (Slealod Lo
Al Glla s ey B pate Kl a5 Siell 5o gl (o (Slealse s Ha(Y

il el Bl il My (eatsi 5o T L B saly g b el sals g6 (¥
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Function LF(A:Byte):Longint; 1y
Begin 24 (v
IF A>=2 then
LF:=A*LF(A-1) 60 (v
Else 120 (¢
LF:=1;
End;

ol praanis JiSuily Glaj 5o pal 5 g el pa w90 po S plas -ARY
e (g5 LS il s g Ladal s gla el ()
e g b o pols lasnel L (Y
a0 IS R0 i b el sloe Sl Olsie @ Glsee 1 @B (Y
(

0 OS5 R0 i b 4ol sloe SReluly Olse s Gl 15 sl (F

ol paas (Pracedure) J g, g (Function) auli o) go jo 43S alas -ARY
.Jﬁbm‘dﬁﬁ\sﬁad‘d J;‘JSLS"’@BGJJ M‘fﬁﬁ)‘&&,cs“)‘duﬁ‘hd‘\ﬁ) \

s G a0 g 8 el g Geddie agsa adla g g, Clsie baa gl o

(
.._\..iqul.il._\;G;.\s‘)Amb..\lbsu.adl\”61\5.:;“14_:.\5‘);‘)1.13&;&36\)\4&314;@B(Y
'\
(

.Jﬁu_auasﬁmdb)gc._.ungglﬂLj;dljJLj@l:yume)lm ¥

099 a2l g3 4 g8 aali LS a8

Function Fact(); Function Fact(var n:integer):integer; (\

Begin ) )
IF n<=1 then Fact:=1 FunctionFact(n:integer):Real: (¥
Flse Fact:=n*Fact(n-1); Function Fact(n:integer):integer; (v
End; Function Fact(Var n:integer):Real; (¥
el {;US myalip 29 -AlD
Function ML(N:Byte):Real; 1.50 (v
Begin
IF N=1 then 3.00 (v
ML:=Sqrt(36) 6.00 (v
Else
ML:=Sqrt(6*ML(N-1)); 20.00(¢
End;
Begin

Writeln(ML(20):0:2));
End.
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PG 5 T p800 g A i g gy Y o g Lol dali o X padtio WS 4B 8 -ARS
ol anis 438 alas fond A el asla S A jaaiug gy e 9 gd B oy pasB
cnnla e 51 oliead L cussaae oyt gl sl delis ()
S aolaiiul w5 o Lauiic 4ad 51 B e g s A e s 5y ool 4ol (Y

el s By a5 gla i 3l ol Hu o gane G i 1M A ae s (¥

(

.:.\.a.u‘a._s.‘id..:“JASGLA‘).jila:)‘aJuL1JJ@“JJJM@M6‘J‘JBHMJﬁ: ¥

ol alas 199y 2l o295 adibb-5g2a-2 &1 -AQY

Function MP(a,b:Byte):Word; 7 (\
Begin 1
IF b=1 then MP:=a a\
Else MP:=a*MP(a,b-1); 25 (v
End; 32 (¢

(n=5 uéJéé..n).CAmldJ}a?US;;:b:Jejuuﬁu._}‘gJ& ~AJA

Function k(n:Byte):Word; 720 (3
Begin
TF n=1 then k:=\ 120 (v
Else k:=n*k(n-1); 24 (v
End; 0
Const Caal] {AMS Py doli gD -A&AQ
A:Byte=5; 5 7
B:Word=7;
Function T(Var x:Byte; y:Word):Byte; 7 35 (¥
Begin 35 7
X:=X*y;
Vi=X-¥; 32 28 (¢
End;
Begin
T(A,B);
Writeln(A:5,B:5);
End.

Function LP(a,b:integer):integer; 12 (v
Begin
IF b=1 Then LP:=a 27 (v
Else Lp:=a*LP(a,b-1); 64 (v
End;
Begin BI(r

Writeln (LP(3,4));
End.
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att| el.AS &\L@‘LS::JS c.)lﬁ&*a.w‘g.a)d -9+
o2 e ool I gusos (Y sed ous o cl (I ag5a (O
pliSaaa (f o ol asa a5 usss pa (¥

.Mlelﬁdy@ﬁn=4ﬁlxj&ﬁ@3‘,i —Q.Y

Function Loop(n:integer):Word; 2 (\
Begin
IF n<=2 then Loop:=1 3
Else Loop:=Loop(n-1) + Loop(n-2); 4 (v
End;
S5(¢

i Co yald (o8 S (sladolh j 0588 5o i K alus —44Y

il slie b s it conll o ey el (e g2 slasTell ()
Al A (B 5 (5350 (et 23T e S sla il L (Y
w3l Sl 8 S5 e e ol a (7
il e Sl il pal i 1 o oS (Jobe b ddaa 4 Qloa S L3 45 o (Y

.leelds‘gf‘gJML'aﬁu._;‘gJé —Q+¥

2 7 140
Const a:Byte=10;
b:Byte=5; 25 12
c:Byte=12; 10 7 14
Procedure opp(x:Word; Var ¥,z:Word);
Begin 10 5 12¢¢
X:=2;
yi=xtys
7:=2%y;
End;
Begin
opp {(a,b,c);

Write (a:5, b:5, c:5);
End.

Ol G 3 i alosP Yl daaagi e 440
Var a,b:Real; Cotl St pd A58 Jgyamast

Procedure p(var x,y:integer); Begin p(trunc(a). Round(b)): end. (\
Begin ' (v
X:=X*y; .
yi=x/y; Begin p(2.4); end. (v
End; (f

Begin p(a.b); end.

P(ab); wgd iy5a8 maio o gem Lol 4aliyy jubya slasuiie
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Var

x,y:integer; (
Procedure M(x:integer; var y:integer); 4 2
Begin
X:=Xty; (
y=x-y; 2 4
X:=y*2;
End;
Begin
X:=5;
y:=2;
M(y,x);
Write (x,' ',y);
End.

a5 8T Gy 1 allis aoli (2955 -4V
Const x:integer=2;

. 2 3(
y:integer=3;
Procedure k(x:integer; var y:integer); 2 6
Begin 2 2
X:=X+1y;
Yi=X-Y; 6 2(r
Y=y 3;
End;
Begin
K(x,y);
Write(x," ',y);
End.
(X=F 02 8 4) 9] Cona | oo ol (2955 -0A
Function F(x:integer):integer; 10 (v
Begin
IF(x<=I) then F:=2 26 (v
Else F:= F(x-1) + F(x-2); 16 (v
End; ‘A‘ s (¥
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Program Prog(output); 1230
Var
A,B,C: integer; 217
Procedure M(Var B:integer; A:integer); 12 3
Var
C:integer;
Begin
A:=5;
B:=6; 6 2 3
C:=7;
Writeln(A,B,C);
End; 1 2 3 '\
Begin 5 6 7
A:=1; B:=2; C(C:=3;
Writeln(A,B,C);
M(A,B);
Writeln(A,B,C); plsSsaa (¥
End.

N
~J

Sesd Al ) 4o s S -4Y.
Var Cul plaS p3 a0 L o295

X,y:integer; 505¢
Procedure M(x:integer; var y:integer); 4 24
Begin

X:=Xx+y; 2 2 (

=Xy 2 4
X:=y*2;

End;
Begin

x:=5;

y:=2;

M(x,¥);

Write (x,' "y);

End.

-

Y

-

‘c

‘?CA.n.ul?ld.Sd_g.n.ﬁuéJé n=4§|x‘3&l§@_g)i -4

Function Loop(x:integer):Word; 20
Begin 3 (¥
IF n<=2 then Loop:=1 4

Else Loop:=Loop(n-1) + Loop(n-2); \
End; 5(¢
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Gl alas 949, aali 295 il x=64 &1 -1y
Function Sqp(x:Word):Word;

Var 8.0
¢,s,n:Word; 16 (¥
Begin 64 (v
c:=1;
5:=0; 1320 (¢
n:=0;
While s<x do
Begin
S:=s+¢;
inc(n);
c:=c+2;
End;
Sqp:=n;
End;

S alus ju) pali o2 g,A sdibim:=3, S:="2135" &I QY
Function Ver(S:String; m:Byte): String; 135

Begin 0
IF m=1 Then 213 (v
VCFZ:SI]] 312 (‘.
FElse
Ver:=S[m]+Ver(S , m- 1); 531 (¥
End;

Var a,b,c:integer;
Function x(Var a:integer; b:integer):integer; 8
Begin 8 8 4
a:=a*b;
bi=a+b: 8 12 4
X:i=aj 12 8 8
End;
Begin
a:=2; b:=3; c:=4;
b:=x(a,c);
Writeln(a:3,b:3,c:3);
End.

4 12
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Program test; G gudi o0 aladl las dn ju dals ju gl al &y g j0 210

Var
izinteger;

Procedure F1; S et al g au gl et Jae sllad (glols aali

Begin

i:=i-2;

F2;
End;
Procedure F2;
Begin

i:=i+3;
End;
Begin

i:=1;

F1;

Writeln(i);
End.

Program Sample(output);
Var
X,y:integer;
Procedure godoit(x,y:integer);
Begin

Xy

y:=0;

Write(x,y);
End;

Yi=2;

godoit(x,y):

Writeln(x,y);
End.

J\’.A.::.IGA;“).?‘Jbd\%FzJﬂﬂb\’A&&‘\H&L‘c’A(—s“)‘duu‘ﬁ \

Y
\

(
(
(
(

S gy oilan o234 AV
2001 (y

1020 (v
2012 (v
1234 (¢
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Procedure BLE(L:integer; Var A:Al);
Var
Pass,i,temp:integer;
Swap:Boolean;
Begin
Pass:=1;
Swap:=True;
While (Pass<L) And Swap Do
Begin
Swap:=False;
For I:=1 To L-Pass Do
TF A[T+1|<A[T] Then
Begin
temp:=A|[l];
A[l]:=A[T+1];
A[l+1]:=temp;
Swap:=True;
End;
End;
Pass:=Pass+1;
End;

Gudu o0 alad (Gl an jujaols -4V
Bubble iz, L1y A wl,l yablie (A
B R e R
insertion s, L1, A 4l jalic (Y
DS o e (S s oy gess
Bubble s, b1, A el yoalic (¥
WS o e Gl s
A+, A(T) omie g5 52 i (¥
S sl Bl S e alie S L
pa L1 g oF sla sl 8,5 e g0
WS e o250

GCael alas O 29 il 9 5 &b 599,49 S -4%A

Function Stp(A:Byte):Longint;
Begin
TF A=1 then Stp:=1
Else Stp:= A*Sip(A-2);
End;

Var
A,B:integer;
S:String;
Begin
S.=' v;
A:=19;
B:=2;
While A>0 Do
Begin
S:=Str(A Mod B)+S;
A:=A Div B;
End;
Writeln(S);
End.
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Procedure Wo(S:String; N:Byte);

Besi Reza (v
egin

IF n<Length(S) then azeR (v

Wo(S,n+1);

Write(S[n]); R(¥
End; zaR (¥
Begin

Wo('Reza',1);

End.

Gl alos audily n=40 31 .} &b s 47y
Function Ad(n:Byte):Word; 420 (y
Begin

TF n=1 then Ad:=1 1600 (v

Else Ad:=Ad(n-1)+n; 780 (v
End;

820 (¥

IF Not(m>n) Then
For i:=m To n Do
TF Not(odd(i)) Then
Writeln(i);

. . . 174 (v
Function F(x:integer):integer;

Var 423 (v
k:integer; 9
Begin 792

k:=0; 452 (¥
While x>0 do
Begin
k:=k*10+(x mad 10);
x:=x div 10;
End;
F:=k;
End;
94‘9-1-:1“-45;:‘% .............. aS g o Julda dalh g gy gldal b -4y
Procedure P(m,n:integer); NEmM ¢ 45 slsel salym<n (3
Var
- . N ~
isinteger; nm a8 slael szl m>n (Y
Begin nim a,d alael 0zl m<n (v
(

nEm S o ge slael sty m>n (¥

End;



oY | P Slrdlipg VY fad

Shade il s (0 slaail e 3 o SN gbo ) rass aul )T S0 as waiss (o3 9 -ATF
gi) C;...uIJ..nIJ..tFJd amﬁad&ldﬁrﬁﬁa@.ﬁtx& c.nﬁu.:l‘galﬁtl;):ua.mlx s

Function TEST(N,X:integer; Var Y:Arraytype):integer;

Var
izinteger; X=Y(}) < 1
Begin (1) S sosl o THI(N
i:=N; X=Y(1) oS o5k a1 lake o S (Y
While X<>Y[i] Do i:=i-1; - P -
s . : X=Y () o ook 2 oo (it (¥
End; o 3325 Y 5T 5o XaS Slasdy alaas (¥

Ol 48 o las (10 guad 0 1y gt @S (e S GBS 0 1y ) deli s ey -AY0

Procedure Test(N:integer); GaasS Clailasg eo plad! dell y )
Sum:integer; ) o _

Regin e 1 O all pan 5 008 e 15 Nuse (¥
Sum:=N; joSe = slystabs,) o, L 1, Nuose (¥
IF Sum<10 Then oY AR A(

Write(Sum) e K A
Else “)&IME‘)BJAMLA:\EQJJJ_“SU.A‘JNJJ.C(\G
Begin )
Write(Sum Mod 10); e gigeo Ve
Sum:=Sum Div 10;
Test(Sum);
End;
End;

Slafe 5 OF sl ju 5 (S Jilaa L (N gb a)pmanis il ) Su A aiis o5 3 A5
J_.nlJ..n c_ﬂ.}&!_ga'lﬁ\,l HTRYJI& d:lJ:lS.lJb.le bTRY c_.l‘:l.CJ.l.ulB ain

Function TRY(B:integer; Var A:Arraytype):integer; b
Var:

J:integer; A[J]=B «< g5k« JHI(N
Begin

ey A[J]=B € g5 50 s J1 (v

While B<>A[J] Do A[T1=BaS (g0 an T Sluia oo st (¥

Ji=J+1; 3
Try:=J; AfJ]7B «< g b 4 T Jlata fuaaS (¥

End;
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L CA.n.ulJ..\IJ..\ DigitJlﬁa Test e Lo gs“Ple Lo s JJQ.I gy B MDJ.‘JA", -ayy

Procedure Test (M:integer;Var Digit:integer); M sae ala )t pealala (3
Begin M Jic ‘AGJ‘ o J.a.al; J..:“)..: KR (Y
Digit:=0;
While M>=10 Do M sse 5sa UM sae Al paabala (¥
Begin M sie S (slea M use sl pendusls (¥

Digit:=Digit+M Mod 10;
M:=M Div 10;

End;

Digit:=Digit+M;
End;

................ Logic jluis aali Guulio Sl gal 8 5 s QYA

Function Logic(X,Y:integer):Boolean; il Sy ] g (N
Begin e cos XEY gl a4 L (Y

Logic:=X<>Y; ] -

IF X=Y Then Logic:=true; e ey XHY (ol 4 L (¥
End; ol o slaels el ole) oo ikt glad e 4y (¥

Senn R lads ALFA ol 5 1ol 3 gy ~AY4

Procedure ALFA(A:ktype; N:integer; Var R:Real);

Var

Be]g:i:]teger; =08 o8 5 s leal DRI ) At ca (3
R:=0.0; =08 ohad (WL 5 Lol jhd s by e (Y
E(::R]j.?z[]f(l),lll\i:ﬁg]_l]; e B YR L;L-"‘ BUCRER W Ls-B‘J S (Y

End; omibe Lol 5l (Y 5 Jhal 5l 55 Al o (F

;X &a...aﬁfmjmujsu‘m.l}a"l S 4S8 ol &z&md.:bi.&:YA:uS ua s -Av.
F jo oomdi 00l )5 11 jlalo) Gl aloaS yy aald (Al 430 18 daaih omdily oo | yla
ouii a3 Array[1..100]of integer; o go wu Arraytype suis 15 §9ciuns

Caead

Function F(X:integer; Y:Arraytype):integer; (
Var X<Y[] oS o0k s I+ (v

L:integer; X=Y[] «< (g 6k as THI(Y
Begin B

I:=1; ol Ssase Yool 50 XaS Slady olaas (¥

While X<>Y[T] Do st S s ge Y asl,T 5u X oS ilady alaat (¥

I:=1+1; h h
F:=I;

End;
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o raaa TRY jlufia u) g0 j0 438 alas a5 aali s 2 5 gy -4FY

Function TRY(A,B:Real):Boolean; el 20 ASBaS g8 L ()
Begin -C.u-u‘ [l PPN A<:B4.S -*J w Y

TRY:=(A>=B); S = . (
End; el 50l @ el et 50 ci 0 A<EBAS S5 (Y
waal 0l o il ue 58 g e s A>=BeS S5 (Y

Sl gasia Javab (55504 90 59 438 alas g5 i gl 3 sy -AYY
Function Javab(A,B:Real):Boolean; 85 L ol ey Javab a5,0 (A
Begin A=B «
Javab:=(A<B);
End; A#B S 555 g5 cond oo Javab i3 (Y

51y gl (sl a5 e i easis wlas! gladdl ;T XY as wis 8 8 -AYY
ol als ju ouddi ouily )= s jlule (yo guad o Cya 4R Y, X ouds (i jas slaaal )

fass (aas ) F
Function F(X:xtype; Y:ytype; N:integer):Boolean;

Var
irinteger;
Begin
For i:=1 to N do
Begin
F:=False;
IF X]Ji]=Y][i] Then F:=true;
. End; sl 5ol aa BY.X sl Nglaaal s e il a5 Flaga (A
“nd;

(
(
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Procedure TRY(Var A:Atype; N:integer; R:Real); fowa R
Var

I:integer;
Begin
R:=0.0;

For I:=1 to N-1 do .. .

R=R+A[LI-1[*A[I+1,1]; 3 heal SR8 5 il ol (0

End; A G sile ol S5 SV

A Gugsile ges8 SR8 55 g Glal S8 YL Al s (Y

A G sle (o8 SIS 505 g el BB 3 A G (Y

A Gusile o8 SR8 (Y o Glal Sl Ly Al o (F
oo oudidawulaa jlade uulia (5399 (sl el jls LTRY dals gl ! 3 s -AY0
Sosed alas R

Procedure TRY(Var A:Atype; N:integer; R:Real);
Var

T:integer;
Begin
R:=0.0;
For 1:=2 to N do
Fnl;.::R+A[I-1,I]*[I,I-]] A G sile o8 1S a5 g Geal Gls a5 Al s ()
A Gusile o8 b8 (VL 5 Ll Hla 5 s osea (Y
A eisile o8 k8 55 5 Gl Sl (VL Al s (Y
(

A Gupsile glol Sha (¥ 5 lal Sls 55 Jlals G (F
9yl g0 ) S alus(Recursive) i€ 5l (5 jludols jo SOAST 5 ouldinad U adady jo -4YF
sl SB3 0580 525
oLl paste b dadile 0l 4 (K5 el dugs s ()
Lt 80 31 2 (s5lemmaliy Sl (Y
oad Spam Lo aliala 51 aigs saléied (¥
aaligs ghoad YU cae e (F

Function Sum(N:integer):integer;

Begin &0
IF N=0 Then Sum:=1 F (Y
Else IF N=1 Then Sum:=2 A
Else Sum:=Sum(N-1)+Sum(N-2)

End; Y(¥



TOY | P Slrdlip VY fad
Gl p3 9,090 3 Saolas yu (Procedure)a g, g (Function)aals o glds -A¥A

el sl Basds 51 Lasoly by, (A

(¥

(v

“)'?‘)‘u"‘@‘)ﬂdtl"o"‘;‘d;)fd&‘F‘J‘Z"JA;JJ
4ol (gl s (Moduiarity) (o s ghilesy clla slal 5o

25 Cuge wVectors g1 aSais (18 58w S IS o JlSiily gy a1y 5 g, AT
|J&\.LLA4_.I:35§NOW (_;lﬁl‘gelplﬁjluﬁﬁ&ulaﬁ@ﬁ&cluuﬁJd

Type Arraytype =Array[1..100]of integer; S (pasad

Procedure Now(Var A:Arraytype; N:integer);

Var
I:integer; p
Begin AT 0 ALl o vae 0o 558s oS ()
F:=1; & -
While T<=N-1 Do ~ e
Begin AT o0 AT Ja aae 038554 (Y
TF A[T|>A[I+1] Then A[I+1]:=A[1]; & -
" I'] [T+1] [T+1]:=A[T] 8 e Sl
T:=1+1; N
End; JF@QﬁGJ\MGJH%A%‘J‘(Y
End;

Sadee e (Je s ga AT (F

faaS g0 dpulaa |y Gua da (1 98158 51 Gy JiSiuly Gl s ) ol 4S s (e -AF .

Function TRY(N:integer):integer; 0
Begin 1
TF N=0 Then TRY:-1 Ny
Else TRY:= N*TRY(N-1); N (¥
E .
nd; ON (¢

Function F(M:integer):integer;

Begin 2()

TF M<=2 Then 0 (v
F:=M-+M+2

Else 2(r

F:=F(M-2)-2; 4 (¥

End;



Program Sample(output);
Var
a,b:integer;
Procedure proe(x,y,z:integer);
Begin
y=y+l
7:=7+X;
End;
Begin
a:=2;
b:=3;
proc(a+b,a,a);
Write(a);
End.

e § Pl Slbo kil Cud 100+ | YOA

S| eldSJ:aj daalh 29,5 -4¥Y

Al Cral ) da 3l S da (o g A oud diudigh ualde FUN(64) J1gal 3 L —4FY

Function FUN(N:integer):integer;
Begin
TF N>0 Then
Begin
N:=N Div 2;
Write(N);
FUN(N Div 2);
End;
End;

Gl

014160
128 16(y
02832
12481632k

Function F(x,n:integer):integer;
Begin

TF n=1 Then F:=x

Else F:=x*F(x,n-1);
End;

Function Z(k,n:integer):integer;
Begin
TF n=k then
7:=k
Else TF n>k then
Z:=7Z(,n-k)
Else
Z:=7Z(k-n,n);
End;
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Function Test(x:Real):Real;

Begin Xta O
Test:=x; X_lada (Y
IF x<0 Then Test:=-x; . .

End; X DS

X alal ohaas (¥

Gugs wal ga QWJL@A a9 % jlaal P(5.5,'+',W) Ns da gy aelh 0 S -4¥yY

Procedure P(X:Real; op:Char; Var Y:Real); 6.5 (\
Begin
IF oP="*' Then 16.5 (v
Y:=X*X*X 27775 (v
Else TF oP='+' Then .
Y:=X+X+X-10.0; Cosh o slao (¥
End;
Function P(x:Real; N:integer):Real; Gl alas ja3 daolh yo o Slae —AFA
Var S e s GBasA Lo 15X luie SLN(Y
Pr:Real;
Count:integer; S o pea (B sd L1 X Slage SLN(Y
Beig)in o WS e pan B L1 X L TYVAA (Y
r:=1.0;
For Count:=1 to ABS(N) da S o ed GEa A 53 X L YYVAA (F
Pr:=pr*x;
TF N>=0 then
p:=pr
Flse
P:=1.0/pr;
End;

Gl o dujS alss pj wbiparaagnlh AT
Function one (intN: integer): integer; 1oy 1, O oS e aae N o 3 =50
Var

intcount , intM : integer; Sy
Begin s 1o of Co 5SS ane N (o 358 6 (Y
Write('Number='); <
ReadIn(intM); et
For intcount: =2 to intN Do LS aesana glail 515 00en §o8 pl5 (Y
Begin o -
Write( 'Number = '); et
Readln (intNumber); S e SIS Sy as Bod s (¥
IF intNumber > intM Then
intM : = intNumber
End;

End;
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ol g A (S lala Ly judia yioljly )y g s dalyT syl 0y 80 5 g 3S plas A0
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(
ol B T Guso T aiie b golae el sl @ e 4 4l T Jlast Lo (Y
PR ISP TpT PUNLSVETR R IRE Y IR N I PN (L URC VNP Y I | WOV IORY |4

.J‘,Ji.&au\:u_u‘)ju\_}fﬁ")ggb—ld.‘)ﬂ‘J_g:.ﬁ)hb\zgc_s‘)‘,_mggﬂﬂdb_u)!‘)a(\’

Gl s daf )T g Ladall j ) 9580 j8 43S alas —A0)
il & leat el a1y T w5 e asa Al L a3l (A
il S s sheal aalisg 4 15 4l T il 55 e wsd Al L asls (Y
S o B (guly aliila agli Al b leal el ag el T usla S (¥
il & et el 4 1l T il g3 et sa Al L asls (¥

ouldi il (4lida (sladaa ju g coladu daly dall pya ) S Gl gldaked il gaa ol 8 —A0Y
S o oaldiuul gy (lSal alus jf asis

wobise s (¥ Lt ()

e saue sl uie (¥ sl sl (¥

Gl yipmais Funetion < (o ;0 (i ja5 alas Jisuly s 5o -0
Aol aems mosd S s sagss e b S Function K sa ()
Aol s oA i b S suuu Sy Function S o (Y
Aolaosay o S g sagos < Function < o (v

.._)JllJ._)j._;\s@JF..&%LJ“&“&GJJ‘)j.A:\%LJ“&“FUnCtion&“‘)J(\F

St yipaais Procedure < (gl o Ao yai alus Jisuily (gl yo -A0F
ols sy oA B g (g0 s Procedure S o (Y
Aolaasay s S g s <o Procedure 6 (Y

ols s oA So g (susuy 2 Procedure S o (Y

...!J‘._\..!J.?.J@JJ&JS.%LA“&“J6JJJJA3%LA“&“PFOCCC1UFC&“‘)J(\;

Gl 20 4 s Recursion o3 g Jisby ol 50 -00
S AT 5 1 a A 0 g daliye e S e lKha (3
g otand ol T 5l aeli sy Ko Lu aS l0a (Y
(I D 5 sl (53308 O bl Ko oS S (Y
s sotand Type 51 aeliyn sy K o aS LK0a (¥
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Var

n, y:integer; "LSLS'" d-u.ut;a b ;,ula 3 s Jae N s J...ALA (\
Function F(n:integer):Longint; 35 o0 cd S 53 15N oo 5 aais sse LN (Y
Begin . . . <.
eIgF n<=1 Then F:=1 sl el (g g padetie Jae (7
Else F:=n*F(n-1); IS o clewa 15N e § anis sue Lo 6L (F
End;

Begin

Read(n);

y:=F(n);

Write(y);

End.

S50 dm g aalS Gl pal 31 (e a3 s alael glaaal ;T X, Yds wis 5 8 -AQY
ol Al jo sadioaihy K jlalle (po guad jo oo ya S XY euh (it slaaal i
Function F(x:xtype; y:ytype; n:integer): Boolean; S Gaaai | F
Var
irinteger;
Begin
For i:=1 to n do
Begin
F:=False;
IF x[i]=y[i] Then
F:=True;
End;

End; Jl--tb_ _)._n“}:: \a& leX,y ‘A‘NGLAM“‘JJ 4< =l Caen 3d 635\5 F‘)‘Jla \
Y

(
C.u-u‘ ;_\......J._)UFJL\L(
(

by gy 8y 90 plaS JlSly jo B jlad o 5 -A0A
e dlss s culi (Y s sedte, el (3

:;_:U . ‘);-333-": LJ‘JJ (‘; ‘)':333"’5 :_\_:U, L.“JJ (Y

Rt | s ufJS {a|45 -404
WS la 1 aate Slde g s p s (e Sl goeate Ho Clead 15 Ladls ()
M@JFG‘J‘JM‘A‘MJ‘JJY

(
(
(
(

Al S,aWritelnh Write a5 0 S gin Hu Sleals gl ol oo 1 Ladls, (F
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Const L dols p Gl 2958 -45

A:integer=2; 22.(y
Function M(Var A:integer):integer; 28 (¥
Begin

Ai=A+3; 10 (v
EHIZI/[;. A+l ajle Uaa (¥
Begin

A:=A*2+M(A)*3;

Write(A);
End.

oy gy il 29,8 -4
Const

A:Word=4; LLER (
B:Word=6; 4 55
Procedure Test(x:Word; Var y:Word);
Begin (
x:=x+Suce(y); 4 (
y:=x*Pred(y);
End;
Begin
Test(A,B);
Write(A:5,B:5);
End.

St (Ugy s gli)ee 8 ol o SS9 £ 52 S plos AP
s o GRAIS T el ana oo 58 sladalis ()
S o oA |y aaliy (obllaa ge 8 gladeli (¥

A o sSsla liia glas gl ST 51 e 58 (sladali s (
e Yo 1 aoling olilsa o8 sladalin (¥

v

a6 g an 3 i (5L yialyls Jlgy S o 6318 L (0 s AlS5A 4y —45Y
solsie sla el b (¥ Gose slasiall ()

Oty sla el (F 23lg la il L (7

Gula oAl g3 7 5 thed da it
illegall Function Call...(y Type Mismatch (3
invalid type (¥ Constant out of Range (v
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Glal alas (5 5 gu (SLA yial 5ls 1 92! -4%0
e LTl o LA (T e Ll ke sl il (

ol slasial sl adsl slasial sl (¥ el sla el ke sla el (¥

“A.,,‘:‘;'O‘j—."“‘-,‘bL.Jij"J‘JJ:‘:";:"JLs’ij:‘-“J‘;‘&,,‘Gb:‘-;‘dsgﬁ‘L‘bJ:“b‘;“‘t‘ -{55
G0 gudi o0 oasali.... yiol jLy aila B a9 W gy 3 Jeols

oslE (Y s (Y il (Y slada (3

Sudila (5 shalo (sLa ol yly £65 51 wala (55900 el jly 3 9yl 3 S plas o —AFY
a8 s O 5 s Sigd oo aalic s g 4 ads sle Yl SI(Y
il & e leal o aels ys 4p Jlas ol Sledllt SI(Y
la 8 i T ) g e e aulin 8 Jlgy 4y daid el K1 (Y
Al 8 et GleA T8 el 4y s 5 oledlt SI(Y

L ol )l 9 51 asS (55 5o (sLaa il jly Ly GBI s g o o lae g lgals —AFA

=B (F =8l (¥ oaie (¥ lsza (3

Sty il hal sl ¢ 53 42 3 sl qalh 51 yiel sy ~454

culs (F 8l (¥ ba (Y slaga (3

e Sy ag S g e BUs ita 5y un yial )l Syl aS el sl S AV
Gula aal ga 7 tbed da bl
illegall Parameter Substitution (v Number of Parameter Does... (\

o aal g25 55 llad (Y Type Mismatch (v

JIay Ty Cya A1 9A1 58 ) d 38 alas wiils Realg g3 51 R g integerg o5 31,81 -V
Procedure P2(Var x:Real; y:integer); Gawiiba o a3
P2(i,R) (¥ P2(2.5,1.0) (v P2(2.5,R) (v P2(R.2) (

o gy bl (29,8 -AVY
Function F(y:integer):integer;

Begin 40
IF y<=0 Then F:=2 8 (v
Else F:=F(y-1) + F(y-2);

End; 6 (v

Begin 2(
Write(F(2));

End.
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ol it 515 Oy ghend 95 90 yo LAk 3 5 S alas -AVY
Function Test(S:Array[1...10]of integer):Real;

Var
izinteger;
Begin
TeSt:=0; K ys g aa sl el 3ol (N
For i:=1 to 10 do A Sl L«(~
Test:=S[i] + Test; sussl oty g e Vel
End; ._\l‘d‘)gu.a‘).:;

sl o) Test il 55 iy a5 (¥
s msuu( 5 i) Ju Al Gb, uuy_ru ERE J1(

caldi il (gloaly HUBAL i alus 3 0 ga Cilalee (4 ;s (Recursive) a8 L gladly, -AVF
Gaaas oo
(Record) s, <, (¥ (queue) s (¥ (Stack) Gz, (¥ (Array) 41,1 (v

G s 43S alas -AVD

S Pleal B 1 Ghasa s pe L e L (gas Jss 52 ()

L P PRI -t ENPUNE SVRO R FOTDR - PR FE T - o Recursive iy cuye (¥
(v
(N-1) cdls SS 4 @l aIN willa 48 0393 o o RecursiveSass U Blae ¥ gose (¥
._\_jga RV \;1

(=4 (2 8 @) il ay 90 oS ila ) el 29,4 AV

Function S(n:Byte):Word; 720 (»
Begin
IF n=1 then S:=1 120 (v
Else S:=n*S(n-1); 24 (v
End; 0

Gada g0 Coii® (g lada dy ) C"L' -4vy

Function Test(x:Real):integer; s (M
Begin
|
Test:=x; Xolasa (¥
IF x>0 Then Test:=x-1; X 3llaa ya8 (¥
End; 83 aladl sl Joe (f
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gdies ol a2 42 a g (1913 Down (5) o gms 1y, (89 -AVA

Procedure Down(N:integer); 54321 (v
Begin 12345 (v
While N>0 Do
Begin [\
Write(N); 5(¢
Dec(N);
End;
End;

Sosma gy 102! 3l e (U8 Jlgw) N (oadlg Jialjly jlude QYA
54321 (¢ 12345 (v 1y 53

G prasus @3S alus —AA-
il s oA (i w8l g5 e ladlg (s a8 e s emgnA S bl al 55 (3
s 59 et S8 aals a5 5l Jeala agB g ot bl pod w5 S el alKa (Y
sl OIS cel s g5k Ladls,
1o @l Layiel sl Basle 51 badlss (s sl pe sabin 8 mols aval las o5 il 55 4 (¥
J;\l‘d‘)gu.n‘).::
ploSqua (¥

Sl SAdSh gladal g cus -AAY
ol w0 A2K50 gladeli o) loal o 0Se sla Slsal e sl as (Y
(

3l e dan (¥

OF i a3 il 5529 L ol gy anam 535 ol Y yo 1) Ul (M 3158 5,81 ~AAY

Sdiga ol (GealnE s st (388 Sl 5o G e ()
S oo al Jlgs S0 sa o g (Y
MM‘\#“)@‘ QK}:\AJ‘JJ (Y

........ SLA it als dy 0 gudi o (8 j20 ool dall yo i pati GEAS ju 4S ala judiic —AAY

4 gl o0 a.A:mL'a

el (¥ Sos= (¥ Sl e (¥ solada (A
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34_'|JSG_aQ§EaJJ|JG.l.‘A|Muﬁjlamﬁad&uﬁsuxﬁajﬁadsduﬁablﬁ —QA¥
A g o0 oasall . la paidia {al.':a..rm.f]l..nu.aJl‘ngJlﬁagaldehﬁéL@jM* 34

el (¥ Gosa (¥ Sl s (¥ solae (A

Suldiiid .y g 3 58 (shbdali ja da il jly (O g3e da Ladal 4T Pl yf (51 m —3AD

Type (¢ Var (v Const (¥ Array (\
Program Ex; S sl | ey aelige 295 -AAF
Var 23 12 11 (v
A,B,C: integer; 12 2 3
Procedure Test(Var B:integer; A:integer);
Var
C:integer; 12 3 (v
Begin 5 6 7
C:=10;
B:=A+C;
C:=C+1; 12 3
A:=B+C; 36 7
Writeln(A,B,C);
End;
Begin plaSaua (¥
A:=1; B:=2; C:=3;
Test(A,B);
Writeln(A,B,C);
End.
5 Gl & e F(Z,S)Jkﬁn Sy Ba jaly ) 4ald —AAY
Function F(x,n:integer):integer; 8 ()
Begin 16 (v
IF n=1 Then F:=x
Else F:=x*F(x,n-1); 0

(=4 5 8 ) 0y 90 oS la ) el (2958 -AAA

Function S(n:Byte):Word;
Begin 120 (v
IF n=1 then S:=0
Else S:=n*S(n-1);
End: 0 (¥
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(=4 58 ) ol 0 30 alaS ila )y welis (2955 -AAR

Function S(n:Byte):Word; 120 (v
Begin 10 (v
IF n=1 then S:=0
Else S:=n+S(n-1); 24 (v
End: 0 (v

KR PP S =8 sladalh g Lol dolh o (s ol §f b glad -49.+
Lassally (¥ Laudia (¥ Laaalis (Y oeotie (A

N Jad gidib lacui (oo pii daliuly

FauiE -AAY
Slaie patagly 8y et il S 1Al el ) el deliy o 15 5lute S b Function gl g3

Sed Ole asoa

¥ amis SAAY
N | F2(N) = F2(N-1) + F2(N-1)
5 | F2(5)=F2(4) + F2(4) = 16
4 | F2(4) = F2(3) # F2(3) = 4+4=8
3| F2(3) = F2(2) + F2(2) = 2+2=4
2 | F2(2) = F2(1) + F2(1) = 1+1=2
1 | F2()=1
Y S MY

Osp o il e dae K L o380 e (gl aplolind 5 SES5L sak 4elis K aeli ol
..\A‘J‘)gu_a‘).:dMBA‘JCJJ.CJ.EJJSSLSLHML&@B“‘GJJJJU‘J&MOJ‘JL
Sl=5%4*3%2%1=120
Y 4R -AAY
Y4 -AD
Y 4uiE —AAS
| (i) = F(i-1) + F(i-2)
F(3)=F(2) + F(1)=3+2=5
F(2) = F(1) + F(0) = 2+1=3
F(1)=2
F(0) =1

O = N L[



e 9 Fgmoll Slo GAsdids i 184+ [ YFA

¥ uis —AAY
¥ i3S —AM
Y4 -AA
¥ auis —Ade
Famis -A

S e olom 0T aaty aloa B Gupen g 3 o S50 allin S ey 1 3S5L 18

LF(i) = A * LF(A-1)

— N Wk wuip

LF(5)=5 * LF(4) = 120
LF(4)=4* LF(3) =24
LF(3)=3*LF2)=6
LF(2)=2*LF(1)=2
LE(1)=1

ML(N) = Sqrt(N*ML((N-1))

20
19

ML(20) = Sqrt (6 * ML(19)) = Sqri(6 * 6) = 6
ML(19) = Sqrt (6 * ML(18)) = Sqrt(6 * 6) =6
ML(2) = Sqrt (6 * ML(1)) = Sqrt(6 * 6) = 6
ML(1) = Sqrt (36)=6

MP(a,b) = a * MP(a,b-1)

NN RN N NI

MP(2,5) =2 * MP(2,4) = 2 * 16=32
MP(2,4)=2* MP(2,3)=2* 8 =16
MP(2.3)=2* MP(2.2)=2*4=38
MP(2.2)=2 * MP(2,1)=2*2=4
MP(2,1) =2

— N Wk~ th|Z

k(n) =n * k(n-1)

— N W W3

k(5)= 5% k(4)=5 * 24 =120
k(4)=4*Kk(3)=4 * 6=24
k(3)=3*k(2)=3*2=6
k(2)=2*%k(1)=2* 1 =2
k(1) =1

Y as -AAY
Yaujs -AQY
¥ au -AAF
Y s AR

¥ 4us AR
¥ au3s -AAY

Y auiS —AAA



TP | LA Sl fad

v awi -AAR
T(5.7)
A=35
B=7
X
5
5%
¥ aisE A
a b | LP(a,b)=a* LP(a,b-1)
3 4 |LPG4)=3*LP3.3)=3*27=8]
3 3 | LPGB3)=3*LP3.,2)=3*9=27
3 2 |LPB.2)=3*LPG.1)=3%3=9
3 1 |LPGB.1H)=3
YawiE Q)
Yaws Ay
n | Laop(n) = Loop(n-1)+ Loop(n-2)
4 | Loop(4) = l.oop(3) + I.oop(2) = 2+1=3
3 | Loop(3) = Loop(2) + Loop(1) = 1+1=2
2 | Loop(2) =1
1 | Loop(1)=1
YauyE ey
¥ auS Aef
opp (10.5.12)
X y 7
5 12
2 @O O
FamiE Q.0
YawE Qe
M (2.5)
X y
@ £
7 )
4
Yas Q.Y
X y
@ Fg
5 2
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Y ans —AeA

F(x) = F(x-1) + F(x-2)
FO)=FO5)+F4d)=16+10=26
FS)=F4)+F3)=10+6=16
FH=F3)+F2)=6+4=10
F3)=F2)+F(1)=4+2=6
FQ)=F1)+F0)=2+2=4
F(hH=2

F0)=2

O = N W I O\ A

¥ amis -4
M(1.2)

B A
© 3

Il
&
S

ﬁ;¢u1d‘\9‘)b‘$‘h\%§‘)\9§a—udoﬁ
Writeln(A ., B, C);
VAN
6 2 3
VauiE -4
QMWJJ@J4\5_..‘;6_@‘:41..3M2J14LyxsthSJ|JLXJﬂshguLa|ub‘ﬁJa

.._\...u‘)u.ay‘)filad.:as‘)‘._\la\sx)ﬂ.i:i.cQzJ‘J&Mﬁu\s‘)g‘)Jdﬁwadb‘m(s :2)‘)..:“._!&

X y

& 2

7 ®

10

Yaas -4

Laop(n)
TLoop(4) = Loop(3) + l.oop(2) =3
Toop(3) = lLoop(2) + T.oop(1) =2
Toop(2) =

Loop(1) =1

—_— N W B




™Y ] P salip Y fad

YawE Ay
c S n X 29
1 0 0 64 8
3 1 1
5 4 2
7 9 3
9 16 4
11 25 5
13 36 6
15 49 7
17 64 8
YauyE Ay
m ‘ Ver:=S[m]+Ver(S , m - 1);
3 | Ver(2135.3):=S[v]+Ver(2135',2)="3"+"12"="312
2 | Ver(2135,2):=S[2]+Ver('2135", 1) ="1"+"2'="12'
1 | Ver(2135,1):=S[1]="2'
S [#4]2]1[3]5]
0 1 2 3 4
Y awX -AYF
i) ge e 82 0=4 pualie L L X pols
a b | X b 2n
2 4 8
8 12

5 (C=A)ale e (Lo 538 (500 C il il 5 (D=8)a0S e LD st S oS 2505
sl ge 8= 8 ualie luds

Vs —410

rawE AVs

23 ela s S8 5 usd e oly seate slate AT wal s, b ab o oly st S
st ola s b s 3l st Jlayl late ity Lol aliy

PPRRYY



e § Fomols” Sbo (Sisdind i 100+ [ TYY

¥R —AYA
A Stp(A)
9 Sip(9)=9 * Sip(7)= 945
7 Stp(7)="7 * Stp(5)=105
5 Sip(3)=5 * Stp3)=15
3 Stp(3)=3 * Stp(1)=3
1 Stp(h=1
¥ e -4Ne
A S
19 2 v
9 T
4 1
2 0171
1 ‘0011’
0 100171
Ya3s AYs
fauys ATy

2
n | Adm)=Ad@m-1)+n

40 | Ad(40) = Ad(39) + 40 = 8§20
39 | Ad(39) = Ad(38) + 39 = 780

1 | Ad(1) =1

Y awmiE AYY
S o esSan 1 (0555 slate asls
k x | Fabieea
0 471 174
1 47
17 4
174 0

Y amis -ArY

W€ o gl LM N b £l slael g sl M<EN aS s o Hal FOr, gins syt 4y



LA AN B -SFP-T TVA LRUR R g =t

¥4y -Ars
Ot bagl wnly sud 1SS s Sl win ST a5 sl po delie Ll Sl 4T s
.J\,ﬁwc‘)l&&jldaqﬁ\a)&lbwﬁl

PR PR N

¥amis -AYs

RSP N+ U PRI I P R W BANVERS S R RN ISR IR YU Py 8 I RV Y RN

Jﬁ&“CJB&IAJ‘ﬁ"JJS\“M&“JQ‘EL‘

Y awE -AYY
M  Digit | Faliag,5
12 0 3
1 2
0 3
g o e asla 1 0 Jluie «< M yuate U Digit uaie jlase Whiledals obb La
Y e -AYA
il e Trues ol gea anslio oyl
Faus -Ara
Y auX -AY.
il ol X, YT ke 4 sl aolal e G Whileaala
F s -AYY
YauE -AYY
Yas -AYY

24 ale) s g upd oo lis X, Ya.glﬂGLM:,\JJmﬁJlJJlJEFOH_UAJJL‘;J.:’.
iy ol el o b el

Y 4wy -AYY

¥ a3 -AYD

YauE -AYF

Yauik -AYY

N | Sum(N)

4 | Sum(4) = Sum(3) + Sum(2)=5+3
3 | Sum(3)=Sum(2) + Sum(1)=3+2
2 1
1

0

8

5

Sum(2) = Sum(1) + Sum(0)=2 + 3
Sum(1)=2
Sum(0) =1

Y X -AYA
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*awiE -Are
Y anys -AF.
bl o daalaa |y (g9, sue Lo, 558Ul hee a5 ol
YA -AF)
M | FM)=F(M-2) -2
7 | KD =K5-2=0-2=-2
5 | F(5)=F3)-2=2-2=0
3 | F3)=F1-2=4-2=2
1 |F(Hh=1+1+2=4
YawiE -AFY
WS et et el 4 Jlal alRia wia, bgla i Huatie
*aniE -AfY
¥ g -AFY
X n |F(x,n)
4 4 | F(4.H=4*F4.3)=256
4 3 |F4.3)=4*F4.3)=64
4 2 | F4.2)=4*F4.3)=16
4 1 |F4.H=4
Y awiE -AFD
*auE -Af8
Y amiE -AFY
e S 10 51 ol 5oy 9 g g0 pan GBusa L sb 455000
Vi —AFA
A EPRCIER A )

152 5ot 5TFOF alila 5o 5 el s a3i 8 Sl 0 NN (gl oMk g el nl 5
o son gt g o Tl 4 Bla iy 5T e smd €S 05 1S il el s B lete 4STNIN
ol auBy i o Lasudte g oo sudte (el a0 Su 4Bl 5 il el gan
¥auis A0
¥ s -0
La ol sl o 5T S a5l 48 a5 b s e b a4 T Jla) (sl
el JSB s lshe

Function abs ab (4,1 st Array of a7 g 53) : 228 5 655
WS sl leal olip a1 45T aals o o5 o s
Y -R0Y
) aiys -AaF
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¥ anjs -A0F
) aiR -400
¥anjs 408
)4 A0V

4_:1\)"‘ ‘411’14_.“1‘)._3 u‘."‘. 447.!;‘)_.;1 6‘\)91 o4 LEAFGS.A_MJJL; L'.. U:“JJ C}fﬂ*: ‘:}LAJ &.B C).n“‘ o4
True s Fozty )35 x[n] = y[n]h & 481 5058 0 Falselaul alnal o 5 sily

A:=A*24+M(2)*3
A=2+3=53A=5
M=5+1=6>MQ2)=6
A=5%2+46%3=10+18=28

y=6-—>x=4+Suce(6)=4+7=11
y=11*Pred(6) =11 * 5=55

s

14,

...\J-aiga
Vauis —A0A
Yauis 0%
Y duiE -4

Y ans -48Y

35 au0n o
Yas Asy
FausE AT
Vs As¥
Vs 450
Yaus 455
¥ AsY
Vs AFA
Vs -ase
Y auiE AV
WERPIRI
Y auzE -AvY

Y= 2 <50 o 4 o0 o (Y72)4S pasno (2 FONL O enslie s F(2) lpa i b

Y | Fy)

F(2)=R(1)+F(0)=4+2=6
F(1)=f(0)+F(-1)=2+2=4
F(0)=2

F(-1)=2

o =N

1
—_—

Ty e



e 9 FoaolS Sl (Sisdids as 10+ | TYF

Y 4 -Avy
st i ai Type i 5o s Y6 5o sl Testals gy Olsie 4 Sal,l

Y 4 -AVF
¥aniE -Avd
¥ auiE -Avs

n | S(n)=n * S(n-1)

4 [S@)=4*S(3)=4*6=24

3 1SB)=3*S@2)=3%*2=6

2 [S@=2*%S(1)=2%1=2

1 |s=1
faniE -AvY
\aniE -AYA
\auiE -Ava

o Nolase 13 el an s (3 a3 Sy o Var gulS € o g0 Nl oS otasd 3
s aal oA 5 ,1u5e flaa g (slal

FauiE QA

Yanys A

¥ auiE -AAY

YauyE -AAY

Vau)s AAF

FamiE A0

\awS —AAF

Vams -AAY

FamiE -AAA

Dl ge s bala s gl o s Jla o sde s
Y amE -AAA

dadae 20D _AEHD o 10 5l pgane Jeola s g0 pan aa L Y 50 ale
) 2 2
g o

¥4 -44e



o loud 5Bod1s g as gosxe —1Y Jad guisdinb sbocwd

Type G s 43S alas o dslipm awda g b -443
N = (Ali, Saeid , Reza); ol 6 (i yat s s N g5 ()
Var ) )
A:Array[N]of Byte; ROV VLA U PRV S JUVIRRIE T B IRt N
1N wilysn Adl5T sl Sloie a5 sad LSS JLvaala (v
Begin - b ) )
For i:=Ali to Reza do Sl o
End Read(A[i]); al Read ) gis ool sl 45 ot aladl Sol aals (¥

gyealyas o o9 99 gdigo QLASAT L daiugh g peld oula (Hlijee g3 -44y
s O 4 gana ya5 23l 30 g pol8

(oS oS - siaelin (Y G250 - pmasiebin (A
G- Il s i (¥ (oS oS- JCuly an 5a (¥

ol pins oudijlaud ¢ 93 (5LA p2iia 9 g0 4o 4K plus -ARY
WS ole 5 mil,o Write s Read ol giis b g5 a0 1 oot glaaaie 5lada (3
S ola g cdls o Write s Read ol sin b g5 o 1 (o sl (sla jadie jlade (¥
Loy geus s db,e LaliRead j i s b ngn i slat gboapaate o de (¥
bl o ola Jols Write 5 sias
b Jgeng s cdbon JulBRead ;s i b gs  —disleds gla it Sla 30 (F
il e oly L8 Write | gias

S ga JULE | dlSla by san ) slaeals -AQF

Var A
M:(Red,green,Black);
N:-3...200; F(Y
F:5...20;
’ &
E:100...300; (v
V(¥



e 9 Fomls” Slo Gisdads cad 10+ [ TYA

Caad] el.AS syl g sA -445

Type
S=(A.B,0); co

Var Ay
K:S; .

Begin JJ‘J Uas (Y
K:=B; B (f
Write(Suce(K));

End.

Write(Suce('False'));  .cuul alos Jla jgiun 2955 -A45
0 1(v True (Y Laa abay (A
ol alaS ol S ju ki jlaudi p g3 (SLA mdta o eyl —AAY
u\ﬁ‘).:;l_l;t)l;‘:;.c.‘).t.udd‘).gYLg(\
JSly pa yie Jeu 55 @i dan 5 e e B0 YL (Y
Write st da 53 Lasala (A 5 Gl 51 558k (F
vl oudijlanhi o g4 Gl oala g gh alas —A9A
Double (¥ Char(x Real (v Single(y

] pranis i jladdi £99 9y 94 jo 43S alas -444
Ay SBle (ghea U laaatis (3
ol sse S b bl aalid sl (Y
el s sae b GBI anubid ool (F

gl g0 0 guuana (o jhad (slasala o ) slasala g gasa Jl Saalas —Ye e
s<l5 a5, Boolean , Shortint , Byte (3
Real, 5.6, . Shortint, Byte (v
Char , Real , Word (v
Double , Longint , integer (¥

Cud (gloals g g3 an Type N=-1...256 (gloala g g3 Hlajao —Y+ )
Longint (¥ Shortint (v Byte (¥ integer (\



YA ] Soled Sodls g ndegosmo 1T fuab

el s oudijladi 0als £ 850580 jo WS alas — Ve oY
WS e Jladt ddasta culs YOF SASlaa i led saly psd gba patia (3
S laWrite , sieus 5 aaliiad b ol 55ce 1 odolet auls 53 slapmiie Sluke (¥
S by a0 B Ol 1 (iolad sols pgd (glasaatia Hlade (Y
(

cmread b UlsA G380 sl (F

O Jollo dalh o a2 g 5D —Y+o¥

Var
a:(mon,sat,sun,thu); AN
Begin ¥ (Y
a:=sun;
Weriteln(Trunc(SQR(ORD(Suce(a))+ORD(Pred(a))))); VY
End; Y (f
ol A0S g 499y dols 1 go Uss f gas Jod o jlacdi — Yoo F
Type v\
Days = (Sun,Sat,Mon); Y (Y
Var
W:Days; ¥ (v
A:Byte;
3 8N (¥
Begin M
W:=1; Y al
A:=W; {yal
ReadIn(W); i las}
TF W<>Sun then {£ &3}
Write(W); {o &}
End.

sl s oudi jladi sals £ g3 0590yt A S alas — Ve D
sl Yase GLESs Lasaly 51 g0 col S0 andd 8y 5a% i cod o ()
A0S et Laauls 51 een fal Su 165 pe aali® VYA SiShaa (Y
S e Jdl alssla el K s o8 Led suly pgd slauata (Y
S o Jait abidlas cub YOF BV up ol s aa s b ol led suly g g0 glauate (F

S (;I.ASX lole 959, 5 giaun gl sl ] Yool
X:=Pred(3.5);
3 (Y 2 (N
ol sad Slae e suléit Pred BN 4 (v



e 9 FoalS Slo (Sisdiuds i 100+ | YA

Lol (Enumerated) i yladi & g3 (5LA jaiic o 3 Coylas alas YooV
(G ipbaed £ 94 SLA piAL0 W 80 gl LylE
aeea Oy LE(Y i soliiad LB sl ablae 5o ()

el alas Suce(C) ) giua Hls -+ A
0,8 e 1 Cmadle (Kl o€ (N
i€ oy 15 € LSl o€ a5 ke gy 0 cadle (¥
il o 15 C a3 U e (¥
Al S e 15 C Gia 5l das sl (F

sl atus pred(C) j gheus jls Y+ +4
il & oy 1y Cmodle (Sl oS (A

Al S e 1€ a5 8 coadle (Y

Al S e 15 Clina 3l aay ciadle (V

il e 15 C Sl oS 4 L g s cadle (¥

alie o g B yai Type Day=(sun,mon,tue); o goo awDayas S g ju —Yo Yo
b Sl j i 3 4 Succe(ord(tuc)),ord(mon)
3.2 3.1 (v 2,1 (v 2,00

‘ECMI{AMSJAJ'MDJ..\@‘QP Y+
Type -

D=(Sat, Sun, Mon); -10

Var 0 (¥
k:D;

Begin 1(r
K:=Suce(Mon); dan s ‘,gﬂ, sl (F
Writeln{ORD(k));

End.

Var Q.C.\mleldscjdﬁaxjuuxtslﬁ|jlw7\'\“
i,j,c:integer; 48 (\

Begin
= 0; 40 (v
For i:=5 to 12 do 35(v
For j:=10 Downto 5 do 30 (¥

c:=Suce(c);
Writeln(c);

End.



YAV | Sholed vodls g vdsgosme 1Y fuid

Read(M); -

Sum:=0; MG 1 slael gsana (3

Repeat M*M (v
Sum:=Sum * M; . . et

Until M=0; Shen (Y

Qe alus g 339, aoli i 29,5 -V VY

Var 0
D:(Red,Green,Blue);

Begin 1(y
D:=Green; 4 (v
WriteIn(ORD(Pred(D)) * Trunc (2.341)); (

End. pa e slbaa (F

sl 5YL Slac alas gl gl Y40
(Stal) = (F >= (v fatas) — (v in (\
L ol gl g ol ylacki ah 9 < (gla guac uluald JiSlan YV P
Yo (¥ YoF (A
A} (\c JJ‘LMC.\&JJJ&.@(Y
Caed {AIASJ:U dali s g A -Ve\Y
C:='A";
Write(ORD(C in['A'..."D']));
False (f 0 True (v 1
Oyl {al.ASJ.aj bl 298 -V VA
Var )

S:Set of 1...10;

M:Set of 5...10;
Begin

Writeln(M-S);

Writeln(M+S);
End.

[1...10] . [0]
[1..0] , [1...5] (v
[1..51. 11

[ 1



e § Pomels Slbo Sisdide Cud 100+ | YAY

Var Cod alaS paj dalip (2955 -V4N4
S:Set of 1...10;

1(\
M:Set of 5...20;

Begin 2
S:=[2...7]; True (v
M:=[6...8];

Me=S+M; False (¥
Write(Suce(ORD(2 in M)));
End.
K:Sctof 7...10; .48 oo JUauil alifls Culs wian 1) de gana — Y+ ¥
1(\
2 (x
€ o Sl Las ey ¥l ool (g ¥ Csa (T
2.(¢

Var ‘?CAMI{;MSJ:QMLSJ.]G?_QJA -Ye7y
C:Char; CinK(\
K:Set of 'A’..'Z";

Begin False (v
C::'G'; True(Y
Writeln(C in K);

End. G

Sl ?‘ASJ.IJ ol g A -Y.YY

Var ) '

M:Set of 5...20; o
K:Setof 1...10; 0 (v

Begin
K:=[2..7]; True (v
M:=[6...8]; False (¥
M:=K+M;

Write(ord(2 in M));

End.

Sl ‘al.ASJ:a"J dald 29,5 - Yy

Var 1
A:Set of 5...100; 0
B:Set of 1...100; 0y

Begin
A:=[1...100]; True (v
B:=[4..8]; False (¢
B:=A*B;

Write(ord(5 in B));
End.



YAY | Sholed Svodls g vdsgosme 1Y fud

Type S 919, 4olip (2 g,A -V VY
Long=[Small,Medium,Large]; False ,[Small,Medium] (\
Stong=[Medium,Large|;

Var True.[Small. Small] (v
I.J:Long; False,[Small,Medium] (v
K:integer; . )

Begin .JJ‘J o 4.4‘.1‘).:: (\;

J:=[Medium];

For k:=1to 3 Do

Begin
T:=I+[Small];
K:=K+1;

End;

J:=T1*J;

Write(I,J in Stong);

End.

Gu gl o0 JUl aladls Cubs ais JISiily 91585 5o ju) i LYY

Var X:Set of 'a'....'z';
culs 7 (¥ el ¥ (¥ <y OY (¥ euls YA

GuiS o JUbll Caals wia Jall £ 53 yukia — V4 YF
Var m:Set of Char;

64 (¥ 256 (v 16 (v 32
Writeln(ORD(0)); Gl alaS a3 gius 295 VTV
True (¥ False (v 1(y 0

Gl AlaS gy 440 A —YeYA
Writeln{True < False); Cowadl alaS a3 54 292

True (¥ False (v T (v 0 (\

Sesnmy dila (sleisl o Sum e -1+ ¥4

Sum:=0; .

Repeat MG alsel Foens (\
Sum:=Sum*M; M*M (v
M:=Pred(M); L

Until M=0; ML, st (v

Shaa (8



e 9 Fomls” o Sisdide i 10+ | TAF

Type Gesedl alaS ju) 5 gheud (gD — VoY
Week=(Sat , Sun , Mon); 0 (\
Var .
w:Week; pa i llba (¥
Begin Sun (v
w:=Sat;
IF Suce(w)=Pred(Mon) Then (¢
Write(ord(w))
Else
Write(Suce(w));
End.
S oo JLaudl Luad culs i Jslis £ 45 sula ) ¥
Type

Colors = (Red , Green , Blue);

False (¥

Var

Color:(Red , Green , Blue , Black , White]:

Sum:integer;
Begin
Sum:=0;

For Color:=White downto Green do
Sum:=Sum + ord(Color);

Write(Sum);
End.

Type
Boolean=(False , True);

Var
A:Boalean;

Begin
Writeln(Suce(False));
A:=Pred(False);
Writeln(A);

End.

Var

A,B:(Red , Green , Blue);
Begin

A:=Red;

0 True (v I

sl plas yuy dali e 298 - VoYY
10 (A

15 (v

6 (v

Green (¥

Gl alas juj dald j (o295 —)e7yY
True , True (\

True , False(y
ol goblelS slad Type Lo (¥
3ol orbleol€ (slad aliyy Sl (aly g (¥

Conl Crn 3 a3 plaS el s dagi b - YF
IF Suce(A) = Pred(B) Then Write('ok'); (
Read(A); (v
Writeln(Suce(A)): (v
IF (A +2=B) Then Write('ok'); (¥



TAD | (Shslod slavodls g vdsgosme 1Y fuid

Type Syl elas my el 2gs —1+¥D
Size =(Small , Mini , Xlarge); 1(\
Var
A:(Small, Medium , Large); 0 (v
Begin Sl bl glax (¥
Writeln(ord(Medium)); wne st |
End. Medium (¥

oulu 81l i as oudijlach g 93 slacala 5 9, Pred g Suceaal ¢ 3 ouldicd al&ha -V +¥F
S sl s a8 alas wdilin 0 52 90 (ol g (o
LS o a5 15 (8 g suay slasala a5 ooty JISUET pa (3
quulqlbqpubfdwlqulﬁqﬁd&&;ubyjljadh;!...\a;u oa(Y

s aalsa 1 illegal Function Call... ¢

(
.l st g2 1, Constant out gla (v
Uaa (¥

Sesuna Chr(ord('d’) + ord('a’) — ord('b") — 1)5es jlac jlada —V+¥Y
ld' (‘c lcl (Y |b| (Y ,a| (\

faaS o JLadil alddla culs sin M juaia — Y+ YA
Type N=6...10;

Var M:N; St =l YO
auly 5 (¥ anb ¥ (¥
Gudils o gede wia (ol o fiSlaa 4 gaso Su -1+ YA
YaF (¥ (Y Yy (¥ AN
Gosal saudi Cda y85 Juu o da gu ) SLAGS gasa I Saalas — Y4 ¥
M:Set of 1.0...20.0 (v M:Set of 'a'...'"e" (\
M:Set of 200...4000 (¥ M:Set of 1...500 (v
Ga g3 oAl g3 (s polic an Jobii Mae gana ) dald i 4G (gl ol L — Y+ ¥
Var [R.G.B.,B.G.,Y](
M,N:Setof (R, G,B,Y); [R...Y] (¥
Begin
M:=[R, G, B; [G.B](v
N:-[V,G , B]; [Y] (¢
M:=M + N;

End.



e § Pl Slho Gisdide Cud 100+ | TAP

9 gs 0l 3 (5 polic an Jobiki Kae gana ju) doll o a<i (gf ol L -V« FY

Var
M,N,K,S:Set of 'a’....'z'";
Begin
M:=['a'..."¢e'];
N:=['b'...'f"];

S=l'd', g, 'h';
K:=S-M * N +S;
End.

Var
M,N,K,S:Set of integer;

Begin
M:=[1...10];
N:=[10,14, 18, 25];
S:=[5, 6, 14, 18, 25]
K:=M *N *§;
Write(K <= S);

End.

Var
K:Set of 1...10;
M:Set of 5...20;
Begin
K:=[2...7];
M:=[6...8];
M:=K + M;
Writeln(ord(2 in M));
End.

b ] (3
[a...'e" (v
['a'...'e’ . 'g' . 'h'] (Y’
[d. g ] (¢

Sl {;l.A.S Piabip 95 —V+¥fY
True (\

Gl {:LAS TR dals o 29,5 _Y+¥¥
0

0 (v

True (v

(

False (¥

Sl Jalé 43S alas 1+ FO

[1<=[A.B.C](v [A.B]=[B. Al
[A,B]>=[A,B.C| (¥ [A] < [C] (v

int (¥

quId;I dJ..!JLS LA‘\S}G_AO BL c..ﬂ.:l ?Ids —Vo¥5

Pred (v Suce (Y ord (\

sl JlSiuly o de gana Gala Glits (5] ;3 csate alas —Y+ FY

ll(‘;

[1( {3 OO

69 gudi o0 0alliud! Klas alus ) s gadne jo Cuguds audld (gl 4 -Y+¥A

Type (¥

in (v Set (v With (A



YAY | (Shslod slvodls g vdsgosme 1Y fuid

quld;I JJ-.\JLS “}G_AOJJJSJAS?IAS —Y+¥8
>= (¥ =(v <> (Y > (3

Gayla g pylS 4s gasa yo jSlas alas — Y+ D
plaSasa (¥ Mod (v (Y /(\

1Y b ity (slocund (o2 555 dolinly

* a4 -44)
o Foradh lg s eyl suolie yaite 5 adls bl aals psh 51 il g5 e al,T s
..m_cYHlJTﬁBYJJJMﬂGﬁlﬁlFOI‘qih)\f.v:ﬁlxue.mp@i)uﬁcjsblglﬁw

58 e O3Byt g0 5l rasias

*aniE Ay
) anjs A4y
Yauys A4F

S liana 5 ue el ) slandle o€ o JGLB 1 el ) abiila Lo i iobed slasals
il o LG re aaly o3l 4y a3 e St
M— 1 byte
N— oL integer — Y byte
F— oL Byte > \ Byte
E— L3 Word— Y Byte
# Byte
YawiE 440
S aotanid Read g ReadIn cl ) gis 51 ol g5 oo adled slasals
VawiE A48
Suce(False) = True
Pred(True) = False bl aidy wi g5 e Suce als o5

PURTRRLTY



e § Pl Slbo kil Cud 100+ | YAA

*awiE -49A
Longint, Word , integer , Byte . Shorting maan -3

Char g 51K -y _
sl glag gl s
Boolean ¢ -¥
soelise ¥
¥ -84
3 44:,55 —Yeaoe
Vi Yoo

o0 ol g5 e sl e VYA BTV a0 saae so Shortint 5 Y08 G+ soguas ;o Byte o5

Jé)‘ﬁaddm&‘

FaniE YooY
Faasys Yee¥
a:(Mon Sat Sun Thu)
017273
Pred(a) = Sat
Suce(a) =Thu
ORD(Sat) =1
ORD(Thu) =3
SQR@B+1)=16
Trunc(16) =16
¥ g —Yeef
YA el
Fanis —VeeF
sl pdsted o0 5wl Suce 5 Pred sl 55 5u0lis
¥ aiiS YesY
FauiS —Yeoh
Y Veed
YamiE ey
Type Day - 311 mon fue
yp y 01 2
ord(mon)= 1 ord(tue) =2
Suce(2) =3
FauwiE -V )

.JJ.‘_’:JLS_A&%@B&TSUCGJJJ‘JSJJ.?JQTJ‘JQGJ@.Q“‘M&JATMOH‘;.J.;:.



YAY [ Soolod Slodls g ndegosmo 1T fab

YAy Yy

20 C:=Suce(C); 55,048 sladila 5o e CF0 lofe 1uil 5o o sud o Ial by 4Siile)
99 Ol S OLSS lady slasd (s 5 S0 (a0 MR (lgany Slada b 1, Coniie SlaBa 5l e
s aalsa 48 s C Slute culgy 5o et 12-5+1%10-5+1=48 «ala

FauiE -Ye Y
..s\,...zu.aJs...anlJ,uSum*Mu)@uwm|$um=0uﬁ

YAy -V Y

D:Red Green Blue |

o’ 1 2

D:= Green ;

Trunc(2.341)=2

Pred(D) = Red

ORD(Red) =0 0%2=0 L e il Jnla
¥auS -1430
VAR Ve Vs
VanE -YeYY

C="A

C in['A"...'"D'] = True

ORD(True) =1
¥ s -V A

M+S = [5...10]+[1...10] =[1...10]

ARt RN
M=[2...8]
2 in M = True
ORD(True) =1
Suce(1)=2
Vaw3s -YeYe
Sk 438 K Ll o il g5 e Shorting L Byte g 53 51 g 5al8 0l 5se 4l clay
ARt AR o
K=[2...7] YAy -YeYY
M=[6...8]

M=K+M —[2...8]
Write(ord(2_inM)) — Write(ord(True)) = Write(0) — 0



e § Fomol” Sl Goudido Cud 1800 [ TR

Vs -y vy
¥awmis -Ye Vs
Vauis -1+ Y0
¥ a3 oY eYS

VS Ve Ty
al aal a1 sae 0T usa aaans &S 15 asaio sae A ORDAG 4
¥ au3s Ve YA
il o False sl oS True gz !
Famis -1eY
Sum jlade Sy s 50 SUM=SUM*M 5058 45 aa 5 b Ly 3l e003e Sumayl gl jlase
S5y aalga sia a5l
YaisS - YeYe
asls oo 1 W = Sat — Suce(w) = Pred(Mon) = True

s aalsa 0 sse e g agl o aladt Write(ord(w)) 5 siva Gy

¥ auis 1o ¥y
S o JG) dasla by Y e L3 Led glasaly
VS -V eYY
Sum = 0 + ord(White) + ard(Black) + ord(Blue) + ord(Green)
Sum=4+3+2+1=10
Y aiS )Yy
VawiE -YeYF

A< 8 g apla LAY 5 Y 4 ey ailsn Readly s g 1 (odsled g s (slaals
ol 5 03T e a5 DL il wlilae Ko SIS 1 otk g lassls
el

e -1+ YD

el @38 8155 asleied 5y g0 b Y0 Small

Y ais —Y oY

Y diE -V ey

Chr(ord('d") + ord('a") — ord('b") — 1);
Chr(100 + 97 - 98 — 1) = Chr(98) ="b'
Y 43S —1e YA



Ay [ Sholed Slodls g ndegosmo 1T fuab

¥ -Yeva

adly gobidel 3l 5 cat de sana glinel gt (A

il 5Tt B YOS5 wls suslic slaas (Y
Vd3s - Ve Fe
Ll alaas a <yl 5 €00 g aativee s 500 L g 80 s obiiel Wil 55 o0 de sana (glinel
il BYQF ail g5 o SSlaa
JPCART P 3

M:=M+N=[R,G,BJU[R.G.,Y]=[R.G.B.Y]

¥ aujs Ve FY
K=S-M*N+S=3
M*N=[a"..'e]N[b...F]= [ ...
S _ [lbl ‘..lel] — [lgl ] lhl] U [ldl ] lgl ] lhl] — [ldl ] lgl ; lhl]

Vs ) FY

K:=[1...10][10, 14,18 . 2511 [5.6, 14 ,18.,25] =[]
Write(K <= S); = True: u; cud [ | S S5
YA -)FF
M=K +M=[2...71U[6...8] =[2...8]

2 in M = True = ord(True) = 1
¥Fauis -1+

il o oy crann de peas yealic oluat 31 S G e de goae malic gluas
¥ anis VPP

YK Ve FY

¥ ais Yo FA

el Sl o inglea ool 508 cedle

V@S YT

Y aS Ve



(Records) Ba g5 s —\¥ Jad guudid slacuws

oo peaais Recorda )y go jo daiS alas —Y+0)
3 ol YO8 515 e 5055 s Sam (O
Aol s sa s End g Beginall o, ¢85 & a5 5o (Y
Sole o sa s Begina S o oS5 Ciy et o (Y
il golala ha 45 sals gt 5 Wl G e 1555 0 slasla (¥

ol i dali p g 59,595, Sadbae g Jlaiyl 990 59 43S plos —Y O
..J‘)S—JLMJ! a0l g2l 58 ay aoll Al dass 5 (4l g5 e 15 0565 Lo il oaeds ()
el Slae b sadie el sly o geas (500555 Siel sl B el (Y
ol 1 sl pal b ael s ag a5 6S, Jlasl Ul a5y (¥
(

A o Faue 5 54585 sla el sl saae gla el il 63 (Y

Gl pranis mjgla S 5l S alas -1+ 0Y
sl s slasielly (o il 0S5 ailgi e s Se 9500 slasell (A
il 45655 s
95555 55 S i e son s (s ol 05655 Wl oo oS o (g5 SRl (Y
288 5k
L@ﬂ6LA.\J._.§45u.la)...'zd.:,ﬁﬁJlSd.:,uSL_;...ul;.oabJL.mJaﬁlbswaMJJSJ(Y
kb gsae

ﬁhl@ella‘ghbcs‘m%m&‘)&hd‘)dﬁl‘&:w“)ud‘)ds‘)(f

S oo JLa LAd cula s a8, - )+ 0F

Var
Rec:Record 25 (»
a:Longint;
b:20...30; 24
C:Array[Boolean]of Array[1...2]of Word; 26 (v
Case d:Boolean of
True:=(i,j:Real); 27(f

False:(k,m,n:integer);
End;
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el oy 9585 5 SLALS da (A0 jlulo (6 pr @ 8 aluS 5a ) dalh p 4SS Ha -V 400

Type e
Z=(M,N,K); S[2].b:=M: (»
Rec=Record S.b[2]:=M: (v
a:integer; o
b:Z; S[2].b:=="K"; (v
o S.b[2]:=K'; (¥
Var

S:Array|[1..10]of Rec;

Type Son ) wlip o295 -1 07
Class=Record 50\

R:integer; 10 (v
B:integer;
End; 15 (v
Var 20 (¢

F:Array [1...5]of Class;
k:integer;

Begin
F[1].R:=0;
F[1].B:=5;
For k:=2 to 5 do

FIK].R:=F[1].B + F[k-1].R;

Writeln(F[5].R);

End.
wgleu o JE y alddla 5 Culh s ) Ayt -V QY
Var 47 (»
A:Record
b:String[5]; 46 (v
c:Array[-2..3] of Real; 50 (v
Case F:Boolean of
True:(d,e:Word); 48 (¥
False:(m:integer);
End;
Type 122 (v
A=Record 120 (v
c:Array[1...10]of String[10];
b:Real; 22 (v
ch:String[5]; 111 (¢

End;
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3k g0 JUdl 1y alBla 5 culs i Roaj 655 93 5 (5o -1 04
Type
k=(a,b,c,d); 230
R=Record 36 (
x:String[10];
y:Real; 20
Case z:k of coad Jale 55585 8y et (¥
a:(m:Longint; n:Byte);
b:();
c:(s:integer; t:Char);
d:();
End;

Y
v

Gord o0 yS JUnil | alddila jf Cals dda ) du el -5

Const 680 (\
Max=20;
Type 36 (\'
Rdate = Record 720 (v
Year:integer; . ) .
Month , Day:Byte; 2l o LL2 Birthdates ,uate i a5 (F
End;

Student = Record
Name:String[20];
Id:String[10];
Birthdates:Rdate;
End;
Studentlist =Array][1...Max] of Student ;
Var
RST:Studentlist;

s (2905 4 y1j dalhpa lal 5 ey —V o7

Type 10 (v
Rec=Record

Number:integer; 17 (v

N:Byte; 33 (v
End;
Var A0S i ad 4 aaliiie ke 4n Gl g e | Lo, 685 (F

Recl,Rec2:Rec;
Begin

Recl.Number:=10;

Recl.N:=17;

Rec2:=Recl;

Writeln(Rec2.N);
End;
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Type

C=(R,B,G,W);

Var

Rec:Record
S:String|5];
a:-2...3;

Case x:C of
R:(d,e:Real);

S ga JUl 1y aBSla Cubs sin a3 pedie Y SY

B:(F:Array|-2...3] of Char);
G:(m,n,k:Boolean);
W:(g,h:Word);

End;

19 (A
20 (v
33 (v
25 (¢

o olid 53 yaalda gty Gl 8 (518 @3S alas 5 glansSy cdaal aaaagi b Vo5

Type
Recl=Record
N:Real;
M:integer;
C:Char;
End;
Rec2=Record
E:Byte;
F:Recl;
End;
Rec3=Record
A:Recl;
B:Rec2;
End;
Var
L:Rec3;

With L Do (v

With B Do
Begin
E:=5;
C:='B';
F.E:=10;
End;

LAM:=14; (f

I.B.F.N:=17.72;
L.B.E:=12;

Sl

L.B.F.M:=15; (
1.A.E:=10;
L.A.C:='A";
WithL Do (v
Begin
B.E:=14.32:
B.F.N:=11;
B.FM:=17.5;
End;

.MQGGCAMJAAJ‘QSJL;MM:BZQGAAJMM6|J..|4.'|:aJ'S{a|ASJ:a"JM&f&de\’;‘f

Type

Z=(M,N,K);

Rec=Record
a:integer;
b:Z;

End;

Var

R:Array [1..10] of Rec;

R[2].b:=M:(y
R.b[2]:=M(Y
R[2].b:=k" (v
R.b[2]:=K"; (¥
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WS go JUl | alidla 3 cubs wis M al )T - +50

Var
M:Array|1..10] of Array [Boolean] of Array [False .. False] of Byte;
40 (¥ 14 (v 13 (v 20 (\
«.Record lau gi o JUdd alidla —Y+F£F
el 20l YOF JSlaa ()
el g8 LSl w A staalis JGsl dasla g gana sl s (¥
ol s With j gius 3 soldicid o) ge yo daiS alas -V o2V
e Beginga ol 4 3l als sis WWith iy 50,1 gl (0
il ails g gy el Syl Lo Al 31 08 alid g e s (gl (Y
il tj.a"lc.nl_“nu.;jﬁ ~Y+FA
A58 - il e (Y GlLT L LS5 - il (O
aloT b o, S, - sl e (F alol - Wil e (¥
.JSSQALLOCMJJbJ:&:de_gSJMﬁGJM‘ @bal}zmgjs?las—h?ﬂ
ol ool a3laal + 0,58, 48 st alid a3kl 4 adte coand a3l o 33K S ()
culs ol adlanl+ 056K, 468 et olid adlail+ yate crand a5had K 5 (Y
cali el oSl + 0 oS5 06 Caal alid o3l + aate cranad o310l Jasa (F
ol cand adlanl 4 aate cianid adlanl 0 K0 (F
T WSS g0 JUadil |y cals sis Infop gt oo g 43 -V o Ve
ype
TypeD = Record 36 (\
Wrdyear:Word; 34
Bytm , Bytd: Byte; (¥
End; 23 (v
Infop = Record
Strn , 22(x
Strf:String[11];
Riave:Real;
Wrde: integer;
Bdate:TypeD;

End;
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Gorcd Cubs 0 juy 0,95, Al alddla ol jua - oYY
Type 30 (»
TypeA = Record
A:String[20]; 28 (v
Case B:Byte of 33 (v
0...127:(C,D:Longint); 36 (

128...255:(E:integer; F:Real); \J
End;
ol Sl w1 535 9,95 Jsb Y VY
Type
Loop = Record 270

N:Real; 24 (v

x:String|5];

Case A:Byte of 23(
1:(L,M:Real); 25 (¥
2:(j:Real);

End;

S o Uil | Liad cuals sis BilBo w8, - Vo VY
Type 1(\
M = Record

N:String[10]; 269 (v

Ainteger; 259 (v

C:String;

End; 261 (v

ol jul 933959595, Jgbo -V oV
Type 12 (3
EM = Record

N:String[10]; 13 (v

T:Real;

C:Char; 14 v

End; 18 (¥

S o Sy Lad culs win g a9y 9,585, -V VO
Type 258 (
Node = Record

A:integer; 259 (v

B:Shortint; 261 (v

C:String; 262 (¢

End;
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Type
Ali = Record 100

S:Char; 12 (v

i:Byte;

Z:String[10]; 13
End; 257 (¥
Type
D =Record 100

x:Real; 12 (v

Case y:Real of

1:(a,b:Real); 14
2:(c:integer); 16 (¥

End;
ol Sy 33 55 45555 Jgbo —) + VA

Type 24 (v
Data = Record

S:String[20]; 25 (v
A:Real; 27 (v
C:Char;

End; 28 (¥

Iy aditla 5ol st o5 e X2 g X1 (5la judio g gy Syjlaiasaagile -1+ VA

SIS o JU

Type 27, 60 (3
A = Record

Al:Char; 25,80 (v

Bl:Array[1..5]af integer;

C1:Real; 77,60 (v

X1:Array[l..10]of Real; 14,80 (¢
End;
Var

X2:A;

plaS gt g Const 80 0 ot (130 gt At ity (613 ) HUAL s dagi L -V oA

el [Crramd 4.553
Type
N = Array[0..10]of Real; S[23].Num[2] (\
Info = Record S[23].Num[3] (¥
N :String [20];
Ny e 1201 S[2].Num[23] (v
End; S[3]:Num[23] (¢
Var

S:Array[1..100]of Info;
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Culi yaf (SLaslad (bt (513 939 doli o ouedi S 2 yadie da dagi Lo -1 +AY
Gl alaS prasis dia S

Type TREC.FI[10] (1
Num =(T1,T2,T3,T4,T5);
Rec = Record TREC.T1.V1 (v
FI: String [10]; TREC.TK.V1 (v
Case TK:Num OF
T1:(V1:integer; V2:Longint); TREC.V4 (¥

T2:(V3:Word; V4:Char);
T3:(V5:Boolean; V6:Num);
End;
Var
TREC:Rec;

iy p gt SIS (alions (5153 5 el o s g pal yuklie 4y da g5 L - o AY
Gl alas racus dijS a g0

Type Trec[2].F1]2] (3
Num =(T1,T2,T3,T4,T5);
Rec = Record Trec[2].F1[3] (v
F1: String [10]; Trec[3].F1[2] (v
Case TK:Num OF
T1:(V1:integer; V2:Longint); Trec[3].F1[3] (¥

T2:(V3:Word; V4:Char);
T3:(V5:Boolean; V6:Num);
End;
Var
Trec:Array|1 .. 10]of Rec;

Guas oo JLadd &ébc;zagdlex‘}dJ‘gSJf\OAr

Type
Rec=Record 240
x:Byte; 13 (v
a,b:Real;
Case T of 32(v
r:String[10]; 19 (¢
d:Real;

h:integer;
End;
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Gu g ol gd culs win i juiie 310l puj Gyl U JiSeily 0 -1 +AF

Type culs YY()
Sn=(carl,car2,car3); .
Var el YA(Y
i:Record coby YE(Y
S:String]6]; sl Y (Y

Case b:Sn of
carl:(n:Real);
car2:(c:char);
car3:(ch:Array|1...8]of integer);

End;
Gl cals saa H g 63 31 (g sl o 3laal —Y+AD
Type b Y
V=(R,S,T); abs YA ()
H=Record O sty el \a\}]:_ab cobala ful a3l (Y
x,y:Real; PRI i [al
Case 7.V of N .
S:(Azinteger); el VE (Y
R:(B,C:Real); cubi Yo (f
T:(D,E,F:Char); T
End;
Sl jala 953954095, Job -V oAZ
Type
EM=Record 12 0
N:String[10]; 13 (v
T:Real;
C:Char; 14(v
End; 18 (¥
Sl culs w3 139,85 Jsb -V <AV
Type 27 (s
Loop=Record
N:Real; 24 (v
X:String[5];
Case A:Byt’e of 23 (v
1:(L,M:Real);
2:(J :,Real); ’ 25 (¢

End;
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Type
List=Record
Case integer of
1:(Name:String[15]);

2:(Number:Array[1..15]of Byte);

End;
Var
g:list;

Type
Stu=Record

N:String[15];

Stn:Word;

Case d:Byte of
1:(a,b,c:integer);
2:(e:Real; f:Byte);

End;

Sl elds g":u.“\.a u..l\.i.n.ul alidla ojld;al —Y+AA

15 (3
16 (v
17 (v
18 (¥

Sl jalia 39085, Jgb -V AR
23 (\

26 (v

24 (v

25 (¥

Guulad o JUl |y alddls culs o Person judiae ) aali o aabd o aagili—Y+9s

Type
Employee =Record
Name:String[10];
id:integer;
tex:Real;
End;
Var
Person:Employee;

14 (3
19 (v
18 (v
20 (¢



Var  M:Record
a:Byte;
Case i:char of
'A':(x:Word);
'B":(y:Char);
'C":(J:Byte);
End;

Var M:Record
a:Byte;

Case char of
'A':(a:Word);
'B":(y:Char);
Else (7:Byte);
End;

Var
x:Record

a:Shortint;

b:Record
c:char;
d:(bad,good);

End;

Case Byte of
2:(e:(R,G,R));

3:(F:Shortint);

End;

e § Fomels” Sl Gkl Cud 10+ | TY

AJLJ‘H:(Y

Var

Var

Sl St g s.S:aJ.i.“a elds -Y+89

M:Record (»

a:Byte;

Case i:char of
'A".(x:Word);
'B":(y:Char);
Case Boolean of
True:(p:Real);
False:(k:Word):

End;

M:Recard \

m:Byte;

Case char of
'A'(x:Word);
'B":(y:Char);
End;

Gu S 0 Ludd Culy win X udio — Y +AY

b ¥ ()
cnb o (Y
cale ¥ (Y
cab A (Y

Gadali oo da 1) pd da o ya (sLaGLS 51 (slae gana - +AY

el (Y 95555 ()
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Type
List=Record

Case integer of
1:(Name:String[15]);
2:(Number:Array[l...15]of integer);

End;
Var
g:List;

Type
Area=Record
x:Real;
y:integer;
End;
Const

7Z:Area=(x:12.5; y:5);

Var
A:Record
x:integer;
izinteger;
End;
B:Record
X:integer;
j:integer;
End;
Begin
With A,B Do
i:=3;
X:=5;
A.x:=7;
End;

Type
X=Record
j:Char;
izinteger;
End;
Const

A:Array[l...2]of X=7;

Gl AlaS @ judio JLa alddla ojladl -V +4F
31 (y

(
8 (v
7 (¢

QMI&\;@AJ}ON.}SJ’!}G.}M ;éeﬁJJJ}an—\'ﬂa

S o aals cad Zo 5 oS Sy ks 4 0 xals 4412.5 51uda ()

S ol gybee 35 sl o sl (¥
S sstaiit Var 3 Const gla 4wl (v
S e puate (pl By el (¥
GCsiud rasus 490 alas jajoal uyaiajge jo -V o5

s o ool U AXIZT70 A 50 ()

g o sobis Wl Xi=55 A o (Y

ol AX=5; Jotae Xi=5alaa (Y

(

.._)\9.:&6/:: ‘)..:“)..:BX\‘

G Coouga A 850 da (0 jlalo (5] a8 alas -V 2 QY
((B7: M) L (17 JND) (N
((5,M). (7:'N') (v
(i:7; MY i:7: 'NY (v
(5:'M) . (7N (¢

k)
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Gl asis i3S alas -Y+9A

S ssldint Casediy 5 o558 ce seiie 8685 iy yald Lo (Y

il oo End 51510 Case juaie o558, 2 yad 5o (Y
S eoliial yaidfe (A S ad 5 cnl G el (s pe site 0S5 Rusal Hu (¥
iy 2ol (A Saay agly Ll uite (A (¥

QMI&‘;‘A@‘}SMASJ*&AJ‘#JQQ_Q:!L}—\'**

Type
BookRec=Record Book.Name[5]:='Pascal'; (
Narpe:Array[l...ZO]of Char; Book Name[3]:='Hassan'; (¥
Writer:Array|[1...30]of Char; ]
Price:integer; Book[5].Price:=80; (v
End; BookRec[5]. Name:='Reza'; (¥
Var

Book:Array[1...50]of BookRec;

Type ‘?CA.a.ul&\;‘A@J'S?MSBJJJSJCAJ:QQ‘:AAJlﬁ.aglﬁ—\\N
B=Record =1
C:Char; K.B.C=C (v
izinteger; KW.C=A" (v
End; TAT.
A:Record KAW.C=A" (v
W:B; B.C:='A"; (¢
jrinteger;
End;
Var
K:A;

Sal s das 38 alus 1Y+ )
Al cladil an ap 1 Lo oS5 65 cad 4o et o ()
wly Gl (KK a1, aas oS5 )i oo ol i 5a S0 (Y
o Slatie LT e 05585 abid 5 sl ses 4 a) K5 ab LS b olspe With st 51 sl (v
ity Sl LT gt il Lo o5 coluail sl (F



T | oy IT Lad

Gl s di € alas -V Y
f 4SS 4 da g gt Jlasl 4 b ol S5 s SRl Glste 4 il e 555 G ()
il LSy o 5 28l sl
st sl s 4Kl 4 a5 L usad Sl an b a5 S lsie @ uilge 05685 S (Y
il Gl o see 5 23l
WS Jbesl e bl So s Sl lsie as 15 05055 S5 Olteed (sl 1 ua s (Y
S sl s b ol S el e a1 S5 S i (F
69 gt o0 ouldinud padlio 0)eS ) S jf alige an - VY0¥
sl eliie cd (Koo 0T (slasks alai pgaige K4S o) ()
o (S €l L iy g i 8 s oS 05l b wig psgs s oS L) (¥
Akl o glatia
ol S a5 Lo Ll slaali Sluie p o 5o Sy aS Sl (V
plaSaea (¥

Goraws Lau a8 o With | givuy j euldicd (gl 3 -VY ¥
ol (Suiboale 5555 saite Al SIS 1 658 sla ()

Type T

L=Record 26 (»
N:Real; 24 (v
X:String[6];

Case A:Byte of 23 (v
1:(L,M:Real); 25 (¢
2:(J:Real);

End;

Gl alas S judia Al alddla o3lual -V Y+ 2
Type 15 (n

S=Record

Case F:integer of 16 (¥
1:(N:String[10]); 17 (v
2:(Num:Array|[1..15]of Char);

End; 18 (\;

Var

g:8;



Type
Stu=Record

N:String[5];

Stn:Word;

Case d:Byte of
1:(a,b,c:integer);
2:(e:Real; f:Byte);

End;

Type
M=Record
N:String[10];

Num:Array|[Boolean]of Char;

End;

Ver
Stu:Record;

N:String[5];

Stn:Word;

Case d:Byte of
1:(a,b,c:integer);
2:(e:Real; f:Byte);

End;

Ver
Stu:Record

N:String[5];

Stu:Word;

Case d:Byte of
1:(a,b,c:integer);
2:(e:Real; f:Byte);

End;

e 9 F9molS o (S VD | FeF

Sl ks 3595885 Jgb - 11 +Y
20 (3

16 (v

24 (v

21 (¢

Sl {AMS HINussy GJLL.;'JI aladls .-::jb:a‘ -YY-A

15 (3
16 (v
13 (v
10 (¢

sl jolia p139595) Jgb -1 -4
20 (3

16 (v

24 (v

(

o Al 8 K Ly el (F

Qeual a5 ,98; Jsb V1
20 (3

16 (v

24 (v

(
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Saal Usd i (41500 a3 ay 98, 1YY

Ver 3(v 2y
R:Array|1...10]of Record ol Uk S, haa (¥ 1(v
A:Array[l...10]of Char;
B:Word;
End;
Gorcal Uod wia (glyla 3o 98, -IVYY
Type 3 (v 2\
R=Record wla el o 6K, i (¥ 1y
A:Array[1..10]of R;
B:R;
End;
Sl Uad wan (51l a3 ay98, IV
Type 2y
R:Record 3y
R:Word; 1(v
Endx;.Char, s a6 iy pas (¥
sl Uad waa g1yla ya5 9,98, IV
Type 2 (s
R=Record 3 (v
y:Word; Ly
x:Char; wlan taa oS5 el (F
End;

End;



Var
A=Array[1...10]of Record
YiA;
x:Char;
Z:Record
X:A;
ViZ;
End;
End;

Var

Rec=Record
A,B:Char;
X,y,z:Real;
p.q=Array|l...n]of Record

m,n:integer;

End;
k,L=Array|1...10]of Rec;
u,v,w:Boolean;

End;

Type
A=Array[l...10]of Record
y:integer;
x:Char;
S=Record
m:Byte;
n:Boolean;
End;
End;

e § Pl Slbo ki Cad 1000 | FA

Gorul Usd 3ha (6l )0 juja,95, -VVV0
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Govul Uad wia (glgls juj a8, -VVYF
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-
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aotan e 0,58, iy el (F
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Type
R=Record
y:Word;
x:Char;
End;

Type
R=Record
y:Word;
x:Char;
End.

Var

Rec=Record
A,B:Char;
p.q:Array|1...s]of Record

m,n:integer;

End;
k,L=Array[10...1]of Byte;
u,v,w:Boolean;

End;

Gorcad Uad waa (gl5l0 ;a3 0,95, -V IA
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3 (Y
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Type
35555 pli=Record

\..sl:éq......tui=\._s.!.3§&53;
\’..sl:éml;..i=\’._al:§&53;

End;
¥ aui< -Y0Y

Y ans Y e0v
L el slanlid aSl s SIS @0 laclas s gholio ol gins 5 ol | Laa, S, -
et aaldiud Dae 5k 4 055 o
il assSs s sl g ol Glea 0T w55 e oS il ol Gloa S shols ol o
¥ 4w )+ 0F
a:Longint—4) B
b:20..30—> (DB
d:Boolean >(1)B
C:Array[Boolean|of Array[1...2]of Word— 2x2x 2 B

d:Boolean _.(DB

True : (i,j:Real); >2 «6=12 B max
False : (k,m,n: integer); >2 «3=6B @ B

g po AT JGant glaliss (o 5l Lass o sidgs Case i o
(VR RATA
Fauis -1e0F
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\ s - QY
b —>®)

c—> 6%6G9

F—>)

d,e—4

) }_>max @ Sl slas S-6 +36+1+4=@37)B
m—»

Vaa)S -V +0A
c—>10x11=110

b—6 St slas K= 110+6+6=@ B
ch—6

JPEPRC I PYILY
x—> 11

y— 6
z—> 1
a—5

b—0

¢c—3
maxl

d—0

St gls K= 114+6+1+5=23) B

FaLiE —Ye S
Name — 21
Id—>11

Birthdate —> 4

@

RST — 20%36=720

Y aiS -5
Gl aa a1, Ll ol g5 oo bl psian apbine (glanlid (ghils 0568, 59 sl a JIS0ly 5o
8 e JEe a4y Ll slaals pulie 5 als



e § Pl Slo Sisdib i 100+ [ FIY

YamiE -V 5y
S—> 6
a—> 1
x— 1
R—12
B—>3-(2)+DH*1=6
max Ludl el K= 6+1+14+12= B
G—>3*%1=3 My (1) e i s @
W —>2*%2=4
¥y ) FY
VS -V e PY
ViS4 20
10*2*1*1=20 Byte
YawiS Ve FP
T S YRy
¥ auiE -V eFA
Y amiS Ve Fq
Vi3S YeVe
Wrdyear — 2
Type D = —2+2=4B
Bytm, Byted — 2x1=2
Infop = Strn,Strf — 12%2=24
Riave =6
wrde—>2
Bdate —> 4
Infop—>24+6+2+4=36B
Y auE -Ye
A—> 21
B— 1

C.D—>4%2=8) o
—_— 21+1+8= B
E52.F 6 } B G9
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¥ s —Ye vy

N—> 6
X—>6
A—1
LM—>2%6=12]
- P MaX oy eH61+12=2) B
j—06 )
&ﬁéwgmb‘i—)h#‘)case‘)—jb&’A:\lsu.ata.?‘;hb“)casecg\}].?ﬁyb‘)ﬁduﬁ
S e pon (LB HualEe L1, T Slale 0 ity
YodisS - )Y
A—> 6
C— 256 24+256+11=269 Byte
N— 11
¥ < -V eVF
N— 11
T—> 6 11+6+1=18 Byte
C— 1
PEREERNY
A—> 2
B—> 1 256+ 2 +1=259 Byte
C— 256

S—1 Yaas VeYE
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Var )
FP:Text; Seek(FP.0): (v Rewrite(FP); ()
Begin Reset(FP); (f Append(FP); (v

Assign(FP.'t1.txt");

A8 cah 5l B0 ga go Jald S (glatal uly Jald 86 jLl (jlay8 alus —YYYY

Var Reset (FP); (A
F.P:File of Byte; Rewrite(FP); (Y
Begin
Assign (FP,'12. Dat'); Append(FP); (v

¥ 3 alouys S Rewritegls A G 1 O il oo anis as 8 (gl jlo (5 lag g0 Juld IV YY
ol 0108 500 30 go g alael alaal adiS o a4l g O Ho psis sue
A o ¥ (¥ e (A

Seek(FP, 0); (v Append(FP); (\
Seek(FP); (¥ Reset(FP):(v
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Seek(T.Filepos(T)-2) (v Seek(T.Filepos(T)-1) (\
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Var
F1:Text; v
B:Boolean; ey
Begin
Assign(F1,'Test"); ¥
Rewrite(F1); \ (Y
Writeln(F1,B);
Close(F1);
End.
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Var Writeln(FP,A,B,C); (A
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A,B,C:integer; Write(FP,A,B.C); (v
Write(A,B.C); (v
Read(FP.A,B.C); (¥
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s ToResult Jola o jlas s g g Ftest Juld w1558 ) dold o asi ju -VIYS

Reset(Ftest); IoResult gl gtiao gaadai s uts juHello abe (A
IF ToResult <> 0 Then

I V- PP
Writeln("Error')
Else ToResult gl gtias 5 o0 432 g3 s o Hello sl (¥

Readln(Ftest,'Hello'); e Yaue
ool iin sse ToResult gl gias g anita axn v Ls suHello aly (v
wzeal Yaue TOResult (gl giae 5 saids asngn L 5o Hello aly (¥

Assign (FRecord , 'Newfile.dat'); Yoo asbad uss<5 (A

Reset (FRecord);

Seek (FRecord , Filesize (FRecord) -1); DSs redea (Y

Read (FRecord , ID); SAT Jat(y
Vey (¥

S o ouliedd (LA L Gl e g da ju g Couua Jallo  gieun o 5gd0 - YIYF
Rewrite(Ftest , 5);
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Reset (¥ Filesize (v Filepos (¥ Seek(
ool 1S W3S o sl g Und dS ol o lacdi ] dabi u ya — 1Y F)
1) Var A:Text; see S * K19 SRS 9
Begin Y
2) Assign (A,'Temp'); ¥ (Y
3) Rewrite (A);
4) Writeln (A, 'Sample'); ey
5) Reset (A); \A| Kaua (¥
6) Close (A); )
End.
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Filesize(t) Div 2 (¥ Filesize(t/2) (v



PY W pBIF el

WS ouldid g8 g 1y yuy Ol gheus Gl Saalas (ia Juld (595, -V IFY
Filesize (¥ EOF (v Filepos (¥ Seek (\

N9 eyl (il g g1 an (sl File of ) giua -YYFA
e (¥ £ G (¥ Slogss (¥ 25939 ()

...... g Assign ) giais -1 FA
st oIS old s o33 (Y a0 LIS (bl suate b (bl Al BLS ()
o oS ble o calm s (F Boe oS b Lu S 5L (Y

el alas Reset j gicu oaldival 0y g0 =110+
e oS b (Y s ar a8 (A

Oy aal a5 Sewas Bl g Ll il (g o geus (Al 4 5o - VIO
Close o by ,a (¥ woliss ot abat (A

Reset s Rewrite ! sics g0 L (¥ aaliys glal olas (¥

Var Reset(FP); (y
FP:File of Byte; Rewrite(FP); (v

Begin
Assign (FP,'t.txt"); Append(FP); (v
Reset(FP); Seek(FP.0): (¥
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MyRec:=10; e e . .
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i:=0; N

While Not Eof(Filel) do 808! Sy 1y e s S 9 wsanse Bgoa alaas ()

Begin VNP Rv-R [SUP R PR
ReadlIn(Filel); i R
inc(i); .._'J1_' Uas 4.4\3‘).::\5 R | AL:\L_’:..‘ Read]nJJL_u_s J‘ aolail JS.J.. (Y

End; Saeuds ‘J J_ilé 54“ od d e sa En‘[erL;LAJSSblS alaas (Y
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Rewrite (f Seek(y Read(v Append(:

dild Dosg )y Jald (S0 Ll Lo 8 plas wudls g5 Jald 9,65, (a1 ojlad 1115+
Gudy o JLEL
Seek(Fp.Filepos(Fp) Div 2) (v Seek.,(Fp.Ftell(Fp)/2) (
Seek(Fp.Filesize(Fp)/2) (¢ Seek(Fp.Filesize(Fp) Div 2) (v
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Seek(F,200)  Truncate(F) (v Seek(F,210)  Truncate(F) (\
Seek(F.20)  Truncate(F) (¥ Seek(F.21)  Truncate(F) (v

Gada oo aladl las da g dold s ) \5Y
Program Sample(Datal,Data2); Koo Ll 4 Ll S 510,685 (g s oS ()

Type . s
Line=PACHED Array[1..80]of Char; <! 20555 o S (3 (¥

Personal=Record AleMt 5685 g S Guilsa (Y
Name:Line; . . K aai . of .
Address:Line; b gt 5 Sald pasS asls (F
Phone:Line; ped Gloa b (60,65, sl

End;

Var

Datal,Data2:File of Personal;
Nameandaddress:Personal;
Begin
Reset(Datal);
Rewrite(Data2);
While Not Eof(Datal) Do
Begin
Read(Datal,Nameandaddress);
Write(Data2,Nameandaddress);
End;
End.
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Filesize (f Eoln (v Filepose (¥ Seek (\
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Assign(filel) (v Reset(filel) (v
Seekofifilel) (¢ Exist(filel) (v
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Filepos(t) Div 2 (v Filesize(t) Mod 2 (y
Filesize(t) Div 2 (¥ Filesize(t/2) (v
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Reset(Fptr); Guguiipo alad las dn ) bgha ¢l -YVFP
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Write(Fptr,MyRec); ] Slae yue snd 5L Gailsa gl e oS LG
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oo 35855 Ve (sl Jolis aiS e ALl (aan 05550) Jabs sl 4 Ks auS5 SH (¥
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Rewrite (f Seek(y Read(y Append(y
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Sl o JUEL
Seek(Fp.Filepos(Fp) Div 2) (v Seek.(Fp.Ftell(Fp)/2) (»
Seek(Fp.Filesize(Fp)/2) (f Seek(Fp.Filesize(Fp) Div 2) (v
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Var

p:Text;

k:Boolean; WriteIn(p.K); st Sa s (Y
Begin

Assign(p,'A.txt'); Read|n(p,k);‘)\534.u..a B Waa (Y

Rewrite(p); False (¢

Writeln(p,k);

Reset(p);

Readln(p,k);

Writeln(k);

Close(p);
End.
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Reset(F); . P . .. . .
While Not Eof(F) Do <= 95 90mSime b sl sstnle eadin 55 51
Begin S e (S T F aaie U i,
ReadIn(F,S); . ) . - - . -
Writeln(S); aio gy by A F et b ke Ll glsiae (¥
End; O e (S ok
Close(F); . . . :
WS (1S Jobs so b e L 1 F st U bR LU (gl siae (¥
O e (S e 5o 0K e 1 lid ) ik datia 555 SI(Y
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Reset(F1); S G N o ey
Rewrite(F2); 031 oF gl wils wsa e F2 puatie L Jlaline L6 81 ()
While Not Eof(F1) Do A€ e SFIane b jblin. Ll
Begin - ) -
ReadIn(F1,8); 2315 oF glstiae ails ssa g 1 puiie b Slaliie s 21 (¥
Writeln(F2,S); S o WS F2 e U jblin. L
End;
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Var fosd Culs Wi Sample jlag 63 Juld Jgbo -1V
F:File of Boolean; 10
x,y:Boolean;

Begin 2(y
x:=False; 3¢
y:=True; .
Assign(F,'Sample'); aslo Uas (¥
Rewrite(F);

Write(F,x,y);
Close(F);
End.
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A:=Filesize(F); 2000 (v 20000 (v
Writeln(A); 20 (¥ 200 (v
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Read(F.i); Rewrite(F): (Y Write(F.1); Rewrite(F); (
Write(F.1); Seek(F.1); (¥ Write(F.1); Reset(F); (v
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G gt o0
Reset(F.100); (v Rewrite(F,100); (
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Function Fact(n:integer):integer;

Var n+1(\
F,icinteger; H+2 '\
Begin
%7:=1; n(¥
For i:=1 To n Do \,1_;5_;_:\45 (¥
F:=F +1i;
End;

, , , )91 Sanisg 1 5 2l Sle) (Sasay VY
Function test(n:integer):integer;

Begin O(n) (v
TF n=1 Then 2
test:=1 0 (n ) (v
Else 2n+1 (v
test:=2 * test(n-1) + 1;
End; n+l (¥

9l Coaa 1y g aall Sl (Seaaas VYV

Function test(n:integer):integer; O(n) O
Begin 2
TF n=1 then test:=1 o) \
Flse test:=2 + test(n/2) + 1; O(nlog n) (v
End;
O(log n) (¢

w91 s |y g3y ol (ila) (Sasasy VYYD

O@m) (

x:=0;

For i:=1 to n do O(n log n) (v

While i>1 do

Begin O(Log n*) (v
iz=i div 2; alaSaua (¥
x:=x +1;

End;
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Procedure test(n:integer); O(n) O

var . O(n log n) (v
i,j,k,x:integer;

Begin O(n*) (v
x:=0; 3
For i:=1 to n do O(n’) (¢

For j:=1 to n do
X:=x+1;
IF x>n then
For i:=1 to n do
xX:=x+1;

x:=x+1;

x:=x+1;

For i:=1 to n do

For j:=1 to n do
For k:=1 to n do

x:=x+1;
IF x=n*n then x:=x+1;
End;
wp gl sy 55 gl (Sawsauy SITYY
Function bs(L, h:integer ; x:integer):integer; O(I’l) (\
Var
mid:integer; O(log n) (¥
Begin 2
While L<=h do O) (v
Begin o) (¢
mid:=(L+h) Div 2; ()
TF Almid]=x then bs:=A[mid]
Flse IF A[mid]|>x then h:=mid -1
Else L:=mid+1;
End;
bs:=-1;
End;
w8l i |y 55 gl (Aile) (Sasaas - VTTA
Function test(n:integer):integer; O(n) (\

Begin n
IF n=1 then test:=1 0(2 ) \

(
(
Else test:=test(n-1)+ test(n-1); 0(,,12) (¥
End;
(
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Function test(n:integer):integer;

Begin O(n) 0
IF n=1 then test:=1 0(2n) (¥
Else test:=test(n-1)+2;

End; O(n’) (v

o) (¢
w91 G [ 515 @l il (Sasag —ITY

Function test(n:integer):integer;

Var O(n) (s
i,j,x:integer; 0(2”) (¥

Begin
x:=0; o) (v
For i:=1 to n do 3

x:=x+1; o) (¢
x:=x+1;

For i:=1 to n do
For j:=1 to n do
X:=x+1;
test:=x;
End;

8T G ) g gl (ile) (Sasaus — 1YY
Function Bs(n:integer):integer;

Var O
i,j,k:integer; n
Begin 02" (¥

For i:=1 to n do on’) (¥
For j:=1 to n do
For k:=1 to n do O(n') (¥
x:=x+1;
test:=x;
End;

gl i 1) 35 gl (Al (Sasay - VYYY

Function S(n:integer):integer; O(n) 0
Begin
IF n=1 then S:=1 0(2n) (¥
Else S:=10+S(n-1); O’
End: (n) (v
(
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Function Max(a,b:integer):integer;

Begin

IF a>b then Max:=a

Else Max:=b;
End;

x:=x+1;
For i:=1 to n do
x:=x+1;

x:=0;

y:=0;

For i:=1 to n do
x:=x+1;

For j:=1 to n do
y=y+l;

For i:=1 to n do
For j:=1 to k do

yi=y+1;

x:=0;
While x<n do
x:=x+l;

x:=0;
For i:=1 to n do
While x<n do
x:=x+1;

gl Sl 51 aali o) (Sasass -V TYY

9T Conna Ty g3 Aty oSI il (Sasaas -V TYS
02" (v Q(n) (\
O(2n) (¢ O(nz) (v

a8 o |y g g 580 (Al (Saaans - 1YY
o'y (v om’) (s
O(2n) (¢ O(n) (v

iy gl s 1y g3 Ay oSI Al (Sasaas -V TYS
O(n") (v om’) (s
O(nxk) (¢ O(n) (v

5 8T G |y 55 iy &I (ke ) Sasaay — 1YYV

on") (v O(n) (»

O@n) (¢ o) (v
a9l s 1 5y Al o8I ey (Saaaas - ITTA
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Function Sum(n:integer):integer;
Var

s,i:integer;
Begin

s:=0;

For i:=1 to n do

s:=s+A[i];

Sum:=s;

End;

Procedure B(n:integer);
Var
i,j:integer;
Begin
For i:=1 to n-1 do
For j:=i+1 to n do

gl Sl gy @l Sile) (Sasaas - 1YY

o) (
own") (v
O(n) (v
O@2n) (¢

VST I R-ETy PRVETE FRRV PRI XVERVER) o &

o) (s
own") (v
O(n) (v
O@n) (¢

TF AJi|>A[j] then Swap(A[il,A[j]);

End;
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While (f Write (v A-B (v Var (A

D9 94 (GBI R a5 &) 9o da gy Gl ST S G uly s J1g, - IYEY

Procedure F(Var M:integer); fowa
Var N=8 M=0 (\
N:integer; _ _
Begin N=8 M=8 (v

N:=0; N=26 M=26 (v
While M>0 Do
Begin N=0 M=26 (¥
N:=N+M Mod 10;
M:=M Div 10;
End;
Writeln('N=",N);
End;
Begin
M:=26;
F(M);
Writeln("M=",M);
End.
Lol pa3 JJI}aJI.&J‘AI.ASSJI.AﬁaJ:aJ dals s dalad (g 5ol 3 s - VTFY
S:=0; ? *
For i:=1 to N do N (NFN+HD)Y2 (0
For j:=1 to N do 0(f (NF2)(N+1) (v
S:=S*i;

(mE N=5 (48 8 da)uiS o dnnlan | (s 7a2 4 ) @l - VTFY

Function F(N:integer):integer; S0

Begin 120 (v
IF N=1 Then

F:=1 15 (v

Else 25 (¥

F:=N+F(N-1);

End;



rfa |/ lﬁgs.ojT

A g0 Al (5 IS 4 ju ) dali s aabed VY FD
30 (bl sl el s aalsd ol (N
S e la ol B (Y
S e ol ol U e S (¥
S el ol U eilie S (F

For i:=1 to 6 do
Writeln(' 5 s sy,

ey gy doll A -VYSFS
Str:='Hello'; eI B RS R N
Write(Str:0); Hello (v Hel (y
31 A (F o1 oblelS slld o€ ol (v

G iy 9yl ge 3 S alas Julaa 4404 54w IYYY

(x<=8) And (x>=1) (v (x>=1) OR (x<=8) (
(x>=8) And (x<=1) (v (x>=1) OR (x<8) (\

GLAII ) 1) £ 9 alaS aaiS (5l pudiia <o AN 1, A POPaae wibl I3 ST 1YFA
s ca

integer (¥ Comp (v Word (v String (1

Gond alas2+4%6/2>=4+7-3/2+1 o,ls lude -1VF]
False (v ot sl alaa ol (A
sl B aali s o SBEALL fy 50 (F Ture (v

3 ol G jylae g dalh g g A VYD~

Program Logie(output); True , False , False , True (\
Var

A,B,C,D:Boolean; (
Begin True , False , False . False (v

A:=True;

B:=False; (

C:=A OR B;

D:=A AND Not B;

Writeln(A,B,C,D);
End.

True , False , True , True (v

True , False ., True . False (¥

I C:H‘gg(n):nzd:.éJsJ_E:.Ja\_.nf(n):IOnz+n+1u;ujus¢:.e_:.g—\Ta\

n>2( 1n’ (v O(n) (v On")



e 9 F9molS o (SAisdiuls a1 | PFF

Gl oauii 00d g3 Juld (59, 3 9,95, SuRead ; gius Su L g g5 (61 o Jald < 50 -VYOY
8 o lamsiia) g8y it gl adilago ¥V 0 jlasi a) 55 ) Jald 58 &)Ll Guuk ol 93 5
S PURCF PRI
Seek(T.Filepos(T)-2) (v Seek(T.Filepos(T)-1) (y
Seek(T.Filepos(T)-7) (¥ Seek(T.Filepos(T)-5) (v

Wl gaus (298 aali alas SYYOY
Length (¥ Copy (v Upcase (Y insert (\

il o0 @38 alus 03 G jlas Jusls -YTOY
(ABS(3*5Div4—4) > 0) AND (Sqrt(9MOD3*2+1) < 0)
False (¥ s (Y True (v I

S ‘aldéﬁjﬁ‘a:ﬁnsu._;‘a.ahjl]zntcrl_jgd‘g‘)‘gjl |J3,2 . 1 sla sl i 21 -YY00
(ol you S oA i —Caods)

Var 1(
A,B,C.D:Char; ~
Begin
Read(A,B,C,D); C2(v
Write(A,B,D);
End. ( ) 123 (v
123 (¥

s Write('k=",k:6:0); o 3 5 35l 3247156 pf ju Kk juiio lada &1 VYOS
k=3247.7 (¢ k= 3247 (v k=3247.0 (v  k=3247.756 (

vl {AIAS Ui CA.-.fSJ..‘ aauih .A.n.ZIL! N-5 c..nl.ﬁ Y J§| YoV

Function F2(N:Byte):Byte; 10 (v

(
Begin 15 (v
TF N=1 then F2:=1
Flse F2:= F2(N-1)+F2(N-1); 16 (v
(

End; 32 (¥
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o LngF (5) jladio ju ) aoli ju an an g5 L -YYOA

Function LngF(intn:integer); 15 (s
Var 120 (v
intcount:integer;
Ln:Longint; 60 (v
Begin 10 (¢
Ln:=1;

For intcount:=intn downto 1 do
Ln:=Ln*intcount;
LngF:=Ln;
End;
gy N eald 50 —1Y0A
il 4Rl aea s O b aslolan Slae S wl aga il Sa s ()
il a5l S a s O b adlulan saite Sl auod AL s 1o (Y
e SIS o B yaS 5o Leliena |5 gy aalie GlgSige (¥
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00 SIS s Raoas so Laiiine | (agoa b (50500 slaaatie Gl e (¥
gy ol dS S o g0 99 gdigo QLAY L daiugh g peld ouls lijee £ g3 —VTE
il O as gana yu; w3l g0 g pol8
(oSS - il (F G255 - Grasialigg ()

a5 - Sl pa e (¥ Gaoe S - JSuly o 5 (¥

38 oo JUd! |y allila 3 Cub ain ) slasals —YYE)Y

Var A (\
M:(Red,green,Black);
N:-3...200; 4\
F:5...20; oy
E:100...300;

V(¥

Gl ranis 5 slad R 5 S alas VYPY
3l e auon slasielly (o wndls a,6S) s e s Se a8 slastell (A
il 3,68 e 5l
35555 850 Mo ol (oo Clsie (o ol 0,05, Bl e ol Sy gugu0 Selly (Y
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Var Ye (
Rec:Record Y¥ (Y
a:Longint;
b:20...30; e\
C:Array|Boolean|of Array[1...2]of Word; Yy (¥

Case d:Boolean of
True:=(i,j:Real);
False:(k,m,n:integer);

End;
...\:aJ‘{l G |y Jaldo ol o 28 2 -VYEF
Flag:=False; "False' (\
A:=12;
TF (A>10) OR (A>20) then False (v
Write(Flag) "True' (v
Flse
Write(Not(Flag)); True (¢
A8 Cval SO dal Lol S -YYED
._!\9.&]6@1_)?‘1_@1‘)._!\9Jﬁwmﬁmu‘ﬁdw“)d(\
"’\9"':‘."6‘14‘:‘L;LG:;‘JJJJFMMJ;MB‘HGLG:;‘JJ(Y
_'ﬁl_ra“)._;”.é.:l“)d\sJﬁwm\pﬂ.ﬂu‘ﬁé‘@‘)d(f
VWA/B/R 599 ol o8t —1 (yg03T aoliuuly
Y oa S -IYY
VK -YYFY
M N
26 0
2 6
0 8
¥au X -IYFY
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S50 s s ddiee s 150 @ii 4 S5 apd o SIS SLN s NN sladala
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¥ auE -VYFF
il e 8 B paane JES5L By sal lea ol ol

YA -1YFD
¥auE -VYFF
¥ 43S - IYFRY
¥ auyE -IYFA
YAy -1YF]

2+4%6/2>=4+7-3/2+1

2+24/2>=4+7-3/2+1

2+12>=4+7-3/2+1

14>=4+7-3/2+1

14>=4+7-15+1

14>=11-1.5+1

14>=95+1

14 >=10.5 — Ture
Y au3E -1V

A=Ture , B=False

C:=A OR B;—> Ture OR False = True

D:=A AND Not B;:— Ture AND Mot False = True
VX -YYO)
Y auX -1Y0Y

oo SReLal calse g g 1S o0 el o 150,555, S Ss Lal cuat g Filepos s
)‘JA‘JY ulug“LgJJSaJ‘_.ill\a‘C QJLA_A.:;J‘)JSJ @;AJLi‘QS.%‘G‘)gJﬁLgGA\A‘VJJJSJ
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¥ au X -IY0Y
¥awml -VYOF

(ABS(3*5 DIV 4- 4)>0) AND (Sqrt(9 Mod3*2+1)<0)

(ABS(15 DIV 4- 4y>0) AND (Sqrt(9 Mod3#2+1)<0)

(ABS(3 - 4)>0) AND (Sqrt(9 Mod3*2+1)<0)

(ABS(-1)>0) AND (Sqgrt(9 Mod3*2+1)<0)

(1>0) AND (Sqrt(9 Mod3*2+1)<0)

True AND (Sqrt(9 Mod3#2+1)<0)

True AND (Sqrt(0*2+1)<0)

True AND (Sqrt(0+1)<0)

True AND (1<0)

True AND False — False
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2 5€ILLS 5 Couiie Lo #1051,1€ 4 B_ustie o EntersS #13 51,18 5 A pate o 1,118
L S 3l e Sael Boaite 5 usd e ol Toae ol a3 50058 o 18 D ssitie 5o
el DS 5 usd e Gla s oo Tose o) s 200e 5wl JETI s gluil
ey (Bl Sl Slea Hou g e

Y aug -1Y0F
¥ s -V YOV
N | F2(N) = F2(N-1) + F2(N-1)
5 [ F2(5)=F2(4) + F2(4)= 16
4 | F2(4)=F2(3) + F2(3) = 4+4=8
3 | F23) = F2(2) + F2(2) = 2+2=4
2 | F2(2)=F2(1) + F2(1) = 1+1=2
1| F2()=1
Y @3S - YYOA

G 2l (oo ae Sy oo iU e (gl aohitind 5 ASKGL e 4ol S 4ol o
il S ey 5 tpmlaa 155 vae ) 5 Gug aBb e w5 0l a0 Slte 45 lage

Sl=5*%4*3*2%*1=120
Y a3 - 1Y0A

ARCRERtE) P
ARVPRCEN F
€S las loese ssali ) glasale i€ o Jhdl 1 col ) aliila 5o 5udy islad slasals
3l o HLECL e saly a3la3l 4 S o Sl
M — \ byte
N — oLose integer — ¥ byte
F— oLy Byte > \ Byte
E— L3 Word —> Y Byte
# Byte
Y X -IYEY
el slan s aSha s S @ Shaalae g glaslio ol st o olss g 1 baa, oS5 -
et aoliin Do e 4y 55 0o

il 05655 s T g 5 Clsa T 0l g5 ges oS it algd Clsa S (ghola s sa
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a:Longint—(4) B
b:20...30— (1B
d:Boolean—(1)B
C:Array[Boolean]of Array[1...2]of Word— 2x2x 2 B

d:Boolean _@B
True : (i,j:Real); >2 6 =12 B
{False :((li,m,n:)integer); —>2%3=6 B} ﬂ,@ B
Y au X -VYEY
el (12> 10)OR (12> 20) — True OR  False— True ;5o
g o al Then o jle Hluia ey
Ve X -IYED
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WA/N/Y 595 pl ol&iits —¥ cyg05T

i lae jud JISuly jo ) @ladeli j Saalas -V Y58
For 10 (f Write.3 (v True(y Read (\

D9 94 (GBI R a5 gt g Ol 8T paSa GBS Ha 1y 3 g, VTRV

ETIUITEY
T: =
Procedure F(Var M:integer); N M0 0
Var N=11 M=11 (v
N:integer; _ _
Begin N=461 M=461(v
N:=0; N=1 M=461(¥
While M>0 Do
Begin
N:=N+M Mod 10;
M:=M Div 10;
End;
Writeln('N=",N);
End;
Begin
M:=461;
F(M);
Writeln("M=",M);
End.
ol ga g dJl}ajlé’.a{aldSSJldﬁaﬁj dall ya aadad (gl jal 3 s VY FEA
2
S:=0; N (¥ (N(N+1))72 (v
For i:=1 to N do
For j:=1 to N do ploSqua (¥ (N+2)(N+1) (v
S:=S+1;
S 0 diculag |y (58 A ) &b -Yrs4
Function F(N:integer):integer; Ny
Begin
IF N=I Then NE(
F:=1 N(N+1) (v
Else 5
F:=N*F(N-1); N (¥

End;
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(oot N*N s yilo) st 0 e\eﬁlAu.u:aJiLa (9 (S ymadi dn yu) dols pu anked — VYV

For i:=1 to N do
For j:=1 to N do
Begin
temp:=A[i,jl;
Aliyjl:=Aljil;
Alj,il:= temp;
End;

—

(
Jlsu.al JL}A‘_‘ AJJ 6‘).‘.}333 (
S e sl g0 e b1 S 0 gt slacl (V
plaSana (¥

Ao aladl A (g peaie Naal 5T (59, (518 d ju) dalli yo aalad — YTV

B:=1;
For i:=2 to N do

IF AJi]<A|B] Then
Writeln(B);

For i:=1 to 10 do
Writeln('*' , '*' :i);

A:=10;

B:=2;

C:=A/B;

For i:=C downto 1 do
Writeln('**);

Str:="Hello';
Write(Str:3);

IF Not((A<20) And (B<100)) Then

R L;.L:!LA;“) A‘L.:“‘JI Jde ‘;,J__)Jg‘)‘).:! (\
B a8 o Giabad 1 Adyl T sue fuiSs S (Y

o a0 g Giuled 1 Al voe (w855 Geons! (Y
(

aas o Ginbar 1y Adl T e 5 i< oS sl (F

A Al (5418 dp ) dall e aaled —VTVY
Aol gobbalS glad anls y aats ol (3
S e ly sl V- (Y

e oy aliee L e S (T

S e ol ol b B K (F

Crna g dold a dalad —YTVY

Aol (g sblelS glaa anls s ol (Y
W e by a0 (Y

W o pla o, Bl Y (Y

W o ola sl (¥

o g doli 29,8 VTV
Hel (y
Aol (bl glaa oK (Y

Hello (v
plaSaa (¥

ool ya3 9,080 51 Ko alas Jolaa IF  giiia VYYD
IF ((A>=20) OR (B>=100)) Then (
IF ((A>=20) And (B<=100)) Then (v
IF ((A<20) And (B>100)) Then (v
IF ((A<20) OR (B>100)) Then (¥
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g oo plulal Hello aolh j anlsd ju3 slads geno 3 S alas 151 s —VYVF

Readln(A); Yol 53 oS olael (N
IF (Not(A>10) OR (A<20)) Then AR RINCRTIVE £ "R RIe RYS N\ ¢
Writeln('Hello');
s o Giotar 1 Helloslael daa g3 4 (¥
(

Ssdeai ola 1, Hellogs s s sae ger s131 4 (¥

= j ol g dalad A -YYVYY
ch1,ch2:Char; A e XN

Begin a
chl:='a'; b (v
ch2: —ch] +'b';

Writeln(ch2); ab (v

End; sl gobleelS gl o ol (¥

NalSPINEN *?JAJMQJJML’AJP—‘YVA

A:=10; S e ola 1, VG Y J1 (\

Repeat
Weriteln(A); S 2l LV BASHY
A:=A-1; JASUA u‘A ‘J \E lrda (Y

Until A<10; S e oy 154 i (F

.Queeledﬁ.anjdswslﬁl 3 g -yYva

N:=2048; 2048 (»
S:=-1; 1024 (v
Repeat
N:=N Div 2; 10 (v
S:=S+1;
’ 11
Until N=0; (f

Procedure F(Var A:integer; i:integer); 15

. (\
Begin

Ai=A+1; 0(y
End; 5(v
Begin

S:=0; (¥

For i:=1 to § do

F(S,i);
Writeln(S);

End.
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Type
N=Record Yo ()
B:String[10]; VY (Y
Fl:integer; B
End; s Gadidie A eae dadla 05080 a8 A e 4S ales B (Y
Var \A‘ S > A (‘c
A:N; 0
Lo a3 0yl g0 5l S {sl.\SSJlﬁanJ’ ol yu dadad (gl jal 3 s —VYAY
S:=0; 30 (v 20 (v
For i:=1 to 4 do
For j:=i to 4 do 8 (¥ 10 (v

S:=S+1;

6 L1 3 (o) slauasil 4S Cod 6%6 (s yilo S0 A) .aaa 0 aladl (5 1S an alila ol -V TAY

(C.‘A.a.ul
5:=0;
For i:=1 to 5 do S o danlae 1y G il ge 58 Hhad g gaas (Y

(
S:=S+A[i,6-]1; _ugu.a i.u.ul;a 1 JJ‘ S & goma (Y
(

X y dald i dakad S IYAF
For i:=1 to 3 do e 2o S ) 8~
For j:=1 to 3 do WSS o ol 15 el Yolse! alas (A
For k:=1 to 3 do < 1 e (¥
For h:=1 to 3 do ] uw > (
Writeln(i*1000+j*1004k*10+h);  OlsS— 1.2.3aL5,1 Ly a < a8 Fuloel alad (¥
W la b cale

S e Gl 1 cale Slgge 1,2.386,1 § o€ a8, Yolsel oL (F

el g dJl}aJI;.ael&SJldiaﬁj dalh y aadad (g jal 5 s —YYAD

S:=0; 50
For i:=3 to 6 do
6
Case i of (¥
1,2,3,4:S:=S+1; 7
5:8:=S+2;
otherwise 8 (f
S:=S+3;

End;
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Gl IS (g gl JiSeuly Jlabsals jo s )9 90 alas -YYAF
xi=15.5%2: (v x:=5.5/2; (\
x:=7 Mod 2; (¥ x:=10.5 Div 2; (v

el 3 o295 alas gl yla Write(A:4:1); & jle ol A:=73.58 81 -V YAY

735 (¥ 7.48 (v 73.8 (v 73.48 (v
S o Ll alddls Cubs dia a3 9,955 - VTAA
var voa
Stu:Record 0
Age:Real; YE. (Y
ID:integer;
Name:String; g\l
Grade:Word; YFE (¥

End;

Var
X:Array[1...10]of integer;
Y:Array|[1...10]of Boolean;
Z:Array|Boolean|of Boolean;

el pal gl Shacd glols S8l 4L (Y
S et mbaa @iy 5 L fL (¥

For i:=-5 to 2 do
For j:=3 to 10 do
Write("Hello');

Var

x:Boolean;

i:integer;
Begin

x:=True;

For i:=-1 to 10 do

Write(Not(x) OR False);

End.

Gl praania YISy 3 ga g9 dlas alas ALY
e VU e 1) o SISl 05 ()
el Gy e 0L5 Sy ISy LS (Y

S {AUS )y aeli s g -4y
(

JJ—A-::-IGA %L% He“OJLg v (¥

oo alas a3 aoliys 2955 -VYAY

S b e ola False L vy (A
(¥
(v
(
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S oo olaTrue, L vy
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Col alas a3y O ylas Jesls -YTAY
Not(((3 — 4 Mod 3) <5) AND ((6 Div 4) <> 3))

True (Y False (\
ol gblelS St (¥ Y (¥

A oo aladl (5HIS dn dp ) 4ol yu dadad -1Ya¥

a:=atb; B P70 a—b)._,l)._, b (¥ e oo (5 sbene b.a (\
b.:a-b, Y K] \ J‘)‘J.a (\c ..\J.a.:llu.a uéd.c b.,a LSL? (Y
a:=a-b;
s ] dols o daled 29,3 -YYA0

S::O; - e 3
Read(N) Do Voo glive 4 alive 5o 311 sae (O
While N>0 Do 383 e 3Ty 1 sae glisa (Y
Begin % .

S:=10*S+N Mod 10; Wosee ¥ glise 4y nae (Y

N:=N Div ]0; J:EUA i:u_ul;a ‘J J4c g_ﬁ\’.ﬁ-ﬂ (‘c
End;
Write(S);

YWA/N/Y 399 olas olSiits —¥ cygo3T (o yis doligualy

Y s CYSS
Va3 S VYEY
M N
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4 7
0 11
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a3 o Gl 1 G0 e oS suaie mual go Badla L5l 50 13005 0 (551060

F S VTV

Y ai3E AYVY
KRR UQ'AFOI‘L;L)..; S o0 g sl jaafia ;S:C

Y ai3E VYVE
) aa3E - 1TVD

Not((A<20) And (B<100)) =

Not(A<20) OR Not(B<100) =

(A>=20) OR (B>=100)
) awiE S1TYS

i aala Ols Hellosaly po A<20 e «S A<=10 4 A<20 4151 4

¥l -VTYY

bl it pan Ll La IS

Yau X -YYVA

9<10aS st oo A= 9 e 5 a3 o ole Repeataala o o< sl oo A=T10030 0
sl e aaila dila 13) 0l

¥ s ITVA
N=2048
S=-1
N=2048 Div2 =1024=2"
S=-1+1=0
S oo ST TaS 5 g 1S5 dila L VY aub 0 sdo N= 06130 0l 0 S= 00 52
¥ 43S - VYA

S::S‘I‘]‘)lﬁ QQJ&EJJJ_:LQ_A J“)SFOY'&{JJA od ‘)Lga 45..\..1@6_417@\: G‘ngar‘)iilas
ibicee opsdS 0y His SHIA el oo
¥ aus - VYA
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4H342+1=10 .95 0 S=10 14

Y aijE -V YAY
¥ ais CAYAF
ols‘)“}.h,cgd_a.a:o&d :G&‘,d\}"‘)‘z&bg‘g‘)f ..a..s.clblﬁjl..aﬂ: \)‘\53‘)..!\5343.!;‘)‘.@%
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¥ 43S -1YAD
i S
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4 2
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6 7
¥ 4 S VYAS
¥ a3 -1 TAY
St go Juast 7354 juad o K Saay liel a3, LA sue
¥ i3S - YYAA
\ aiu3E -VYAQ
X=10*2=20B
Y=10*1=10B
7=2*1=2R
X+Y+7Z=20+10+2=328
PARTIRT L
Y ai3E -1Y4)

idals LSS alsas=2—(-5)+1=28
jaila 1SS alaai=10-3+1=8
g o AY sul s H1SE Slaas aiies o550 60 Waadla e g
¥ au< -YYayY
s ls False ;s 5. Not(x) OR False = ;Lue 13! 5l False jlsas Not(x) = be g x:=True
il e G10—(-1)+ 1 =12 1 s Foraala 1S5 alaas o5
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\aw3s -1 YaY

tpaslo Ly ol ) Buls 5

Not(((3 — 4 Mod 3) <5) AND ((6 Div 4) <> 3))
Not(((3 = 1) < 5) AND ((6 Div 4) <> 3))

Nol((2 <5) AND ((6 Div 4) <> 3))

NoW(True AND ((6 Div 4) <> 3))

Not(True AND ((6 Div 4) <> 3))

Not(True AND (1 <> 3))

Not(True AND True)

Not(True) — False

T -IYAY
¥ a3 1Y
q@“leSugJHySJq)ﬁ“acgqu.ALSL;‘,\..\.;l‘).J_Lc?LEJ%gSJ:yWhi]e&]A

._!\9.;.::46@
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Var

ch:Array[65...90]of Char;

izinteger;
Begin

For i:=65 to 90 do

Begin
ch:=Chr(i);
Write(ch[i]);

End;

End.

o alsS a3 ol ys dalsd 29,3 -V VAS
S e ol LZ BA Sigsa ()

Wl e gla,Zz A Sgua (Y

S oo ola 190G Faslael (Y

plaSana (f

Al pale wia ey dalyl - TAY

Var A:Array|-5...5,'B'...'"E', '0"..."2"]of integer;

Var
N:integer;

Function K(N:integer):integer;

Begin
TF N=1 Then
K:=1
FElse
K:=N*K(N-1);
End;
Begin
Writeln(K(6));
End.

For i:=1 to 60 do
Write(i=i+ 1);

VA(Y YWY (Y aa

a1y dali g (29,5 - 1TAA
120 (3

720 (v
240 (v
1000 (¥

ol alas g daliye 29,5 - VTAR
Asd e ola False 5L £+ (A
Wl g ola True HL#- (¥

sl oo gl £ B Valael (¥
Alaun (¥



e 9 F9molS Slo (S Cad Ve | TEY

taals g ol dalsd (g1 ol 31 ug wiils S:="ABCDEF'; 31 -1+ +

gl g0 o B (\
For i:=1 to Length(S) do

Delete(S]il,i,1); s oo by ADF (¥
Write(S); ssde s ACE (v
g eo ola BDF (¥

ety s Lackysan, Laculs, La it (Y Lacdsad, Lasuate, Lady,, Lacul ()

L‘M‘-’.JJ : LAJ&’S"’ . L"‘—q:")"‘3 * L‘”:‘:’& (f L‘”inl" : L‘M-’.JJ . L‘”‘—“-’.J"‘:' . L“ﬁ"':’& (T

adigh b 3l g (e S ja ol g a1y (sloala £ 40 an VY'Y
sl (¥ Lsdada (Y silaia (Y e ()
3 gt oo Stack overflow gles Gicls jun dn judaCud€ il atia ;) &I o VY Y
Jﬁb_“dﬁu.aﬁ%‘\ﬁ[;\am(\
bl ol Gl it sl sA158 olas (Y
Y K] A ..!‘)‘\9.4 (Y

S LA |y S je 438 — VY F
W e alat A s sa (bla Sy Reset 4y (
A e Baaly S s L S Reset a g (Y
osee s SIS Al 4, il cual o Reset ayg (¥
oo Ll SISl o 1) LA coad se Reset 4, (F

gfiealyal b win alde dils dias 1Y +0

x:=1; SL 20
Count:=0;

L3 (Y

While Count <=4 do Sk3(

Begin SLdy

X:=X¥X; L5 (e

Writeln(S); BIRK

Count:=Count+1;
End;
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i (5 luke dn X gl o sl y=15.0 &1 - VY £

x:=25.0; 1250

IF y <> (x-10.0) Then 25.0 (v
x:=x-10.0

Else 7.0 (v
x:=x/2.0; ploSoua (¥

Ay Cylas 9o Jola wdihs Flag=True , C=15, B=10, A=5 wis & 3 Y-V
(43,945 231 83 e 31 Lol 92)3Ls Sl sl 3 o 3

True . False (\
(A<>7) AND (C >= 6 ) OR Flag

NOT(R <=12) AND (A Mod 2=0) False . True (¥
True . True (v
(

False . False (¥

Ssl Cuys Silalas aladl ju cati 5 dg 35 Jlasd 3 diass alas 1T+ A
Lal, Gladl, o0 bl (¥ AL Ll Blall, LlelS ()
AL Bl JlelS, al (f Sl Lal, @80, LlelS (¥

oo panie dia S alas Billa (6 a3 (ylalad Loadaaly o 14
Const C=Value;
S el el S 31 e e CONSt s sk 5 (3
S s il e g ol € abin U kL. Value (Y
il and (i s 18 31 A S il g5 e Value (v

b sk Ciu el 8 5 euls S wilgs . Value (¥

Var
x:Real; by o 16230l 2 ga (N
Beyg;innteger; il o 16 aaline agsa (Y
x:=14.23; T N (199 \aLa.ﬁ ‘J.z.‘ ‘JLA) o ub‘).; (Y
yi=x+2; a8y o e alig dan 55 ol Lo el (¥
Writeln(y); ot pliy o Clod oo lin

End.
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Var Ayl 2B d ) Ol s Cud d}_}}a'C:\t.dat'J:n\é -
F:Text; A e ST ke (A
Begin ) o i
Assign(F,'C:\t.dat"); WS e LT L (Y
Rewrite(F); W o slasl T LG (Y
Close(F); ) ) i
End. e S GRE S 5 oalea gl s LB (Y
o .CA.n.ul&;@x}@&ﬁuﬁojg‘}dd‘,}aelﬁ—\‘*\"
1L=U3 “ Oy - . P &
While Not EOf(Fl) Do BCIPR| aL:a.u.u‘ Read]n‘)\,.u.....a )‘ aolai JS..... (\
Begin wobed o 1y bl 5o e se (slghas slaas (Y
ReadIn(F1); . . . .
inc(i); (F1) woledipa 1y Jold 50 asa g B oa slaaS (Y
End; .JJLA.A.::.I(;A ‘J leln LE.U .]cJ.]a.A ..!‘..LQS (‘c

(
il a0 5 s Ol ail 5 e alS sla sl SISy Do (Y

.Jﬁbm‘d@JJ&JJJJJJJJ‘&:GAEBJ&JQ‘)J(\

il o Ll gl sal o Lady s By sl (5 (Y

S o dan 5 Ghal aalisy S L8 1 Ladg s SLLIS (Y

A Sl s So 4 Saelsly ol ey 0355 e 0068, G (Y

il g ed S 51l e 05685 ghiael (¥

(
il o 95085 OF gt cals usal asita o a56S5 58 Gusal (¥
(

Var

ch:Char;

S:Set of 'a'...'z';
Begin

ch:='D';

Write(ch in S);
End.

R:Record
S:String[39];
N:integer;
R,Q:Longint;
X,y,z:Real;

End;

S g1 walip (2954 -ITV0
ShLGIS gl (3
Lal ol glaa (Y
I\
False (¥

Ture

IS g0 JUdl cubs 333 39,88, VTS
£ (3
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x:=0;
For i:=1 to N do
For j:=1 to N do
x:=x+1;

2.0

Var
A:Set of 5...100;
B:Set of 1...100;
Begin
A:=[1...100];
B:=[4...8];
B:=A*B;
Write(ord(S in B));
End.

Caad] (Sleud g0 QJI BTN s@laJIJS:! laas —YYVY

plaSana (¥

i ol 5323 Div2 Mod 4/3 & jls aia —YYIA

3

Function F(N:integer):integer;

Begin
TF N=1 Then
F:=2
Else
F:=N+F(N-1);
End;

4.0 (v 10

oy 1) aclip (255 -ITIA
SLleels Izl (y

1(v

Ture (v

(

False (¥

S0 dsnilaa | (5332 42 1) i VY

N-1t61 alael paa ()

Sy oMy N G 1 alael pos (¥
N2 dlael pos (¥

& agVas N-T 52 lael pea (¥

Y] () dalan {sldS T
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B - aaly Gabliaial] JIat i, ge aladla dls_,_,_,lﬁ 5 Type‘ﬂ sa (\'
o aaly Galiaial HIn g ge abidla (KL So Var! aas (¥

o (lolay asibimabo ol S JISul (F

Aslan o a cwly Jaaiiant T cudhe sty Gl d delh o S 0 SVYYY

S-S (¥

e sl gl ge Lo wan
S el ol e ()
colgi e el o —eslg e (7
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Var C.‘A-l-t.l:te ‘.@:I:Il e J:‘:) adls BL XJldﬁ-d -3YYY
izinteger; 26 (A
j:Char;

Begin 40 (v
x:=0; 38 (v
For j:='2' to '7' do

X:=X+2; ploSoua (¥

For i:=-1 to 5§ do
For j:='C' to 'D' do
X:=x+2;

o alsS 29,5 dgd 1jal ) g g il A=215.256 , B=3171 81 -\¥Y¥

Writeln(A:5:2);
Writeln(B:3);
15.26 (¢ 15.26 (v 215.26 (v 215.26 (y
171 317 317 3171
vl AlS ) Ol g (1 ol dauil ol80T Wiy A=215.951 , B="abcd' ;81 -1YY0
Writeln(A:5:1);
Writeln(B:2);
216.0 (¥ 2159 (v 215.0 (v 215.9 (y
ab ab cd ab

VAY/B/0 359 plug oliits —F cy903T (o228 pi doliguuly

Y a g YRS

Sldch el jou sl o7 A gla,iKILIK o< o< 95 565 lasS (s 5 4y Foraala s
gl oo pla g 0158 g

Y awE -IYAY

Wi o Ged ad o g and Ol Tua Tua slayl sl sluas

AEPRCI ) LV

VawE -1Yas

W o ola False )l #o alaas a4 130wty o Lale o )l sea Boolean o lie Ssimit] e le
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AR VRCI] PP

S o Bl Cure olaat 4y K cual g 51 aay Sans; ju Deleteass

i | S | Length | Delete

1 | ABCDEF 6 Delete(S.1.1)=ACDEF
2 | BCDEF 5 Delete(S.2,1)=BDEF

3 BDEF 4 Delete(S.3.1)=BDF

it salyn Gl o< S=BDF 14

¥ S -1
YauiS Y.y
¥ s ey
¥ s -V f
¥ S 1T

(A<>7) AND (C >=6) OR Flag

(5<=7) AND (15>=6 ) OR True— Tre
NOT(B <= 12) AND (A Mad 2=10)
NOT(10 <= 12) AND (5 Mod 2=0)
NOT(True) AND (False) — False

PR Y
Y auiS Yy

¥ auis -1 eA
Y aas 1.4
Famis -1

J._::ISGA:IC:\MY‘)JJQH‘GEZ\BAX“HJJ);GQLBAEASQ.&?‘):‘A&AJJ

Vi€ ¥
¥ aui= -IYY
Y auis AT
¥ 1YY
¥ i 1KY

4\5&@%\_‘;\5AJJ::FaISC@L\Mmgﬁ&xlﬁSqu@DJﬁblﬁdﬁ

Y 4w 1S
VS -y

il e N7 e ya 51 aS a2l o N#N sl LSS slaas
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wola a1, 1007 a0 lose 13) =l [5.. . T00] 51 A de gone oy 5
Y auE -VYY.
N F
1 2
2 242=4
3 342+42=7
N N+F(N-1)
T4 X -IYYY
@8l aluusn Sl abdla Var el oo (g gl oo 4588 513 5u (gldaita Type ciy a5 5o
"’\9'&6"
Y s IPYY
Y aws -IYYY
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VAY/AY/AE 4 ol oliits —F cygo;T

L Sl a1 ;323 Div2 Mod 4/ 3 & jus lasa -VYYF
1.0 (¥ 3 4.0 (v 2(\

il oo giaes i3S aluS ) ) gl 43 dagi L VY
Const N=10;
ol Saaas (LIS aeliyy o N lada ()
3308 e 020Sula TO L N glaslay 55 4aS 4l s (loal 51 s (Y
238 5o 38l 10 L Niglaolay g a0l el gloal plel 5 (¥
(

bl i N oo sl (Sec pn S p sl g an g b (¥

Var S {ADS Fialip gy -YYA
x:Real; by o 16 4l s sa ()
y:integer; . . )
x:=14.23; g e alagy al fle) oo daliss (¥
yi=xX+2; URE AP :
Writeln(y); .MJUA Uas ‘ALQ.E.A: Ao ULAJ o 4_‘1\4‘).:: (‘c

End.

v Gl {al.ASJ:aj aals 2 gA - ITYA

ar
x:Byte; .sa3 o Const out of Rangeatay ()

Begin .aa4 o Run Time Erroratas (Y
X:=256; i Pl (
x:=x-10; 255 (v

E derte(x); et Gla o 09255 B e S g luta (¥

nd. S :
iy g dalip (29,5 VY

Var - .
izinteger; G g Slel(

Begin A GO sluel (Y

For i:=5 to 8 do
Werite(i=i+1);

End.

=1

(
LAY g0 L)I.L:BLAJ lJFalse CJJLA.C. 4.43)4 JL@%(
(

.JJ‘JJJ.;JGJS\}#AKL;LB ¥
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g g ouly lalas Helloaals jls sy ju3 doll j 5l yal L - VYT

For S:=1 to 3 do

For P:=1 to 3 do

For L:=S to P do
Writeln('Hello'");

Var
i,A:integer;
Flag:Boolean;
Begin
i:=2;
Flag:=True;
ReadlIn(A);

9 (v 7(\
12 (¥ 10 (v

o g1 aali g (2955 ITYY
Jal e jasdiss (3
Lol sae Sasain (Y
(

sae K L sSan (Y
plaSaaa (F

While (i <=A Div 2) And Flag do

Begin

IF AModi=0 Then

Flag:=False;

inc(i);

End;

TF Flag Then
Write('yes')

Else
Write('No');

End.

bl oo paa g Jausa ) ALB judtia 9o (gl gian @l gin 3 Seolu - VFYY

alaa (F

For i:=1 to 4 do

For j:=i+1 to 3 do

For k:=j to 4 do
Write('Hello');

S:=0;
x:=0;
While x <=10 do;
Begin
IF x Mod 2=0 Then
S:=S+x;
inc(x);
End;

ATy T:=Ax(y A:=A+B:(\
T:=A; A=T; B:=A-B;
A:=B: A=T; A:=A-B:

i g walip 2 g0s -IVYS
S e oly Hello 4 e S (3
S o ola Hello 45,0 caa (Y
S o glp Hello 4 ye ooia (¥
g ol mle g aila (¥

Crisn ) doli s dalad o2 9,5 —VTYO
csleige dealaa 159 6 T L 0sd alae! g gane ()
sl o a1, 10 G0 s 8 slael g game (¥
sl onlae 1510 50 s slsel fgana (¥
(
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ol S ol gy (SLAd K ) Saalus - VYYF
A:Array[Boolean]of Array[1...5]of Array[False...False]of Char; (\
A:Array[1...5.True...False]of Char; (v
A:Array[1...5, False...True]of Char; (v
A:Array[-10...-2.4...4]of integer; (¥

o) el 4adal (o2 953 W Ky G Ha 1) A S (Alia S i po s pe u yile VTV

For i:=1 to 5 do olle e e (Y
For j:=1 to 5 do oliad Blle o ala (Y
IF i<j Then .
: aul o La |
Swap(AiL,ALiD; #al il sl (7
2 BJJ‘J.A (‘c

s g1 dall i (029 B 3 gudioula 805, 8 O gae @D’ ST -IFYA

Var
X:'A'LZ d

Begin 100 (v
ReadlIn(X); D (v
Writeln(Chr(ord(X)+32));

End.

plaSqn (¥

438 alss ORD('A') + ORD('E') — 2 * ORD('0');c luc fsdaayga 50 —IFFY

il g0 s
10 (v Al ghaa 5 2N
‘51 Sasa (¥ 12 '\

Coa gy dalips @295 VY
Var

abvdefg (\
S:String;

Begin abcde (Y
S:="abedefg'; abedfg (v
S[0]:= #5; fo (¢
Write(S); g (

End.



Var
S1,82:String;
i:Char;
j:integer;
Begin
j=1;
For i:='a' to '¢' do
Begin
S1[jl:=i;
S1[j]:=Chr(ord(i)+3);
inc(j);
End;
S1:=Concat(S1,S2);
Write(S1);
End.

Type

Recl = Record
S:String[39];
N:integer;
R:Char;
p.q:Longint;
X,y,7:Real;

End;

Type
Car =(Carl, Car2, Car3);
Var
S:Record
Name:String|6];
Case B:Car of
Car1(N:Real);

e § Fomoll” Slo (SNisdide i 100+ [ FYY

oy gy ol (02955 VYD
ace (9

abc (v
def (v
abcdef (¢

el o0 QU s 03 533 9,85, ~VFFY
#4 (A

bad pa JUdl il w32 55 9595, - IVFY
¥ (3
¥
vt
¥y

Y

—{

(
(
(¥

Car3(ch:Array[1...8]|of integer;

End;

Gl Jale a8 alas S2:=['b']; g S1:=["a",'b','¢"]; 1 -V VF¥
alaSsua (¥ ['a",'c' oot a5 ST-S2 (v



Y ogesT

Var S g1 aali g (2955 -IYFD
C:Char; False (1
S:Set of 'a’...'z';

Begin Ture (v
C:='¢"; 1
Write(C in S);

End. Yo ¥ ool (f

il oo False Julao L jlhie 31 Saalus Juols ) aols o anangi b - VYFF

C:=1,2,3]; B:=[2,4,6]; A=[1,3,5,7];
[1<=A*B*C (v (C-A)<=B (»
A-C-[5.71=[] A+B <> [1...7] (v

e wil jE o e aall as (g lalle sl N=5 &1 -1YFY

Function Func(N:integer):integer; 153
Begin 16 (¥
IF N=0 Then
Func:=0 12 (v
Flse 20 (¥
Func:=N+Func(N-1);
End;
seaa ) aali 2908 sl N=3, S="1234" <1 -1 YFA
Function Fune(S:String; M:integer):String; 6 (\
Begin 321 (v
TF N=0 Then
Func:=S[1] 5(v
Flse 123 (¢
Func:=S[N]+Func(S,N-1);
End;

S a aladl (5 IS dn 3 Jlgy —ITTA
Procedure Proc; P eR 2o

Var sladpo Sla 1 By gla S
C:Char; wlad o Ola LusSao 1 iy gla 5SS (Y
Begin s )
C:=Readkey; ARSI
IF ord(C) <> 13 Then alaSaa (F
Begin )
Proc;
Write(C);
End;

End;
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o S yals dag 38 eldS Yo

.mbm‘dL;?J‘).AJGJJJJGLA‘)SA‘JEJ;‘\;‘;AGuJ&.MgJJ(\

S a5 glal aliny S S 1 Laay g, SLlelS

il o LT gloal so lad g ol i

Y
v

(
(

Lkl a0 g s80s Olsi w95 e malB sla el sl SISl Lo (Y

Var
A,B:integer;
Procedure Test(Var B:integer; A:integer);
Var
C:integer;
Begin
C:=10;
A:=C+A;
B:=C-B;

B:=2;

Test(A,B);

Write(A,B,C);
End.

Var
A,B,C:integer;
Procedure Test(B:integer; Var A:integer);
Var
T,C:integer;
Begin
T:=10;
A:=B+T;
B:=A-2;
C:=C+2;
End;
Begin

Test(A,B);
Write(A,B,C);
End.

Casn g3y 4ol (02955 -1YOY
9 2 10

10 2 10 (v
9 11
asla e (F

Cowa g1 wali g (2955 -1YOY

9 11 301
111 3y
9 2 5
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S e Sb Saloa (gl LB 15 s ga ge e L8 (Y
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alasa (¥

Cond g dali g g2 9,5 - 1Y0D

i:=0; . . R
Solad ol 5
While Not Eof(F1) Do oledooly i 59 ssase s Saai (¥
Begin el olaial ReadIn, sicun 5 solinn! K (\
ReadIn(F1); R . . . .
inc(i)' ( ), -J‘)LA.A.T.IGA 1_; _)1_'5_3.1 dﬁls u&g od d e g0 Lgl.@.]a J‘JSA (Y
b
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Y au VYTV
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sl o s st 5 sl G a3 51 s Gusile salgdil 5 Sled ol 4S 0 b o
VAl - VYYA
32 L 68 al&l 0 268 s ord(x) K3l sl DY Ll s 5 atls o Sos S laaX
kol pd Ole oS 00 8 e s 0T Ko o€ KL e 13 5 gt o pan
Y s 1YY
ord('0") = a— ord('4") = a+4 = ord('6') = a+6 — a+d+a+6-2a= 10
Y s IYFe
S0 (Sl 0SS o 5l S0 @i (Lhue LA WS o S gl jale il S o (8
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Y a3 SIYFO
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¥ ai3E IYES
(C-A)<=B—[2] <=[2.4.6]
[]<=A*B*C—>[]<=[1.2.3.4,5.6,7]
A+B<[1..71>[1.23.45.6.7]<[1...7]
A-C-[5.7]1=[]—>[]=11]
) e - VYEY
Y aii3E S 1YFA

i,y Sy 'l 2N s Y Y La Sl salE s S sl e S[3TFE SaKL Al S o
CaSe 953 4 321" Sk s oS it e alagl 3211 R 5 4 35S e Sl LSS

Y a2 -Y1YFR

ot 3 90=S e O1DB iy Do s anild gl SIS S gt 0 (Slpalnd aK50 g, S
e ola ee s LIS anty iy gt 3ule 131 oS asly assla Enter sl o )
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\YAY/D/8 ;9 ply olkidte — 8 (g0 3T

s ) Ol giead (o 958 ol 3 g g0 CA\ANfALIXTE LW - VYOS

Var
F:Text; A e 5L 1 Alfa sne LG (Y
Begin WS e oo Al 5 LG (¥
Assign(F,'C:A\Alfa.txt"); S ot Jba
Rewrite(F); A o Sb il e gl 1, Alfa . L (Y
End. S e ool (B 5 oA sl 1, Alfa e L (f
Var il o0 s @i 38 alas w Sy 30 gu ) ey (s YoV
Age:0...120; Aol JEat gean S ST (Y
Child:Record N ). . .
Pay:Real; gt oals ol it Jels oS5 o Ageanbis (Y
Age:0...17; Aol (lal SIS (Y
End; RESNT

Gl oo CudiS i (5 ladle dn gy aald -YYOA
Function F(x:Real):Real;

Resi X (A
egin

TF x>0 Then F:=Trune(x) ABS(x) (v

Flse F:=Trunc(x)-1: Ix] (v
End;

Round (¥

For i:=1 to n do O(log n) (v O(n log n) (y

For j:=1 to n do .
For w:=1 to n do O(n)(¥ 02"«

Count:=Count+1;

gl 0 guusane Jaleaiono il g 51 5 gladi 38 5l Saalas VY7o
s 31 saliid (gl ol Sliel Hise s oIS oliadins Lol ()
Gy peda (L5 @ Y peda b5 51 Laaals s aan 53 (Y
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Aol ShlelS g u&.u.u (v
a5 salls Heading o outputastius oS o&a (¥

s JiSly Gl 59 Jile  ghen (29 S S VTFY
Writeln('A':5, 3+2:6 , 6:4 ,'D":4);
A 5 3 D 4 A 5 6 D@
o ysime NSl 5o st ol (¥ A S5 5 6 3D 4«

W98 00 ylibaals (gUad du jalo (o (als 5 J ja) O¥ 5 o alas jo -YYEF
FElse ! (i Leally giius (¥ weliyn Sl End sl s Laally giens ()
Yoo ) aslse (¥ Repeat ;) |8 Jeoall 5 gicus (v

ALide ol gl dauu g ouuh JUkekl aliSla jfule b ddasly o ) glad3E 3 S alas —VYED
el S yuls LA justia
S o Jn) alala o Las ool ga Word&; oudia (Y
S e Jlal aliila o Lad ol o Shortints s sate (Y
A o Jlanl alails o Lad culs S5 Booleang g yusie (v
S o Jlail aladla o Las culs 5o Compe i suaie (¥

o9 o=dils Char,Boolean,Realg ¢-3 51 (ol yi 4 C,B,A (5l juitio as wiis (45 4 -VYFF
Gl yaiaaly gy SLAC L] J S alas & g (i
B:=False' (¥ B:=True(v A:=22 (v C=Hi" (
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Ol o yals gy (LA gab 51 S alas soMod glas 4yl i VYRV
-15Mod -7=1 (v 4 Mod 5 = 4(
15 Mod 0 = is undefined (¥ -15Mod 6 =-3(»

s Case j gicun jooudi g, Glels (u yias - VYA
plSaa (¥ Y (¥ Y (¥ 0

vl Sy gy sladin S 51 G alas Case y giua b adaaly 59 -1YFA
by dolad, i, 58K, muan ¢ 90 51 il 5« Case ,a Splector uaie (A
otherwise s jlae 51 o)l s5 e ot Sty Ho Case ; siws 5l colilas sla 4 (Y
.S sotaniad Elset
Ve Jealy ea Ao slaal ol gy 5o o2 4S 08 soldiod ol g5 e 8 Case  gis SV
sl (A5

..LJ.'L; AR RREN JA‘J:UA G 59 uS.aM G2 ‘J:\S1JA Sp]ecton&s G‘JLA (\;

WS ouldiid Case puatia Gl ghe da G g o0 ) palda jf < alas 51 YTV
year Div 4 (¢ ord(H) (v B (v B'(\

Total jloda 153 jo Jillo ddla (ol ol sl s 31 S35 50 paas sas SOK S 1YY

Total:=1; e
Repeat kLol (\
Total:= Total*k;
s lak, Lt
k:=Suce(k); ol KOl & (¥
Until k=0; LS (v
‘,lm (f
walad ge (8a g2l Raas L) A B puaia 9o (gl giaa ) ail ) g 5 <o alus YTYY
alaSaua (Y A:=A+B;(v A:=temp;(y temp:=A;(\
B:=A-B; temp:=A; B:=A;
A:=A+1B; A:=B; A:=temp;
S o la 1) Testaals jlsis 55 dalh o - IVVYY
For i:=1 to 100 do 5100 (v
For j:=i-1 to 50 do 2550 (v
Writeln('Test');

(
1325 (v
1270 (¢
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A3 0 Alall (6 IS an ullo dolh y asi - VYV
Procedure Mypro;

Var
ch:Char;
Begin

ch:=Readkey; {is a pascal built-in function to read a character
without pressing enter key}

IF ord(ch) <> 13 Then {13 is an ascii code for enter key}
Begin
Mypro;
Write(ch);
End;
End; A e Giulad B o 2l 50 4S a5 4 1 LayESHIS de geaa ()

3508 i3 S s EnteradS o S usls 31 ey 00 S il su oS olasiSILIE e gana (¥
A2y o Gialad

Entera i ca,S a,l oliosd LS 1, Jae col 489 o Gtlad 5 sdges @il SIS & (V
Aad o dalyl

a8 o Ginlar 1 o s s Enter (gaay SiSILIS 81 5 a0 gad caly o 3L S (Y

(5135 s ol s 515 plaS By K288 5 SIS 55t ch s (208 YYD
S0 Jaudi 0 g3 Jolae S50 S ya a fych
ch:= Chr(ord(ch) + (ord('a") - ord('A"))) (A
ch:= Chr(ord(ch) - (ord('b") - ord('B"))) (v
ch:= Chr(ord(ch) + (ord('b") - ord('B"))) (v
ch:= Chr(ord(ch) - (ord('a") - ord('A")) (¥

vl CJ.n.quL'a M:aJS ‘AIAS “\YYF
o Ol g, Rt a osee slaTelly 5 s Ry sas Hu el gla el Sl ()
JlJ.Aj.lg?J.A.u;.ﬂ\)lg‘)L-u C;JJJAQ_L;“L?‘)J&DL LSJ‘JE"’ GLA‘)S.A‘JQAJ‘J &JA(Y
g oS dlay S s gl pditla dley S (Y
(

S AT 5 el and (i saS il 0 S (5% dag) S g, S B Ggou (f

ol S yals 'y s 8 G S alas SYYVY
3115 auE 3G Not Slee Not, OR , Mod , > L Slee. 5y 5 (1
ol T 69555 .55 o St a5 (a5 2 p55 (Y
el S Ll ord(ture)-ord(false) e sl b5t Lala (¥
ol el =0/ jolamt sl integers 5 51 j 5 0. 10 g 60 511 aul 258 L (F



e 8 Fomel Sl (Sisdide Cud 104+ | FAY

S AT S yalh dia 38 - YYVA
S e a1 aeliy @BMhJJLJ (\
e il 6S uba euni€ LAl aS aas e aslal Lo 4 With gis (¥
WithJ:\—A.MJLJ_.A‘JJJh\—.‘SL)AQAWithJLJASJ“L;‘J%“)J“)JJ\’S\)\):\ASA‘A&;‘(Y
ol (BIS ol b i
alaSaua (¥

WS 07138l e dl )T o peaie Wi i I o) JulBe R pal bl )T S - VYV

Type 112 (
LetterR='B'...'G';
NumberR=1...8; 336 (v
Day = (Sun , Mon , Tue , Thu , Fri, Sat); 48 (v
Anarray = Array|LetterR , NumberR , Day]of Real;

y y y 9 ‘A‘ S > (‘;

ol ot yalls Ladl 1 g d gy Ly jlal 51 Sy alas — VA
A:Array[Boolean]of Array[1...5] af Array[False... False]; (y
A:Array[1...5, True.. False]of Char: (v
A:Array[1...5 . False... True]of Char; (v
AtArray[-10...-2,4...9, -4.. 4]of integer: (¥

9 gl 0 2 gruina (gud gickoll g3 (slalad 3 ga ) (sladin S o alsS -IYAY
Slse dea (F gsmigslalled (v ki gl (Y olal slalled (3

cdedils gl o 6J:IJ:ICJ-1-ZISJL| L ‘Ua..nb RN C;lJL.\.: I < {al.AS “YYAY
sla algalys alaas e S ol Soa gl o Stack overflowglad 5450 &els 5an g0 ()
g oualy Gand AT aidy aladla ald eyl RPN PR TR R L LA
VAU T PRPPR TIN5 PR PEN e LI P W - P G | PN |
e go aoldiad iyt KL bl s S o adgen TF 5K s SH(Y

il o False Julao g jle 31 Saolas Jola g dols o ds da g L - YYAY
C:=[1,2,3]; B:=]2,4,6]; A:=[1,3,5,7];

[1<= A*B*C (v (C-A)<=B ()
A-C-[5.7]=[] A+B<>[1...7] (v



rAY | lﬁgs.ojT

ool aimalh ya) slads gano 3 o alas - VYAY
[1.4.1..9] (v (10,03, 105 (8
[1.10.600...999] (¥ [1.'5,B...'F'] (v

abad pa JUdl il dia 595555 - VYAD

Type 51 (y
Sample = Record

St:String[39]; 52 (v
A:integer; 45 v
B:Longint;
C:Real; 47 (¥
End;
YWAY/B/8 39 pla olSiits —B (9037 (o2 yid aoligeuly
¥ s - Yos

b Sb OF (gl sima 180 gt e 5L Al g (shor wsmse il Csn

¥ s VYAV

atan MEETA] el 85 68 51 Joa 35S Guos Age

¥ 4u3€ -1 YOA

4 S e oS Sy 311 s hin SLAX (gl 5 S gans |y pmin s adio SLAX (51 gl
il oo dae ana 2 Cag et Glaa Gl

¥ e s VY04

s S5 LN I a5 e alS 58 oS ity o FOTam 31 555055 dila oSy lipy o
il e N e 51 o e Sona 13 gt e Lal L N#N#N 13

Y a1V

¥ s 1YY

Y s AYEY

s VYEY

Wisd e oly 5 ondlan L1851 adide alali b S 526, Sulucl 5 A, Bigla <1<

Y aujs I YEF

¥ aniE SIYED

¥ aus S1YES

.M‘MJJ&‘MQ;J“)EQM‘L}&J\%QSBJJ6‘434:‘)“)4“:)



e 8 Fomel Sl (Sisdide Cwd 10++ | FAF

Y duiE - IYEY
¥ ai s - YYEA
PRI 0
Vi3S - 1YY
ol 53 Y @3S g adls e o oS il (SIS e Va5 00
¥ auis - VYV
Sho al&aua 13 ] s o 8Ll S o dila 5550 5 bl o s B S0 ol K Csa
il o calgn g dBla 5 o aal Al 5153 5 28 g Ll 5wl oo
1 s - YYYY
¥ aaaS VY
Y @S VYVE
Lo e 5 S e (50l ity 50 sk e w0l ST pla SIS S wil e ES50
aag o piuled e yy o g
¥ @S VYYD
¥ auiE -YYVE
Y 4y - IYVY
sl Real sl gaa SAUt als (o 54
* iR -IYVA
ST iyt 5o 6wl e With ) aay 500,85 b
Y awm3E -IYVA
13 IDaye aa oloat § pom ve cod aals a3 1851 s ls v gas mie 3 2'BLUG )
6%8*7=336
Y 43S VYA
¥ a3s -1YAY
Y awiE —IYAY
¥ aujs -V FAY
ol 5ol <> oM 13 g o Joli 15 1.1, 7 Suulis ales ATB
¥ au3s - VYAF
il geie YOF 51 i€ bl de gane o slael sluas
Y 43S - 1YAD
2+4+6+40=52B



FAD | gl

\PAF/N+/Y 39 ol olRiits —F (190 3T

EVE FIW RV - FRY LR TR Ry ] wPmonth «s S g0 ju -YYAS
Type Pmonth= (Mehr, Aban, Azar);
ol J.'nlJ..n 23 J:mlﬁ.a
Suce(ord(Azar)) * Trunce(9.21)
YooY YV (¥ £y vF ()

el Crouya S alaS i euls s angi L -YYAY
Const N=20;
il aaad LS el ys 5o N laie (3
0380 38l 20 L Niglaolay 55 IS aalips gloal ole) s (¥
3850 e 3Sola 20 L Nglaslay 5 IS aali s gloal 5 Ja (¥
alosua (¥

sl (glani ) dn 5 (a3 (5 gaieun a ) 6SI -V VAA
0o@2n) O(log, n) (v O(n) (v O(n”) (3

S QLA e puld 38 - 1TAR
S e gane 1 T S (sl (Sao alad shaad SISl 0U5 ()
39 all S (gl alins (s e s o (s g Dl g e Bolial ol (¥
T (gday
S ol 55055 sladila Sl asliiul b g 1 goas sig ] S suabie (¥
LS ssid sladulyl Lol Ladid, ol o JSaly cludl Slee 51 soliin L (F

.._!‘)Sa‘).g'a.:!

s (/) pis e 4 -V ¥4
el Real &8s sue <ol gon (A
el rana sse Sy sl gen (Y
ol Eida sse A8y manis sue a8 Lasiglac gt 4y (Ko (Y
alSaa (F



Procedure F(x,y:integer);
Begin
IF x <y Then
Exit;
FOe-1,y);
Write(x);
End;

e § Pl Slo Gisdide Cud 100+ | YAP

o g1 aali (2955 1T
(V <X)0€ 0 Gla pd s oy X Y L slael (3
(X <Y)S o Gly ot s oy 1Y 5 X slael (Y
S8 e gla Db Xalsal 41, Yase (¥
WS e pla Lbyalast 4 15 Xaae (¥

W gudi 00 Lol las 4 15 dali s gl L - VYAY

Var
Atinteger;
B:Real;
C:Longint;

Begin
A:=1000;
B:=6000;
C:=A+B;
Writeln(C);

End.

Var
a,b,c:integer;
Procedure test(Var b:integer; a:integer);
Var
t:integer;
Begin
t:=10;
a:=b+t;
b:=a-2;
ci=c+2;
End;
Begin
a:=1;
b:=2;
c:=5;
test(a,b);
Write(a,b,c);
End.

oS e g5 slea SLLIS (Y

7000 (v
(

s ] Muﬁubﬁ@_gﬁ—\vﬂv

9.2.5(»
10,2.,5
10,11,5
9,11.5

(Y
(

(¥

—{
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Var S ) dolh s anled oo g8 - VYAY
a,b,c:integer; 12.7,0(y

Procedure test(Var m,n:integer; c:integer);

Begin 7.12.0(
¢=n; 7.12,12 (v
n:=m;j
m:=c; 12.7.12 (¢

End;

Begin
a:=12;
b:=7;
c:=0;
test(a,b,c);

Writeln(a,b,c);

End.

Caadl e ) Aol y dmdal 0y g0 o d X {sl.AS—\Yﬂa

i:=0; asledipe ly (e Bl o oo By a slaas (¥

While Not Eof(Filel) Do

Begin o aliial ReadIn ) giius 51 astan! (<5 ()
:Eeczzg?n(Fllel); wobadd o 15 Dlapst Ll S 5o s ge sleba slasS (Y
End; slad e by fhe B8 S 0 sa s slelen alaas (¥
s W3l 58 ca g aali aS (5 jlala sl N=2 &1 VY48
Function F(N:integer):integer; 4\
Begin 8 (v
IF N<=0 Then
F:=2 6 (v
Else 2 (¥
F:=F(N-1)+F(N-2);
End;
Begin
Writeln(F(N));
End.
< 3 dall A -VY4Y
Var ) X~
A:Set of 1...100; Qo
B:Set of 1...10; Ture (¥
Begin
A:=[1...100]; False (v
B:=[4...8]; .
B:L*B_] 0 asms Ade gamo (sl olibealS IS (F

Write(ord(5 in B));
End.



e 9 Foall Sl (Sisdiude i 100+ | FAA

ngﬂq;elgwlomgﬁxjaJMA sLJU]sLSSeId.}QjﬁL}—\‘*ﬂA

il e
W:Array['a'...'z'|of 'A'...'Z';

Wlal=a' (¢ W[BT=A'(r  W[X]=T (¥ Wz]:="2' (\

S o JUdl culs wan JalBe ay g5, —1¥A]

Type cul YVY (A
Student=Record
ol YOF (Y
Name:String; 2l YOF (
Value:Word; ol YEF (7
Ave:Real;
’ ol YAY (¥
End; - (
Var
St:Student;

ol alaS o2 g A ) Ol gieua (gl pal 3 e sudilasa Silia W g A(SHS) pua il —1F s

sl Ste (N
For i:=1 to 5 do < oasile (

For j:==1 to 5 do wilie Sy Ges L (Y
IF i<j Then ‘L.\.] 1 Lo IR
ATl 1) G il aulgal 5 (¥
Swap(A[il,A[j]);
2,3 JJ‘J.A (‘c

aadila ol JlSiuly 4o pudia S (4l g (uuiliia pbiyjsa ‘41..35 -1¥+)
Myprogram (¥ OF (v C3pi (v Variable (\

ol alaS XHY+7 jlala i gudiaylg ) (Gallos Laoala ju) dall po dakad o &1 -YFeY

ReadlIn(x,y); 2 3 4 100
Read(z); 5 6 7 9 (v
13 (v
7(¢

algd an 2 ugdivglgl,y 2 carliyiay jalia &), 0 (gl Jullo aail 50 —YFeY

Var KyT
XaYaia.i:integer; 4 2 (\
Begin
X:=2; 4 Uaa (Y
y=5; 4 5
Read(i,j);
Write(x+i, y Mod j); i WA (¥

End.
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Var o g1 wlip 2955 VS
x:integer; -143 3.142 (v
y:Real;

Begin -143 3.141 (v
x:=-143; -143 3.14189 (v
y:=3.14189; .
Write(x:3 , y:6:3); ol s (¥

End.

x:=1; 50 (v 100 (v
For i:=1 to 10 do
For j:=1 to i do 55 (¢ 110 (v
x:=x+1;

Creany ) dald pr aals -1f-5
Function F(N:integer):integer;

Begin 4 20 (v
IF N=1 Then 6 20 (y
F:=1
Flse 5 19¢(
F:=2+F(N-1); 7 19 (¢
End;
Begin
Write(F(3):3, F(10):5);
End.
wagudiga §l S0 5L iy ) ddls -YFoY
x:=0;
i:=7; 60
Repeat 9 (v
x:=x+1;
ir=i-1; 7
Until i=-1; 8 (¢
Crousny dab yr dabad (slgif ju X jlada —YFeA
Begin 10 (v
x:=1;
i:=0; 5y
For i:=1 to 10 do sl golilbelS glad asl s (Y
Begin . .
x:=x+1; el 4l (¥
IF i=5 Then
i:=i-1;

End;



e § Fomolm Sl Gudido Cud 1800 [ TR

Var o g1 ali g (2955 1R
a,b,c:integer; Y ()
Procedure P(a:integer; Var b:integer);
Var \
c:integer; v
Begin
c:=3; ¢
a:=atb+c;
b:=a+b+c;
End;
Begin
a:=1;
b:=2;
c:=0;
P(b,a);
Write(a+b+c);
End.

Y

=1

(
(

Ve (¥

a3 g—h Aia €=3 4lude g Var ciinteger;cdla ag jaaugym &1 08 Jigeu ju —1FY
b Sl 295
12 (¥ 9 6 (v 7(\
S 0 Ul Lad jula ) dal T -YFY))
S:Array|-1...3]Jof Array|'B'...'E'|of Real;

culs Ve (Y b Y (¥ ol A (Y e AL ()

C:Record csbiye (A
A:Array|-1...3|of integer;

oL YoF (Y

i,j,k:String[10]; b ¥OF
End; cab ¥Y (Y
culs ¥ (¥

(ol 4o @2 ot dg)- s 5 el 29,8 VFNY

Var
F:Boolean; False True (3
Begin False False (v

For F:=False to True do
IF F=Suce(F) Then
Write(F) True True (¥
Else
Write(F=True);

(
True False (v

End;



Fa ] aogesT

Gada g0 pladl (59,8 FSIHIS a9y p )y cos aa X aals IFIF

Function X(Ch:Char):Char; S o ot K5 KL a1, SIS ()
Begin gdge it sae 4 SIS (
IF (Ch>='a") AND (Ch>='z") Then

X:=Chr(ORD(Ch)-ORD('a") + ORD('A")) o= 3 o2 oS AT LIS
Else "‘\5"5"6'4 b_:JLﬁ

Y
\J

X:=Ch;
End; I e st Sa S RIS o 1, SR (F
RY- X {sl.gﬁl les dn g delh AL
Procedure X(Var inf,outf:Text); Sl K SN
Var -
Ch:Char; U S BLIS S (Y
Begin ol 3 ba Sy puilea (7
While Not Eoln(inf) Do alaSaa (f
Begin b
Read(inf,Ch);
Write(outf,Ch);
End;
Readln(inf);
Writeln(outf);
End;

VWAF/ Ve /Y yi plag oiits —F cigosT (o yi doligualy

Y aw3E YA

Suce(ord(Azar))*Trunce(9.21) = Suce(2)* 9=3 * 9 =27
TS YAV

ol 4oy el 84S 0 o (o 58ula 20 L Nl ge das daa 55 ley o

Y au3E - VFAA

WSS saina 1 glaals oo LN G SEIaa N ok a6 )T S Lo

\ duig -1FAR

Va3 YA

et LN

a8 oo 58 by o X 5 0K o SHATE 1 Glusd S5k mli g s oS (S (X
Wl oo ela Y BXO) alael Jay wiek co ol eKe po iy SR 0



e § Foaol Jlo i Cud 1800 [ TAY

Y i -IYAY

Aol asas a Longint meas 4y Ada puate ol

Y duj YAy

Y 4w —IYAE

¥ X 1740

ket o 1y ol Lo slak olans 130 0 g e sl sd Ll 3 b 4 Lad
¥ ais S1¥AS

Y a3 YAy

5in B = True — ord (True) = 1
Y @i -1YAA
pa—o Y 34— o35 14] J‘).J“.:\.A:GA 'A'.A.'Z").:“JG.A K J-A:-ILAGQ uu.e.n‘ 45 a4 g9 'a'.A.'Z':)‘ Wd_;“bx

ol
¥ aia s -17AR
6+256+2=264B

Faiis VFes
Ao hola T3S 1) 0 gl o lasla Listen 5 Laplas ol s Gy ke
Yaui -1Fe)
St aaliinl Huate Al Gl gie 4y Gl g5 pad aS wmly o it 555, K S OF
YA < -YF.Y
W e TSN 50w sl 4y g 0 st 0 X=2, y=3 ]! ReadIn L

z+y+x=2+3+5=10
Yaui -VF.Y

aolsasas thalal by oy Mod i gls Jsosdge olad lxtilalj=0,1=2
WSedige o sy prnd o obie 15

Y as -VFe¥

W< a0 3.141 Coge o obdiel 2, LY (Joosdico ly s a0k sy 5t X gl
adiee gy alald S b s a3 gy S updiee Lo 3142 & pud o S5 say

¥ auiE 170

¥ aniE 1Fes

¥ g -1Fey

i aalpa 1S L et dila 13 5t i = Tl aila 4l gl oS witl i =7



rary |/ lﬁgs.ojT

¥ auiS —1FeA
..\.A_u‘)u.allo@&J@AFOY&JJ&J\#@#&&J\}J&@]:l—]‘.3.!1:5633\5
0 e g Sulgi e dila S5
) aa S —1FeQ
Y aiys VP
¥ aw3E -1FYY
3-(1)+1=5
1+1+1+1=4
enlic slasi= 5%4 =20
Sl glza=20%6 = 120 B
¥ ais SVFYY
5*¥2=10
3%11=33
10+ 33 =43
Va3 VEIY

JJ—A-::-IL;A ‘Al%;‘ E]SC__;Lg KEN. qs.lg JJ.A.:LUAQ F:SUCG(F) A\i%.&.a qals s

¥ 1PV

G 1 S o b S5 S K1 ¢ 1, ch <1< Chr(ord(ch)Ford('a')tord('A")) J s
S e i o Jolae S5 S 0 1) g0 LK

vk -YFY0

e g o b 5 g adilpa SIS 4 RIS (050 (e ol 5 ba S X 4y,



e § FomolT Sl i Cud 1800 [ TAF

WAE/AY/Y 39 ply olKiita =Y 903

a3 pladl (il gAl S alSiaa b s g lutes ax X aag, -VFVS

Procedure X(a,b:integer); LS 0 pRasi aa bl (PR

Var . . .o -
temp:integer; S e (g meas La il sl (Y

Begin by oo SWAp g, lea (¥
temp:=a; R .
a:=h; St
b:=temp;

End;

a1y ol 2955 - IFIY

Var False G y# (
izinteger; True y# (Y
Ch:Char;

Begin Crost o slae (¥
i:=0; Y& Y olael (¥

For Ch:='A" to 'Z' do
Write(Ch=Chr(i));

End.
(CA.:.MN,JJJQL!GAWL;H::IJ]A).M *TXGJIA#JLS “YFYA
Procedure X(N:integer); A @l used o sSae (A
Var Ayl 5o g e (Y
i,jrinteger; ]
Begin Aaglyl ialic diglaa (Y
For i:=1 ta N-1 do Yoo\ aslse (F

For j:=i+1 to N do
TF Ali] > A[j] Then
Swap(A[il,AljD;
End;

.Mlbfﬁﬁfﬁel&@@jﬁdﬂl—\f\ﬂ

(9 3utpals pla
YooY aslse (¥ For (v Repeat... Until (v While (\



Y | BogesT

Sl alas Ao stadld jo Reset ) giig 3 jal3aa —VFYe
S e 5l G gl a5 Gailea gl pa T e LB (Y
O e Sl GRdsh gl LB 1 S LU (Y
S8 5b Sl @l 1 (S LU (Y
O e 5k pailea gl 1 (e S8 (¥

sl oo 553 ped LB OLG (Y el 5055 ol Gl 4 ()
¥l o Sl S (¥ el 5055 Gadile Gl 4 (¥
v ..A.«.fil..rwaW@;?lﬁﬁjuDﬂJJ}aJd—\f"Y
ar
x,y:integer; Aol (e maa 4l ()
Begin aola ssad gl (Y
y:=8 Div 4; oy .
x:=16 Div (y_z); JJ‘J us.‘c;a (SLIQA (Y
x:=y Div x; asly ol slax (¥
End.

(@2 du conly 1 ol 4a).uiS o JULE LAS july g aylu juaie win ju) aal,T -V FYY
Var A:Array|-3...3]of Array['('...'d'|of Char;
28,28 (¥ 24 . 24v 35, 35¢(y 70 . 35(y

Var 295 (v
A:Record 256 (¥
S:String;
i,j:integer; 275 (v
S1:Siring[10]; 289 (¢
x,y:Real;
B:Array|-1...1]of integer;
End;

Wi gudi g0 S5 L din US ) sladila —VFYO

Var 60 (\
i,j,k:integer;

x:Char; 75 (v
Begin 50 (v

For x:='C' to 'E' do
For i:=2 downto -3 do 90 (¢

For j:=-1 to 3 do
k:=k+1;



e § FoaolT Sl Gudind Cud 1800 [ TAS

(ol a3 2 5 Gl ) WIS 0l (D 8B o)) Gues 4 )y el o - VFYF
Var x=4 ., y=2 (\
X,y:integer; x=2,y=2 (¥
Procedure P(Var i:integer);
Begin [\
i:=i*2; x=4.y=1(¥
X:=x%2;
End;
Begin
X:=2;
yi=1;
P(y);
Write(x,y);
End.

x=1,y=

ol Sl s Ju P(Y)sta aa P(X) 1 930 58 ju g oulu juasl Yl dals ju ju &I -YFYY
dald o gD ol&a] podily acudils dald
x=4,y=2 (¥ x=8.y=1 (v x=8.y=8 (v x=4.,y=1(\

89 g0 aladl las an ) aali —VFYA

Function test(N:integer):integer; S o pan aa L1 NGE2 alaet (A
Begin NN 41
IF N=1 Then il e LVVAD e (v
test:=1 2
Else ._\..:..Lu.a N-161 slael e (Y
test:= test(N-1)+N; ol JISul (7
End;
x:=0; geien JIST e sia g adls —VFYA
i:=0; 11 (n
Repeat
x:=x+1; g (v
i:=i+2; 9 (¥
Until i> 20;
10 (¥

S g Gl (gulael dp Write(x:2 , y:6:2)  giuun 0l y=14.123 , x=143 sf -1FY
143 14.12 (¢ 14 14.12 (v 143 14.123 (v 143 14.130 (»

o Jald dilindi S ol S g1 980 plos -1FY)
I Ali(¥ End 1 (v Ali 2 (v Read 1 (\
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Var
i,j:Boolean;
k:integer;
Begin
i:=True;
j:=False;
For k:=1 to 9 do
Writeln(i=j);
End.

Var
i,j:integer;
Begin
For i:=1 to 10 do
For j:==1 to i do
Write(j:3);
Writeln;
End.

Var
t,a,b,c:integer;
Procedure P(Var x:integer: v,z:integer);
Var
t:integer;
Begin
t:=1;
X:=y+z;
yi=t+x;

P(a,b,c);
Write(a+b+c+t);
End.

o g1 aali g (2955 VFYY
ol JIKat (3
False ,L 4 (v
True L a (v

St gla o (F

QS o0 gle DI o s oy ) s\.aL}J..t—\\c‘“"'

50 (v
55 (v
60 (v
100 (¥

iy 5 doli g 29,5 VFYY
15 (1

10 (v

12 (v

14 (¢



e § Fomolm Sl Sudido Cud 1800 [ TAA

S g1 ali g (2955 -VFYD

Var 30y
X,y,Z:integer; 28 (v

Procedure P(Var x:integer; y:integer):integer;

Begin 42 (v
Xi=x+ys 40 (¢
yi=xFy;

P:=x+y;

End;

Begin
X:=2;
y:=10;
7:=P(y,%);

Write(x+y+z);

End.

dJld ..... ‘LAL.IJ..I C):il Md‘:d;l lJ CJ-H.IJJ Aral‘e._} ‘s-lj C_\-l-t.l‘ Od-l-r-l J.'“L‘.'mls CJ-H.IJJ 6‘“&# *\f‘“;
uﬁlm.acha;(\; YJ\J‘)‘J.A(Y @‘J;JL;Um(Y GJAAL;UQA(\

s reaaus ASSIZN 4 40 yo dlaa alus -V FYY
WS o s of Stream a1 Lile awdd (A
5t SIS B e an sl (¥
S e 5L RS L Gailea a1 LU (Y
S o 1 s ey (S5 bl o LU (F

Type Type
R=Record R =Record
A: Array(1..10]of R; 7 R:integer;
B:R; x:Real;
End, End,
T
Type ype
R =Rccord
R=Record (¢ v
. A Array1...Llof Char;
X integer; B Word:
Fnd: Word,

End;



ra/ ogesT

Var
Ch:Char;
Begin
For Ch:='A" to 'Z' do
Writeln(ord(Ch) — ord('A"));
End.

S ol g a -1FYR
e ol Z B A glaiL ()
st e ol Z B A glayiILIS o (¥
e pla T8 5 Volae! (¥

ploSaua (¥

Crowh JlSiily jo o0 0 a3 Oilals £ 5 a8 alus - VPP

alaaua (¥

Set (v

¥o (F 96 (v

(17-2<=5OR(2+3%2/2=5)

A:=12345;
Write(A:3);
123 (v

2 e S LIS (¥

B:=12.156;
Write(B:5:2);

2.15 (¢ 12,16 (v

integer (Y String (\

ol 4338 alas 45 Shr 3 4oy -V FF)Y
11 (v 5\
True (v False (\

Gl alas 445 dall o aaled 29 ~YFFY

345 (3
12345 (v

att| elASJ:aj dall ju aalad 2 g S -YFFY

2.156 (v 12.15 (3

Sl praanis i S alas wh gulia g ) (599, 9 sLouls asiul 18 S L -YF¥D

Read(A); 12 17 15
Readln(B); 6 7 10
Read(C,D);

12 17 15 6 (3
12 6 7 10(
12 17 6 7
12 17 7 10¢



e § Fomels” Sl GAisdils Cud 10+ | Fe

\WAF/AY/Y 195 ply olRiits —Y (y903T (oo g aoliuly

YauE -VFYV S
il e Varlaaate SIS 5u g 08 b 5 Lajial ol
VS YFYY
S e ola False )b v 14wt Chr(0) ol s AL L. Z gl KIS 51 = 00 50
¥ a3 -1FIA
A€ o ety (s mamie N ayl T o< =l Bubble Sort laa 4y, ol
Ve -4
¥ aas YFYs
F s - VFYY
¥ auiX -YFYY
Y=8Divd=2
X =16 Div(2-2)=16Div0=wa
Y amS - YFYY
3-(-3)+1=7
5%7=35
35*¥1=35B
¥y VP
2%2=4
256
11 —>4+256+11+12+6=2898
2%¥6=12
(A-(-DH+hH*2=06
¥auiX -YFYO

5 3T sluas ay jaila 5 5L 6 ey 2-(-3)F T uluns aui dila g L3 sloas s Xdils
Y aw)s - VFYS
¥ auE -VFYY



£y lﬁgs.ojT

Y aiE - YFYA

¥ auniE -1FYR

¥ aa % -YFY.

Sod oo pla als su b soliiel sue 5 usd o Gls oo Olea 44143 s sue
Y E -YFYY

oo s saliind Space SIS S0

¥ S -V FYY

S o ola False ;L 9-1+1= Oulaas 4 1a] ol # f o5 508 (5a

Y aaS -VFYY

T aw R -VFYF

¥ auys YYD

¥l -V FYS

Y awmis - YFYY

ol Ul 05685 a5 0565 (S 8) B s ¥ -1FYA

¥ ey - 1FYA

e Sord(ANN 7 LA s g baBLiSord fsy 5wl S e 1 S Sord als
gl oo ola V8 B alael 1 0 S o

YamiE -1FF.
il e ol 4nlis Ssinteger Lol aiieus snd 455, <K String . Set
Y VP
RalpP
2
g:11
2
n_s
2
Y @ -YFFY

(17-2<=50R (2 +3%*2/2=15)
(5<=50R(2+3*2/2=15)
False OR(2+3 *2/2=5)

False OR(2+6/2=5)

False OR(2+3=15)

False OR (5 =15)

False OR True = True



9 Fomals Glio SXigdiudo i 100+ | FoF
¥ 4w S FFY
¥ 438 - FFF

..\J.aiu.ﬁb_:JL%lz]6QJH@QJﬁJJ§J‘J&JLiL“A§JJJLjJJ£
¥ a3 VPP

uﬁs‘):duwdd‘)w.\&ajaad..sé.S.JJ.alGaB:]7weJJ.&GaA:]2 J\,lReadJl_\gl_\Ll
..!J.a.:&GAC:6:D:7 \AJJJQ.‘)J



f.r | lﬁgs.ojT

VPAD/B/D 150 ol &t —A cyg03T

For i:=5 to 10 do
Writeln(i=i+1);

While N> 0 do
Begin
N:=N Div 10;
inc(i);
End;
Write(i);

For i:=1 to 5 do
For j:=i to 5 do
Write('Pascal’);

i:=0;
While i <10 do;
Begin
inc(i);
End;

.............. ali ad gy (sladaa 31 4 gasals < aliSla -Yff5

2 (¥ Sl (v asila gla sl ()

G g dold s dakad o g,3 - YFFY
Ao ol True o be SL0 (A
Sy g il False cjle 5L # (Y

mydie oly S oL (Y
g o) LS (8

el ?"ASJ:‘J M&ﬁ&bﬁ@jﬁ —YFFA
W Vo sbse as 1y nae ()

wobed oo 1 sae ala ) slaas (Y

Wosee Vglua as 1y nae (Y

ploSsua (¥

Wi o0 Gl 5L aia ) dell pr aalad juPascal o jLse -YFFR

Yo ()



e 9 FomolS o (Sl a1 | PoF

W edige ol L uaa ) ol dalad (¢l ol 5 aas Program ol -1 F0)

For i:=1 to 5 do AR\ Yoy
For j:==1 to i do al Saua (¥ e (Y
Write('Program');

iy i 331 93 00 438 pS Jallie iy a3 s 4n 3 L~V FOY
A:Array['A'...'"Z']of 'a'...'7";

pliSaa (¥ A['AT:="b" (v Al'a"]:="a' (¥ a['A'l:='Z" (A
55 pa JUadl Ltd ol g 53 el -1 PO
A:Array|-5...5]of word;

cubs ¥ (¥ cnbs ¥ (Y cbs YY (Y eubs ¥e ()

C;Aeex‘,uhyw@jﬁ -Yfof

Var 12345 (3

St:String;

St:='12345'; 134 (‘.

For i:=1 to Length(St) do

Delete(St,i,1); 24 (¥
End.
v Ol elASJ:aj MUJJM@"JA A
ar

a,b,c:integer; 125 (¢
Procedure test(Var h:integer; a:integer); 12 12
Var

c:integer; 252 5
Begin T 13 5 (¢

c:=12;

a:=c+h;

b:=a*c;
End;
Begin

a:=1;

b:=2;

c:=5;

test(a,b);

Write(a,b,c);

End.

Ay sl e S e da | gy Kt 8 g o 1RO
Procedure test(Var a:integer; b:integer);

1 26 5¢(¢ 14 2 5¢( 14 26 12 (v 1 2 50



£ |/ lﬁgs.ojT

Gl alas n=8513l au ju} &L 29 s -Y¥OY
Function test(n:integer):Word;

Begin 36 (1
IF n=1 then test:=1 28 (v
Else test:=n + test(n-1);

End; 72(v

sl AlaS 1=6 (5150 da ju) aolh jo daded 29,8 -V FOA
Function test(n:integer):Word; 5(\
Begin
IF n=1 then
test:=0 3
Else TF n=2 then
test:=1 13
Else
test:=test(n-1) + test(n-2);
End;

ol prasms a4l 0 g0 go 4 S alas —YFOR
el aiilma b gy saali gl 51 (Sl 31 sl (3
2l 8 o Slale S La88 il (Y

sl g8 g08 cwala i gla il )l Y gal (V

JJ‘\S—QM(‘F

ol alaS )y dall e dabed a9 s VPP

Var
S:Set of 'A'..'Z"; True (3
ch:Char; False (v
Begin
ch:='B'; 1 (v
Write(ch in S); 0¥
End.
CLAT ;) 5 £ g0 alaS WS (g ,lugkh udtio o JALa HAVFY Y Faae il 5 8 (81 -VFFY
s g0
integer (¥ String (v Word (v Real (y
sl alaS (o2 9,8 wa gl cdla e 509,59 5115352, 1 slayis s &1 -VFFY
Var 1,2 1,2,3(0
A,B,C,D:Char;
Begin JJ‘J A (‘c ]3 3 (Y
Read(A,B,C,D);
Write(A,B,D);

End.



e § Fomels” Slo GAsdi i 10+ | FoF

var Gl plaS g3 daligs 29,5 - VFFY
a:Byte; "
Begin
a:=1; 4
IF a<5 Then a:=a%4
-
Else IF a <=4 Then Write ('1'); u-%:‘-"‘ (
End. e (¢
A:=1; G Caul {al..\.SJeJ' dold p g2 95 Y =1
B:=A x2; 30
IF A>B then .
Write(A)
Else 2
Write(A*2+B); o 1t {8

audi ol 93 Gl Blue i gs an ju sy (g 5580 1S (g juaia C <1 -VFED
ReadIn(C); e sala BELIEC juaie 6l 4S8 S g Sa (
Case C of .. B C s .
'R':Writeln('Red'); g adla J:.S‘US Jarsa 6‘)—’ a< oy o9 (Y
', B Writen(Blue'); .5t sula Bibi<1LIS C piio (gl 48 L3 ssem 5o (7
Otherwise . . . .
Writeln('Bad Character'); =2 4 B.bmUE Coniie 5l oS (gm0 (f

End;

S Crl s AL alag 51 Case —YFFF
.l End; L o sla Begin (v .a;la Begin...End; (
.2, Begin.. .End; (¥ asls End; Lt s,le Begin (v

Write(Suce(ord('True'))); .ol plas Jillo g 2955 -VFFY
2(f I True (v el alag (N

o 15 dali s 235 - VFFA
Var

. BBAAA (»
x:String;
i,n:integer; AAARBB (v
Begin
x:='AABBB'; BBBAA (v
n:=ORD(x[0]); CCCRBB (¥
For i:=n downto 1 do

Werite (Suce (x[i]));
End.



f¥ lﬁgs.ojT

ol s dals ya 335 5195955 laye g Jhenylay g0 Ha daa 38 alas -1 F74
-JJS—JL‘-“J‘ sl g2l 58 4 als Al daw 55 g8 00 15 05685 5o Sluads (N
il Slaveyuk saifie SRelly @ geas (90058 SRelsly el (Y
ol 1 il g1 ol s 58S o) bl 55 o5l (¥
(

S e Baus 53 (53055 slasialoly gl guae sla il Gl (F

Var
Rec:Record ve ()
a:Longint; Y¥ (Y
b:20...30;
C:Array|Boolean|of Array[l...2Jof Word; \d\
Case d:Boolean of YV (¥
True:=(i,j:Real);
False:(k,m,n:integer);
End;
Function F(i:Byte):integer; o F(3) &l 2 9a 1Y)
Begin 10 (v
IF (i<=0) then
F:=1 S5
Else TF (i<=1) then 4
F:=2
FElse 6 (¢
F:=F(i-1)+F(i-2);
End;

sl praanis JlSuly o Ladalh g ya ) 990 jd i3S alas “YFYY
il
il
wmmead 4ol (hgnls 5 Lasaate (B sat cand 5o g BasaS Jae (Y



Const
A:Byte=5;
B:Word=7;
Function T(Var x:Byte; y:Word): Byte;
Begin
X:=X*y;
yi=X-y;
End;
Begin
T(A,B);
Writeln(A:5,B:5);
End.

Const a:Byte=10;
b:Byte=S5;
c:Byte=12;

Procedure opp(x:Word; Var y,z:Word);

Begin
x:=2;
yi=xty;
7:=2%y;

End;

Begin
opp (a,b,¢);

Write (a:5, b:5, c:5);

End.

Var
x:Real;
y:integer;
Begin
x:=14.23;
yi=x+2;
Writeln(y);
End.

wer 9 Fomols” o Sipdinb i 104 -

fA

ool AlaS ja dalh 29,5 - VFVY
57 (\
7 35(y
35 7
32 28

\s
(¥

S {al.\s‘gﬁ‘”u\.}ﬁ@‘gﬁ —-YFVY¥

2 7 140
25 12y
10 7 14
10 5 12¢

o alas a3 el je o298 -V FVO
il oo 16 eling (555 ()
il oo 10.23 4l gy a g A (Y
(v
(



f.4 lﬁgs.ojT

VPAD/B/D 350 plus olE1S —A cy903T (o2 3 doligiuly

Y awE -YFFS

Y auX -YFYY

Ssde ol Falses jle 5L 5 aaim o el s ol ol saai =i+ 1

Y das % -YFFA

Ll so s s ay o e e Saloy L usle i oo oo Ve o aadlii 5L o b dils o
80 e el 1 e (glged, aland s lads

YauE -1FFR

1+2+3+4+5=15
¥ i3S 1 FOe

g al dala ogd o &els While dals slgml o el
¥ a X -1F0)
¥ e ys - YFAY

il e a7 g VAT T G A

¥4 - YFOY
salie glaas=5-(-5)+1=11
Slasl glas=11%4=44B

¥ 4w -YFOF

Y amX - 1700

v -YF0F

Y 4w - VYAV

Y a3 - 1FOA

¥ auiX - 1704

VAR -YFF.

Sdge ola 4« e Chiin S = Truelst wil g0 S €IS de gone 51 (5 5050 Ch="B'

(EVERtEa ] p



e § Pl Slo Sisdid Cwd 10+ [ Y

Y 4w -VFEY

Do Lo #1381, 5 Cuite o 3L 4 Bustie 502 SIS 5 A uate jo 1K1
F13 5ILS g oo ola 2 0ue e 5 3 s oo la Toae Tail a5 500508 o 1,3
sl BB s 1l 4 s oS 053 oo 2ol D juate o Enterss

¥ aujs S VESY

i G ok =4 Jlade susdi o] ¥4 Lunn el 1 <5 5 a0 o185 Jl b
Wiy go Sl walip 5 o s o ola aua asls 13 Else ciand o Write

Y 4w -YFEY

¥ awiR -1F50

T A -VFES

Y awis VPRV

¥ ays —VFPA

ASLLS 2 g Cisa aS agd e el Suce w5 S8 e Gly o ol @ iz glemt
1 gl

¥ 4w -1FAA

¥ S VPV

a:longint—@) B
b:20...30— (DB
C:Array[Boolean]of Array[l...2]of Word— 2x2x 2 :®B

d:Boolean _@B
True : (ij:Real); >2 2a6=12B max

B
False : (k,m,n: integer); >2 «3=06B @

JJ.A.T.'GA ulASA‘ u‘“"":“ (SLAL.AS O )‘ Lo L,EJS":E"’ CaseJJL.u.a o8
¥ 43S —VFY)
| (i) = F(i-1) + F(i-2)
F3)=F(2) + F(1)=3+2=5
F(2) = F(1) + F(0) = 2+1=3
F(1)=2
F(0)=1

=T O N PR



1Y ] gl
X Y
T(5.7)
5 @O A=35
@ 28 B=7
X y z
@0 s 12
2 @ @

¥ 43S S FYY
¥ au3s VPV

¥ S -V FYYF
opp (10,5,12)

¥ du3s -VEVO

...!\5.‘.:& L#Sy‘)..! J;‘J:UA;J .:,uluifLJ\..sLX



e § Pl Slo Sisdib i 10+ [ FIY

VWAS/S/Y 35 pla oliits —8 oyg0 3T

ol alas Writeln(2 AND 1 OR 2 AND 3 OR 1) g5eis (29,5 -YFVF
Error (¥ Y (v YAy N (N

Sl alaS 9339, 580 ga (D95 - VFVY
S0OYOY (\

FOOYAY (Y

Write(2147483647 Div 32767); (
FOAYOYOO (Y
(

Writeln(maxlongint Div maxint Div 255 Div 127);

Error (¥

aseal alas 5u3 dol e aaled 2958 —YFVA
Write(Suce(True) , Suce(False) , Pred(True) , Pred (False));  © 1 F T
TTFF(
TTFT(
Error (¥

att| elds‘”...‘” aalh o 29,5 -Yfva
Const

x=13; 122y

y=3; 106 (v
Begin

Write({(x And y) + (x OR y) + (Not x Xor y)+ (x Shry) + (x Shly)); 169 (v
Fnd. 127 (¢

Gl alas g g dalh o 29D “YFA-

Var 153

a,b:Byte; O
Begin 315 (v

a:=15;

b:=3; 515 (v

b:=b*(a Div b); 1515 (¥

a:=a*(a Div b);

Write(a,b);

End.



\A A lﬁgs.ojT

Ol alaS (294D Bh gl vyl g ety e A ) alael g9, dalh yu ju &I -YFAY

Var 123 (»
cl,c2,c3:Char; 789 (v

Begin
ReadlIn(c1,c2,c3,¢3,c2,c1,c2,c3,c1); 897 (¥
Writeln(c2,c1,¢3); 798 (¥
Readln;

End.

IS (2955 9 9 e Olily 9,9 SLAASIHIS 5L w33 w9, 9 51 oy pais lsa Enter

Var ati)|
cl,c2,c3:Char; Y_ KLY

Begin .
Readln(c1,¢2,e3,¢3,¢2,¢1); Yy SELEY (¥
Weriteln(c2,c1,¢3); AYYYOF KIS (Y

End. \YYYOS SIS 5 (F

15T g (usas gl sas b gf) asis ol g ot ag paalgaa yu, 1, b su g9 5 ST -V FAY
ol A1aS o2 g 53 g A 5l g Auil 85 ol L YT IS alas asis fua Enter L

Var blu b (y
c:Char; blue bl (v
Begin
Read(c); blu blu (v
TF ¢='b' Then Read(c); blue blu (¥
TF ¢='I' Then Readic);

TF c='u' Then Write('blue')
Flse Write('h'+'1'+'u");
End.

.Qm|?|AS@3J$HLSAJ|3|J3J:|S|J|SJ.Q_.|52J:SIJSJJIJSIJJ.]‘SJMDJ..\JA*\\CA\C

Var True (\
c:Char; False (v
Begin
Read(c); 1
Case c of 0¥

'1':5'2':Read(c);
'3':Write(c);
Else
Write(c);
End;
End.



e § Pl Slo SWisdide ud 100 [ FIF

ol alaS (o2 953 959 ol a2 g3 L - YFAD

Var .
i:Byte; 0 3 ot (8
Begin 0 5 Gsie (Y
For i:=1toSdo . .
Writeln(i-izi-i); 051 sk (v
End. ST 5 g La (¥
Gl eldS@jJid‘gaﬁdJl‘gS,SJSI‘gJ..“ngLaC:J..\Jd -YFAF
Var 16 (A
Num,N,power,R,k:integer; 64 (v
Begin
power:=1; 8 (v
N:=0; 10 (¥
ReadlIn(Num,k);
Repeat

R:=Num Mod k;
Num:=Num Div k;
N:=N + power * R;
Power:=power * 10;

Until Num<k;

N:=N + Num * power;

Writeln(N);

End.

.&SwngflelJ‘aldSbi&Q&lﬁijlay‘gﬁjJ aals a0 —YFAY
Var . .
i,j:integer; st alsi s 3
p:packed Array|l...5,1...60]of Char; W g ol 1y kA g (Y
Begin ) )
%*'or iz=1to 5 do 8o pla s pas LA (F
Begin ..\lsu.a %L? ‘J ‘AJJ )SS‘)lS (\‘
j=0;
While Not Eoln do
Begin
inc(j);
Read(pl[i,jl);
End;
End;
Writeln(p[2]);
End.



10 |/ lﬁgs.ojT

Var Caed el.AS 949, “ols (4300 59 —“YFAA
:Sdl,.Szt:StringMO]; S e ol 1 LT 5 08 e a0 5115 S2.81(8
id:integer; R _ .

Begin "‘ASU"’ %L%“) LGA‘JJ\)‘&SU"’ (839,58 J‘ ‘JSZ.]d.S](Y
Eeaggsg)); W e Ol baa S o1, el s oL e s o1 1d ST(Y

ead(id); - P .
Read(S2HS s 2la oo b2 K o plaS a1 Lal 5 5080 5500 OV L 1. ST(F
Writeln(S1,id,S2);

End.

i ?I.\s D9 99, waliys ju - IFAR
Var

$1,52,83:String; payam (\

id:integer; noor (Y
Begql;l'—'payam'- payamnoor (¥

N - 3

S2:='noor'; payam noor (¥

insert(S1,S2,Pos(51,52));
S3:=Copy(S2,Pos(S1,52),Length(S2));
Delete(S1,Pos(S1,52),Length(S2));

S1[0]:= #6;
Write(S2);
End.
sl {alas w92 9 ey dabi g ja -Yf4.
Var

total,average:Real;
Procedure Sumavg(nl,n2:integer; Var sum:Real; avg:Real);

Begin 0.00 0.00 (x
sum:=nl+n2;
avg:=sum/2; 21.000.00 (v

End; 21.00 10.50 (v

Begin
Sumavg(15,6,total,average); 21.00 21.00 (¥
Writeln(total:2:2 , average:2:2);

End.

Var .leeldsu._;‘gﬁ‘gf‘gJuL'aﬁJd -1F4)
ciinteger; 0710 (v

Founction F1(a,b:integer; Var c: integer):integer;

Begin 1070 (v
F1:='a+b; 10710 (v
c:=a*b;

End; Error (¥

Begin

Writeln(c,F1(5,2,¢),¢);
End.



e 9 FoaolS Sl (Sisdids i 10+ | PP

ol alas oaudi aladl (508 53 9 59, pali o -VFAY

Founction Mystery(m,n:integer):integer; S N ol 4 Ly m sae (3
e SICL R NEICAE R

Begin
IF n=1 then Mystery:=1 Wil o =108 4 1, m sae (Y
Eml;l.lse Mystery:=m*Mystery(m,n-1); S a dandae [, Lo M o yeabiala (¥
9
Begin _uSu.a é..u.ula.n b n-\,om g_J\).A.AL.alA (\;
Writeln(Mystery(7,3));
End.
Alpha_typ='a'...'z'; 3.2.1 (s
Var
a2,a3:Set of Alpha_typ; 2.1
al:Alpha_typ; 5421 (v
Begin
al:=[a,b,c]; {13 3:4.3,2,1(f

a2:=[A,B,C]; 2}

Readln (al); {3}

a3:='a',b',c'l; {4}

Readln; {5}
End.

a) .000S o JUd a Bl coals wln L jusie Gl dye,byasla maie G jai L -V FAF
Var (LA‘L‘:'J.S o .G"“L»‘ OT.‘J:'CA“‘J
a:Set of Byte; 32.8.2.1 (v 2.LLT(y
b:Set of 'A'...'Z";
c:Set 0of 0...10; 32.42.2(¢ 38.8.2.2 (v
d:-129...128;

aullad (gl 5l glas ‘AI.AS 3 ‘JJ:“L!G“ Olabs F]ntcr.;;e L gy gy dald -Yfad

Type
color_typ=(green,blue,red,white,black); {1}
days_typ=(sat,sun,mon,tue,wed,thu,fri); 23
numbers=(1...3,4...5); £33
Function Fl(a:days_typ; Var b:color_typ):Char; {3
Function F2(Var c:(green,blue,red)):color_typ; 5}
Procedure P1(Var d:color_typ); {6}
Begin Readln; End; Begin Readln; End; Begin Readln; End; {7}
Begin
End.

7,432 slgha 5 & (¥ 5.3 skeba 5 & ()
6.4,26%’; 5 S (\c 5.3 6‘.@_‘&. 3§ Seen (Y



PIY ] aogesT

gdipo S alad an g gy doli s juX et B yas L -VFAS
Type 43 (\
List1=Array][1...5]of integer;

List2=Array[1...5]of Char; 53 (v

Rectype=Record
a,b:Real; SR\
¢,d:String[10]; 64 (¥
F:Array[1...10]of Boolean;
G:List1;

End;

Var
x:Rectype;

Uad (s yla (sl puiiia &1 gujlauga g Uad win A uidie Cujal o g gy dell o —YFAY
plaS 7, padiio ds (e yieus (g1 g 9 Sl 033 A Jabew o g a8 S 155 50 Byte g g5 5

ol S gy

Var
A=Array[l...10]of Record Z 302 (v
thar; Z.A 302 (v
YiAS
Z:Record AZ 403 (v
XA A[1].Z 403 (¢
V:Z;
End;
End;
il alas 59y a4 5 -V FRA
Var . -y
A o ae] 5 el (Y
F:Text; = (
Num:integer; Dl o (g9, S sae wilys L (Y
Begin e i o LAt Lol 5o 1, anas slael (¥
Assign(F,'int.dat"); B . sETYE (
Reset(]F]: ._\.....uﬁjlu.a Lf?ﬁ‘)A o4 lnt.dat J.ju J‘ ‘J e alael (\c
While Not Eof(F) do
Begin
While Not Eoln(F) do
Read(Num);
Writeln(Num);
End;
Close(F);

End.
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ba o SIS 6 aga ks ja yishIs3, Jgf bad ja yishIS S, butxtol gisae (&1 -1 FAQ

Var ol plas 5 4ol p1 (o2 95 wila p guu
F:File of Char; 20 (A
c:Char;
count:integer; 17.(v

Begin 18 (v
Assign(F,'b.txt");

Rewrite(F); 14 (¢
While Not Eof(F) do
Begin
Read(c);
Write(F,c);
End;
Close(F);
Reset(F);
count:=0;
While Not Eof(F) do
Begin
Read(F,c);
count:=count+1;
End;
Writeln(count);
Close(F);
End.

w1y 91 st |y 5 ol (ile (Sasaay V0o

Function test(n:integer):integer; 0(}’13) (3
Begin
IF n=1 then test:=1 0Q") (v
Else test:=2 s test(n/2) + 1;
End @/2)+ 1; O(log n) (v
“nd;

O(nlog n) (¥



14/ lﬁgs.ojT

VPAS/5/Y 355 pla olKiits —& cyg03T (o2 yid dnbiguuly

21
201 o
10 1

2 And1]| 0 0

21
201 o
301 1

2 And3| 1 0

—0

-2

Writeln(0 OR 2 OR 1);

2 1

2 0

o0 0

0OR2| 1 0

2 1

211 0

110 1

2 OR1 | 1 1
Suce(True); —> True

Pred(True); — False

-2

—3

Suce(False); — True
Pred (False); — False

¥ a3 -V FYE

¥ - VFYY
Y 4w -VFYA
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Vam s -1FVA
8 4 2 1
13| 1 1 0 1
310 0 1 1
1I3And3 [ 0 0 0 1 1
8 4 2 1
13| 1 1 0 1
310 0 1 1
I3OR3 |11 1 1 1 515
8 4 2 1
1310 1 0 1
Not13 | 0 0 1 0
310 0 1 1
Notl3Xor3| 0 0 0 1 31
13
50 {13*2:26
13 Shr 3> é:3 13 Shi 3 —>< 26*%2=52
3 [52%2-104
>
WriteIn(1-+15+1+1+104) = 122
¥ aiuiE - YFA
b=3*(15 Div 3) = 15
a=15*%(15 Div 15)— 15
¥ ais 1FAY
cl ¢c2 3 ‘ PEXEE
1 2 3 798
6 5 4
9 7 8
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Y duiS —YFAY
cl  ¢2 3 ‘ PoXE
1 #10 #13 2
#13 #10 2
Y i -V FAY
¥ auiE - VFAF
¥ 4 3% - 1FAD
Wl ola s 058 L0 sae agsa g usde al b e ks
¥ diajs -VFAS
power Num N k R ’ PoEE
1 8 0 8 0 10
10 1
Va2 - VFAY
il s sl sl Gla el 5wl cenl (gaay o 4yl 0 sa
Y auiX - YFAA
S $2 id | e
Saeid good 1352 ’ Saeid1352goo0d
¥ aui -1FAR
¥ aiys VP
nl n2 Sum avg } PR
15 6 total Average | 21 10.5
21 10.5
¥ auyE -YFA)
Y amS YAy
m n | Mystery(m.n)
7 3 | Mystery(7.3)=7*Mystery(7,2)=49
7 2 | Mystery(7,2)=7* Mystery(7,1)=7
7 1 | Mystery(7,1)=1
VS - VFAY
VS - VFAY
¥ auX -1F40

¥ a3 - FAS



Listl > 10 B Lis2—5B
ab—>2%6=128
* =
Rectype_, | & >2¥11=22B
F—>10*1=108

g—10B

e 9 F9molS Slo (SN Cad 14+ | FYY

¥ ais - Ay
¥ i3S -1 FAA
¥ au3s 1749
FdiaiS - V0es



